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BIT6D (LpSsLd

SUOpET®H  yr&et G sevallls  wumL GG b -2003
auplam Hgederiig. Goafleney wpHeumib ey DHTSH @)FaewflBiiim
BI6L @uupplii KeTter ). Qeverehiseflest aubhisTSMS BlTenTuld:snd
Falg WGHTL_GUGUITLOGY.  FAEIF@HOL W — UGLUTLIG  opDID  Fhseverd
Spevarnyb  eerids  yflaflued  GGTLA BIL LISSHT 919 SSHETLOTS
seflgLd Hlapeusmed Qlerenpus 9EHCeus Bfley euenTdF) wjasbdHled sewflgls
LITL_ BT6D @D MISB6L 6TGHTLI G FQUTGTHRLD FITHEGTIITHLD 2 66T F.

FsL LnF  CeeoauliiBG@eTn  TeRTaITRERSES ()b BTeD
vwestLBeusngls CumetGn  gmleflevnest 9BSs Lty Flenevd@d ©)FHTesst(h)
G\ Fevev GA(BLOLILD LOTEWTaUTHG@HEGLD ()b BT6) dienesst GIFuiuLb.

@bmpredlssr  aiGeur@s LT Liu@gGSud  BlapHib,  eflerdsib,
FhSSHIBSFET,  Fflgd  OCFweoLThser, ofle_s6r  yFHuweupHend;
QareTBerer 5. Qaunennd QFmL_iibg LvGany elsiorer senflsd Hired

FITGHT MISH@GHLD 9SS 1L (HeTTaTest. Q)b Bredled LB STS
Qevewtsali (Hetenr ' FMILSE@ELD  UMIULBISEEW  eTeie)ih  LIGE
@)im_ mredletr &GOS 555 DILDFLOTGHLD. (ORI AINES

BT H(5S SIGHET LI LIGBLIGLITIRET  HleneuulevmeT  &Hhd HidHeTTEILD
QUEDTLIL_BIGGTTEILD eIGTSHSLILIL (HTOT6HT.

@bmpred  sewflgd  LulHpieNsGd  YFAAWTFERSSLD  LufeiD
LDITGSSTGUITHGhE@LD GNLI(Ihb HiewewTL b 6TeTLIGI6) 6TETaTeneyLh gouwiLblebeney.
g Oeresleh @)me 1 WEXEF IR0 QIHTHMIS S LD Cupur e
TRSGSSTBSEEL. QulrsSlnaw Copurr vwllpnsd]l Nearmss e
QLbCupmisreresr.  Qevey  yewerdevgub  YFRuwrsGer  FHINGS
Ceuedr (b eredT @ GTHTLIMTLILIG  ppBlavid Quicvrs eetTml, eTarTGal.
YA sHiss sells oy Lt _Fewerd GFTeT(), LOTERTEITHET
SThserTHGer aflent_ srewr wpwev CeouetorHib. LIDEF feorTdhHeT 6T6oILI )
Lufleith  LOTESTeUTHGhS@, eTetTLIcnG Hlevarallsh Gl&Ter@ehged Couer(BlLb.
o wiseveild@  mewpeuTuiers  +H eugliy  Blepeugmed  @Unimi 1
LSS5HHF0 HTemid @aIGGUT(h H(hdbBThSSMBUID FHeueaTiomsls Lflb g
O FT6TEhHeL Cevuessr(hlLb.



QT LS SsSSeT FpLiL ST :

(i) wrewreuiser srhsenTsGar aflenl_sTaib euLblHearts Ljmbs
O&reTendamigus  pleneullsh eTONEOLOWITRTSTHaLD.  LPLOTHE LD
ST HGH ST NTHHLILIL_(HGTET F,

(i) sewilss  Oararmssmar  dardé@Gadady  OGbhs  HauaTLb
Cop@amereriiLi’_BHeTer g.

(iii) ublasm Bged Fapliil’ RGTTST LOTERTCUTHET SThIHTTHGo
LG et TSEHEnSEG llewl_FHmenT (Lpiiey eulp] TMLIBEHD .

(V) dlenss550Gs  Coemauumer  auenrLL_kser — msThGs

STLLL_(heTereT,  (Q)HeTTeD F(IB BT HFHHIFHGET LyGmett
GTaNeOLOWITEHSLILIL_(RHGTET F.

(V) sewd@gsar 5585 saerssi et CapOSGHSSIIIC B  BHTDTS
STLILBSHLILIL_(HETOT B).
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|ur_ g8 L ib|

Yoflser YosCarmausery @ ol  Qupsalsy -
QUTWIGHDEHGT, CUMHEHET, Yessiigallesr SHmer OQFWDLPEHDHET,
Quipsenflsls LTS, YIS CHTMUSET —  UHTILEDFET,

LGSTLSGET, LG _ev,  Fmgestl  wpeom,  jesslGCHTeneUSETGH
Oupsse, @ewenTdsTrenis Careneuser. (18 periods)

QeudL i Qupsaisid : cuevyweonser, UL UMSHET, GloudL T
Fal' LT, SPGB0, FenFulled GlLihdbsed, OUi(bhhabh LIGTLIHET, Bl

QeusLii, GloudL oy Famisaniasls LMGs0, GHengd GlaTenFerser,
Sews &G gmiser. (15 periods)

Qupsaiigy : UGHIL UIGTOTBISEr — QIHTLHDSHET, G LG
srgessilaet (G smyewfl LOGST(BILD GUTTEOLD), GPUHLILG G &HIT(TessIH6T
(FTTenllser SeTBd uhBHED), @Q)BLIG S FTTERNSET (HTTewllHeir
LEGST(BILD GuTTenLn), QUIflens MM MIEISET — 6768 6wy HeO)6tT 9L LILIGHL_;

Q& TeTen&HH6T, auflewsF LOTHDHEIFETT H(HSEHNIGD, LIGVLPEHD GI(HLD
QurmpL_seflesr  euflews  LomHDHEISET, GUITEHL &6 Lass(Hd G
Q)& Q) 1bGL s THmIS CFTETEHLD auflens LoTHMEIFET,
ol L euflens mhphiser, CFieyser, salss CSr&GSHsHS0,
FGBOILLYS CSHMD (@uicd eTevst (BS@) — eniow 2 iy, GBI 1
2 miliLys Hresred (25 periods)

CgrLir pewpujd CISTL(HL : cuenTweODH6T, Fev FpLiLimer GGmL it
Weon&H@hD  eupplest  GFTL_THEHD, @enss  GFTL_TLpedm,
Q& TL_rrpevpsefest FrmFmser, alFSupmI BHHGHHGMW maH s
Cappid, mmiLiysg Osmi_ir, CasTymw &L, mBG®D HTewTeD,
Ly S@ls  QGTLT, L S O&TL T (Tafll  FHeosTdHSGHH6T)
(15 periods)

UG eupaflwe : Flwils uTews, CrrsCaTRser, OFhiEs sl
QULY QULD, HIGWERTIIVS 6Ulgautb, OUITH euigeutb, LeTefuled(mb %
aeogwlii® CFnGsmL g1 Horib, CrisCasT@Rsenest GHTGLIL,
@ Car@serss Qe Gu  odrer  Gamewrb, @l ewi_
Crir&CamHaer, eul' L b — QT &HF FLOGTLIT®E), SHIGHERTILICVE, GULY GILD,
QsTHCHTH,  OsTECHTL 196t Bard,  GSTRCHTL 19 HHTEST
plupsemer,  CsTHCsTHSMeT  OHT®H)  pAessiest  FoesTLIm(®),
ol L migeest QsT@liy — QuTg eoww el L hiser, CFhi@d %
ol 1_miger (23 periods)



(6) SMMCxsmemrllg @ oflepsd,  GCsTewTAS @& BhiIsEHLD

(@)

(8)

9)

(10)

PHODIT(HEOLOFHGIHLD T-a9& Bk gHemesr GDUT BHIH6T, ENMOTS
Camresrmser A £ B, wr ki@ Casmesthiaer 2A, 3A, A2, Glu@pdhsemev
Fal' L 6D 96UV SPGB aulg aileh 6T(LpHIB6D, HlLibFHenesTd:@HL L' I
phHODTHenLser, HMGHTenTLlF FLoTLITERSHET, LpHCHTeneTdE6r
LessTL&6T, (LpEGamenmisenesr Gireyser (SSS, SAA, SAS i (BHib),
Crrromm FCsTewnTiS FrLyser (25 periods)

FMILS @5 UDTLULBISEELD - LoTBledlser, wrilser, @)ent_Olaueflgar,
DITELOLILIGS), &Tie et QLihdsed, QSTL ITLy, FmiiLy, FrrLiesr
QUGHTLIL LD, [Flewevd:@d HIGCHTH CFTHMGHT, FTITLSETNGHT UHFEHGT -
CuopGarirgss, @eTmise eermi, wef, Gpiwmm Friy, @)
FrrLsefles-Qenewnriiy, BB, ANSHwWTFD, OULI(hSEHe LoHmLD
UGSSV, LTPledldF Fmiy, ANEHHLpmI FATL, LG EHSDIFE FTIL,
FVELH), eTetTenTereneud FIITLY, SLIGLIH ApLp 6T68sT LoD MILD LEFEF my
App TS FATLSHGET,  GDIFFTITL],  @DedpLLenL_  LoHMILD
Qoo tienr & gy, SMCsTenTIAIGE  FATLSET,  (Q)HLIGF
FITLSHET, @QmLLy  QFLoGTLT® - FTTUSLD  wHmIb  afFFSHLb.
(15 periods)

UMS [BIOTHASLD © SFAML TOMO - FH(HSHTHHLD, LG LILIGOL
CaDmbisHer, (Lpdh&Hl 6T6Oemevah6lT, FTTLIET QSTLIEH - e LiciTeflulled,
@evr_Gavafluilev. Ggr_rrdGuwpn i, UMSUIR-SBSSTSSL -

U HHG)HLY, FTUIG, QU HUIL_GYIHGLD QSTL_TFFHGLD

Qoo _Cuumer QO TL_TL, aUHUI_6D LPODFET - g LILIeHL_d
Qarerengser, CHibs FriLsefer aensdhGlspdhssr, LNrGui_ev
(LPEOD, HIHETIIGVGHF FITITL| (LPeOD, 2L Li(h) FITITL LpewD 2 WiT eurflends
&5, (3-Lb euflens euenir) (30 periods)

CarvsullLed @  FmESTSHD,  Osmensuil_eh  euenasuil_eder
GTHITLOEOD, QPUHLIGF FTTLSHET, LTS, GGTenHuf® LpeODSHET -
LIMSCSupgiD  wpevm, FSui b @pevm, LGHS CBTensui_ob,
UDTWNIGHS OGTSHHAT - L' (hd OGTEHUTHS HTewTeD (cTarmiLs
FHenTd&GHHer) (32 periods)

Blsy $36 : cuengwenp, CHrl LmTRs6r, gLt g CoHHmhiser,
Friypleoev o sHe) @ BHlap sse Cuuisiv-er Cshmid
(BemLicwridlen) ereflw Sewrd@sar. (12 periods)



ClumrperL&s

LI&% GT6voT

7. &ML S @R 6260 FLIL MBI @hLD 1
7.1 flupsLd 1
7.2  Fmy 5
721  Frmi6sT euewyLIL_LD 10

7.2.2  Fmiysefesr cuensmHeir 11

7.3 @B FLOGTLIT(RSET 30
8. euemss m6vor: Wil LD 39
8.1 &y eTebemev 39
811 Hev g tiienr_g CHHmhISH6T 42

8.1.2 &Hev WpsH&H 6TEIHGVHGIT 45

8.2 e QFTL_TEH 56
8.3  awaHuT(BH-H(hdBHTHHLD 62
8.3.1 auens0HLY-F(hdHITHHLD 64

8.3.2 auemareuenyulletr Firiicy 66

8.4 acuewauiL_6b (LpeOmIH6IT 72
8.4.1 g lienL g Frisaflet auenss0)H(Lpd: FiTewT60 73

8.4.2 CGumriommy Friliedr euensdhGlaLp 86

8.43 oL S0 eLpevlh eUenFHd0O)HLPS FHITEHTeD 90

8.4.4 LyGui_eb 1pewp eLpevLd euUeHEHHOIFH(LPS: FiTEwT6D 92

8.45 gewmewtev@d FITLsHeN6T euensdGHpdh Hmewrsd 94

8.4.6 21 L@ FATL ST e HSHO\H(LPS HITEETEL 95

8.47 awreuflens euensdG)sLpdhser 97



9. GgremsEuilL 6d
9.1 yBlapsid
9.2 @by F FIiLSHT - GlEBTensuil b
9.3  Ozrensui®h) HTeb (LpenDHGT
9.3.1 LINECHLS BT &TewT6H
9.3.2 LgGullt_eb @peopulley O\FTemHES FHTEET6D
9.33 UGS Qsrensui_cv
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7. &MITL|S@EBLD 6260 [ LIL 5185 LD
(FUNCTIONS AND GRAPHYS)

7.1 yWlupsid

SHCLITH BT SNBSSV LWGTUBSSE QU(BLD FTTLSGTLT LIHBIL
S SIL1 L euizener gyuieorr (Leonhard Euler) (1707-1783) eretrm Caiihs
Fessfls  eueaBT  seiTepienl i GLosieniowimer g rmiiFFsefed  wppest
PSTSH LIWIGTLIHSHTTIT. MBSt FHewflsdbGled FaiL) LUHP HHSEIED, @
PpSHULDTET FHHANUTSH LIWGTLIHED SI,

FITITLY Lipplw Car_Lim’_1g eneor Qsefeurds, 2SS
Caewauwimestaunenn (LpHedled HressTGLITLD.
wrpfled) whgy wrpf) (Constant and variable) :

Rh Fwilad GFwed pupenwd@d @GT Elllever GlLmib 2 (m
g sefwed (qQuantity), ommled) erelii@b. GO L Fewllss
GFwedled GleuaiGaum FliFewar GLp QuIoTH 26Ter o (haleneT
ol ererGuimib. GQuiTgiaurs wrphlalsemer @, b, C, ... erermib oTPEemer
X, Y, Z et mitd GWILILNBHeU S euLpSHLD.

B Gleuaflser (Intervals) :

OLouiCWeT Fever Ly aud FellGhGled ph TeTGHTL 19 651 155 2 6irer
LT SeTTHS GBGFHIIBID. @) T QLow15CHTR (real line)
GTGT MEOLPSHLILI(PILD.

. . P2, em |
3 2 1 0 1 2 3 4
b 7.1

< L.
) Ll

R GTGHTD &BF® OLou1©wIessT FH6resT (OEICI 9GVGV G/
Oot15CHTL 19 owerrd  @GplS@Ld.  OGowiGCHTL 19 65T 2.1 FHEwTLOTET 5
GOPESS QAR T@TSmaTud ST @B 2 DILILSEHESG
Qevr_Cuwyerenr gjemarns g GowiGweTsenarib GLIHBIBHSTED, 9jHewet
@5 @)evr_Gleuerf) eTaTeUTLD.

T(HDHBHISHHTL L TS,

(8 x>6eraomm 2 6rer yeward G CLowiGWIGTTSET X-G5T HEWTLD.

(b) —2<xX<5erayommy 2 6irem enerd sl CILow iGN IGETHET X-65T HGETLD.

(©) X <5 ereywrm odrer yewerds GLouiGWIGTSHET X-Gi HevorLd

CumetTpevay Hev et _Gleuel 6T @ Lb.

QYETTE, YmeTdsl @ic) eTersafsr Fewib @b Qe Gleuefliishev.

STgenTid, @)h NFBUpm  TITHEHSG Qv G GsTHIGHLILI L



sardGled CoFrdsliu_ng eraweihm OowiGwerser 2ererer. @)GHL
Curmretrpy yFFuwiopm GowiGwesrsefler sewtaptb a(h @enL_Glauefisbev,
Qg ‘0 Qebevrenowimed, @ — 1, lég @enr Cuw oérer gaiGleaum,
QLouiIQwieTen e b G H6u G H.

Qg eud seflglining. e@n OouwiGHmi 19 681 L5 eiTen SHS)TSHeT LoHmih
Carl’_hdgiadahsemer Qoo Oeueflsertsd  Gamearererd.  Garl (B
BIGTTHHATTGD &BlSSLILIBILD Q)evr_Gleuerseir ALPLY-GY MY
Qenr_Gavaflsarmrgy  (finite intervals). «&i whmd GuouisCame e
@SS LILGLD  Qent_Geuaflser wpigeumn @ Geueflgserm@d  (infinite
intervals). @b wpgeym Qe Qeuefl  eTedTLIZ  (pLg-GyETerT
Tarenfldensuisy  Oouibwasemerd Glaren . @ev_Gleuarfl  ererli
QUIT(BTTSHT .

R wyaynn @en_Geueflumers, oHet @) miF Lereflaeneniyib
QDB phsTed Hemar opiguw @ave_Glauafl ereirmub (closed interval)
QmP yerefsemer Qupraiiged oysewer Hmbs Qe Gleuafl (Open
interval) ereirmuid FmpL@®LD. Gwhs Qv _Oeueflenwd @Bl%s FTSHTTewT
oL Liysd  @plwmer  “( )@ uwSTLRSSLILRED S epLg U
Qevr_Gavailuflenar  @Plss FHir  ewL_Liyds @pwrer [ ]"-e
LUGTLGSS LGS D S TR HISTL L5, 3¢ (3, 4), 3€[3, 4]

BewL Cleuaflsafleir 666

@D B HGOSTLD QUED[TLIL LD
yoppoar |(a,b)  {x/a<x<b} o >
a [/
[ab) kx/a<x<b} i AR
;
@bl lx/a<x<b} p .
a b
[a ] {x/a<x<b} ° .
a b
wyappoal |(a,©)  {x/x>a}
[a, ) {x/x>a} a‘
(—oo,b) [x/x<b} s ;
2
(~oo,b] fx/x<b} < ?
7
(o0, 0) [X/—o0o<X<ow} < >
9/606V B/
() o1 63T H61) 65T
%GBT LD




Gl
© gebevg — 00-g LWTLURSE @b eyl @evi_Oauaflenws 6T(Lps
Quievr g, @eneu @)TeT(Bib GowiGILIGHT Hener GBI ILIenauLIc6v.
yeawowl UGS (& ] sopiymp (Neighbourhood) :
@(h eravr Cariged, e < ( .}
Lyeirerflulest (OLou'1GuIessT) a
OYGTEOLDLI LIGGNITGHT &

A 4

QasThssls el pELULYTONWUTSS: GlHmeas(®h euenwliLi®b. LbladFFplw
baruperer sph Hmips @)evr_Glaefluim@Lb.

PG SMSFD, @@ feTerilules
DYBTEOLOL! LIGE LI eTeflenis eOLWITHS
O &T6vT(h) QUGHTUWILILI(HILD EL S,
YT APEOL_IL (B b o’ 1L_g FI 1 _TGLb.

@p  Oeuefluilsd, e Lyerafluier
DYETHLOLILIGE) DJLILGTaNenw OLOWLDTSS
Osrepr . LSFFB  yrpedL_  (H
Sps CHTETLOTGLD.

L b 7.2

Frymr wogh Fmitg wrplser (Independent / dependent variables) :
WPHGIW UGLIL SN, BT LV @GSEThsenar LTSS msGHCDTLD.
@eupmled LAstraupd Fov &HbFTHIFT 6T(Hd 5% GlHTET S

@V :% s (CamarsGler sar oeray) (D) A= nr? (o L_S&esr Ligi'inyg)

(c)S= 4nr? (Carerg@ssr ypiiginy) (d)V 2% r?h (FnLbL 68T HevT 2y6rmay)

@i (@), (b), (©)-6b r-er wevCeoumy wHLsEmsE V, A, S erem
wrPlser LvCGaim wEiysemer GLpeems saaissab. erarCea V, A, S
YHweupeom  FIHL TPIGET eTeTid, [ sefldg GFuwedLIBaIST6D
ST FTFT TP eTarayd F miSCpmib. &S&Gyib  (d)-6b 1, h eresriicr
FIgm rlserTaeayb V FTibs TPITHeYLD 2 6iT6T &).

QRh Lomwl ThES0UT (HetTellFeFwms) FIieoLiub O mILOTETTEH
9| &I FTFTT LOTH 6TTLILIBLD.

@b rPluler iy wHp rPlsemer FIihEmsGOIs 9%
FITT b LOMN) 6TeSTLILI(HLD.

“CupCprirseflsss @eTu shisefls GLpbomsser Carelsd  Glmib
wIILCILICTE 6T FTITHE (HHGD S5/



sriieduer Qugpssed (Cartesian product) :

A={ay, ay, ag}, B={by, by} creirs. sewrmiser A, Bullesr smiie Fuwies
@LipdHeL A x B eresrd; @pldasiinil @

A x B ={(a1, by). (a1, bp). (8 by). (a2 bo). (2. by). (2 bp)} eram
UEHTUW MISSLILIBED B

Q@aeaurprs (8, b), a € A, b € B eretrp euewasuiled ojewinhg auflensd
Camig sefesr Hewsrib, A ommib B erettp sessrmiseflesr sime uiesr GLI(hdH60
TG M e LPSHHLILIBFID ).

aflevali@ssiii’ 1 Cemig sermer (a,0)ud (b,@)uyb om piime_meTenar.
eraarGou Glmgeurs A xB#B x A

(@, b) whmud (b, @) eretrm euflensd Camigser Fowms Q) Hdds
CouassrGromuilssr &= b eresiplpds CouessrBlLb.
e.ar. 7.1: A={1,2},B={a, b} eaflsb A x B, B x A 9yFlwaipeoms ressrs.
Sirey AxB={(1,a),(Lb),(2a),(2 b}

BxA={(a1.@2.0b1.(02}
Qg mriy (Relation) :

BLOGI STDTL_ UTpdensuiled, @)Teser(®) HLITFHNT 2 PeFeTTesT ‘LoFesT
2 pay, ‘BHws 2pey, ‘FCHTHM 2 pay Goeib @rew® GUIT(HL_SHener
Qar_ryu®ss ‘.l& @eopuTears’, ‘.afli s Guhlwusg’ Curetn
uTrgengsener  LweTUBSHFHCDTD.  @n  CUITEHL _semer  (@)enewdid
Gouassr BLomudlett *G\&TL_riLy’ eLpevLb (R)eHaeueTdheUITLD.

A, B creruar @Qn sewrmiser ereirs. A ulellmbg Bog oerer
Qgrmfever A — B eretray @plgatini i “A t0 B” eretrmy Litg SSLi(pib.
@30Ty A X B 6168t ST Slwett G)LI(hSSH60l6H 2 1” FERTLOTELD.
e.am. 7.2. A ={1, 2}, B={a b} erasfleb A - B opmio B > Adsrer Hev
QBITL_ITLIFEGT S HITCHST 5.

Srey

A-9e8mp g B-d@ odrter Gasmiiy A x Beretrp  smiie Suiesr
QILIBSHCOIGHT 2 L' FHEoSTLOM GLD.

AxB={(1,a),(Lb),(2.a),(2,b)}

coetarGou A x B-6ir o 1° sewsthiser et

{(1.2,1.b), (2,9, 2.0} {@€a) @b} {ELb @b} {1, a}
ereiTIeay Auledmb g Bésmer Hev QBmL_irLjseT 94@Lb.



@Cs Gumermy BxA={(a, 1), (@,?2),b,1), 0,2} aem sewsBer
2 1" F6EsThIBGIT TGOT

{@.1.@,2,0,1), 0,2}, {@1), (b1} {@2), b 1)} asmema
B-uieSlpp 51 A-damer Flev GIGTL_rLH6T y@Lb.

7.2 &miy (Function) :

Qe rLmfesr b Fpliurer eews FTiL YGb. CFTESSHLII 1
Qsrifsd  26rer  euflenss  Gomgseflsdd, oths @y euflenss
Cormig s@ps@d @Cr wpsed o miliyb, Ceupii’ i @erL_mib o mjliyib
B)evevrLoad B eT g CVBTL_ITLIGHST FITITL| 6TETGTLD. BT S FITTLI6H
oerer  aflewsd  Gamgseilss @Cr  wpsed o miinysg  Q@ueaw®
NSGNITFLOTET (Q)TETL_TLD 2 ILiL] B)hdS (LPLYUIT S,

QBTG @ FTiTLisd a1 = ap, by # by erewyommy (ag, by), (g, by) eretrm
auflenad Carig ser @ 1bGlim @uicvT ).

{3.2,(6.7. 1,0, (10, 3} aarp 200 G

Qsrrrlevar T(hdsid GHTeTCourTid. @)k, ~ BT A
ahgeils  @Quew®h  Comgsefleyd  wpsped \ ]

o Wil FLoLoms @QYhbS @)TeTi_mib o miliy |
Ceoupii’ 1 grs Qevenev. @)Fevar BnHGMw /] .\

uL g@er (b 7.3)  eped ydpg

Q&6 EHSB6D 6T6r . wetb 7.3

cTarGou Q)b CVHTL_ITLITGT S (b FITITL] Y SHLb.
GLDQZIL'D {(35 5)5 (37 - 1)7 (2’ 9)} 6—1'62.)7"/1)
Qsrrilever TRSHIG GaHmarGeurib. Q)b \
(3, 5) opmiib (3, — 1) eretrp curflowad Carig sefler ‘.'
wsed o piy 3 eTeT  FowAs  @)bbS
@)gesr_mib o piiyser 5, — 1 erer Caumyim_ms
oiopgiarergy. (Li_ib 7.4). L b 7.4
etarGau G HTRSHLII 1 QVFBTL Ly, FTITL @)ebenev
ataiGoy A etetTp sausBlelBprg B 0 adtm  sawssinG
weruUSsLIL@D &Fmiy T ererug, A-6 o _earer qaiGleurem gLy
X-&@ B-ev f(X) erarm @ sofllss o mprdwer CsTRSGL @3
Q@rLiurgh g eflFlumsiLb.
Qsemar gPui g, f: A — B

i.e. X > f(X) erewrds @l _evrrib.



Friysovers @Plss f, 0, h Cumemp
6T (LpD HIHEGT [BITLD LwGTLIRS HIFCDTLD.
®eiaimrprs A-ulst eaiGleuTh o mili b B-uflssr
@Cr @ 2 muliy_cr GEmevsBerer GHmL_rL|
FTTUTS ). Hewrib A-tlewer f ereirp Fmiresr
Fmiusgd (domain) ererayih B-uflenesr

Giwewrd Fmirugstd (Co-domain) ereeyib ojewipdialiLiGHerner. A-ufled 2 cirer
X eradip 2 miLijs@ B-ulled Gari_rryerer f(X) eretip 2 milifener ‘f-cir Gp X-
o7 Fmwed’ evevg b (iMage) eresrmy oyewiplini. A-ullehr jenerrd S
o milisener Frwevsener sewrib, ‘@miy f-er afdFsd’ eTaTILIGED S,
T FFBLOTT & SHIGHGTTS FITTLISSHGH 2 1 HeWILD 6TTLIHSS: HauehdmayLb. f-
&1 afFHd SHewTld, GiewewTd FTTLSSFDGF FLowms Q) bsHs Galedsrig i
FwLblevenev. FITLS@G hFws G ‘MAPPING’  eretr myGlom@n Gl
2 68T (h).
e.am. 7.3 0 A ={1, 2, 3}, B ={3 5 7, 8. A-u9mia B-dg f eretip
@Qsm_rmy i1 x > 2x+ 1 OBTAIS fx) = 2x + 1 eraw
QU MISGSHLILIRG D &I, 6T68160

@f(2), f(2), f(3) srewws.

(b) A-udedmb 51 B-d@ 2 6irenr Qgmi_iriy, (b FiTL] 6Tewd: HTL (h.

(©) srirusid, gewestdFmiLsd, A-ullsh 26Ter QaGeuUT(R 2 Myl esr

Frwcvser, f-6ir of FFaid yFlwaimeond; HevrL_ps.

(d)afsdosomers Severd FTTUSSHDEG FLOOTRTST — GTGHLISEGT

FALMTSS.
Siey
@ f(x) = 2x+1
f)= 2+1=3,f(2)=4+1=5 f(@)=6+1=7
() @ag Qsm_rurerg{(1,3), (2,5), (3, 7)} A B
Y GLD.
@i A-ulleh 2 6Ter eiGleuT(h o miliLb \

@5 sellds Fmweme B-ulled GQupPlimliiengs [

Qgeflours @mewr pg&ng. erenGar f b
FITITLITGLD.
(©) emirusb A={1,2,3}

siwessrd srusid B={3,5,7, 8}

uL b 7.6

1-6ttr Frwev 3 2-651 Frwev 5 3-65r Frwed 7

f-atr af oaib {3, 5, 7} y@Lb.



d {357 ={3578
erarGay f-6ir afdoa@pLd Fewewsrd FMTLISAPLD FLOLDGGV.
er.&m. 1.4
‘d eretin @b BHwBEG 8, b, C eTetID PGT M LOHGTFHET 2 GGG,
&1 Hafletr HenTheng A eTareb Hhengeow (b @henpumiliL) e B
er6urayLb ©)HTesr(h)
(i) 'osetr 2 pay’ eretip QHmLir A — B e FiTLy eTesayLh
(i) ‘shewg 2 pay eretrm QBmL_riy B — Ad@ en FiiL) 9j6bev eTaa b
BlemLd 5.
Sirey A B
(i) A={ab,c}, B={d}
a eresrLicurt dé@ Losesr

b eresriieurr da’z@ LD GT

C erasrLIauT Ad@ LoSaHT
b l1.7

QBs 2may eperd (8, d), (b, d), (¢, d) eretrp euflewsd Camig Heir
Hew_ggiemerer. Q@ A-ulled o6rer speiGeur(n 2 miliys@d B-eb g
sflgs 2 miiy) GeoL_GsLiIGLDPBLiLens STaw&CpmLd. eratGou ‘ Lodedt
2 paurrer g’ A-uiledmmb s B-@ b FrirLins ojenn&in s.

(i) d wrereurt a5&g HH®S
d wrereurr bs@g shews
d wrereurr CH&S FHews

Qs 2pey apevrd (d, @), (d, b), (d ¢
eratip  cuflengd CFTIgH6T  FlewL_d SHIGTETGT.
Q)@ auflengd Camig sefled (LpsHed 2 myLiimet

e ap 7.8

‘d getmide Cupul . 3 opiiyser @ b, CyLewr QsmLiiy
L@SSLILL_ReTereniowimed,  FTrler  euengwenpuieTiilg  @b% 2 pay
FITITLIGGV.

e.&m. 1.5 o a@liusmpuisds 7 OCLEHFSHET 26Terer. ojeareuELiLiesr
orewTeuTFefler craimenfliens 35 @b, g GuEsF 6 Guir o1 &my
Quiguib.  rewanTHdT  HeTSEOBHL  OUEHEST  HeTSHDG
ueTWLILI@D ‘ 9oiHed eTetrm OSTLTL &h FAITL 6Tewd ST (5.
CLogyiLb HESSTHIGEOGT LOTHPUIGHLOGHTEV T DLIBLD QHTL_TLI68T Hlewev Wi H?



ey

g FTTLISS HETLD LOTEOTCUTHGTGHT HERTLOTEHLD. HIGOGRTE FITITLISHS: FHETLD
Quepssefles senTom@Hh. eaiGleurTh wreaaib @Cr 6@ GlLEhFed
" GG ooy @uigib. CLogyid DTS S LOTETUTHEHSSLD 2L STy
QI_peiren &y. eTerGeu Friiiiesr Glareirenauietriig.  euGleuT(H LoTeRTeUSHLD
RCr e (Unique) GLies@esr L5 oor&mmes . eraiGas ‘ oLoige’ 6T6TD
QL)  omesTeuTseer  FeThED@Gd  OliehFHFefle  FHewTSFHGHLD
Qeor_Gui p(p FITriy 9y&Lb.

BTb  sewthIgHemar  Lfliomphplermed  QLiehFHeNeST  HewTLD,  FTITLIS
FETLOTHGYLD  LOTGSTUTHANGT  HEWTLD  HIGOGWTE  FITLIGSS: —HEOTLOTHGYLD
wrmib.  @Qhg @Gy  OuEhFed  eTmis@  GloevmearT  LOTesTeuT H6iT
(Nbimkiser) ooy @prguyib. @& Faiiler QBTGTENSHSESG (LpITEHTITET S,
OIBTUG FITUSSHVETT ateur(s 2 milijtb @Gy &b LibLidGlenes
w GG Glameny (hés Couas(bib. eTarGoy HewThigHenar LIMLTHHBIGTT6
THU®BILD Lo 60’ GIGTL_ITL] G FITITLIGOG.

Goly
f: A > B aeirp snrilever er(®)d 55 GsmerCaurtp.
gsraug X - f(X). Qg xeA, f(x) e B.

f(x)'-go 'f of X' erewi’s g g5 Geusssruib. T ereirm Fmrilesr X-@) g
wgiiy 1(X) @, (@ f-er Gip X-eir Fmwevr@d) Yy = f(X) erewr prb
T &bCumgy, T eretip GOWS® Fmilesr QLuweoyujb X GTGLIG FTIT
LorpluleveTud o mitb Y 6T6TLIG| FITIThE LOTHUNGHGTULD &HDIHEH6T D H.

Ogafaurs, f(X)- o f ereriCs smmier GQuuwpmeb. f(X) ererLigevev.
yuileyid iy T erbg wmplulermed o (peurdslii 1 g ereriengs Q\5fbs
Q& e @EmLd auenasulled Brd Frrienet f(X) eretr mib @GPldbseuTLd.

er.&r. 7.6 T : R —> R eeétip smiumers Y fx) = X2 eram
QUGHTWIMISSLIIL L _m6d, Fmiflesr QLwit, FTTLSLD, SHIGOGTSF FTTLISLD,
Frgmory), Faibg wrml whHmih efF&HD @)eunHenmds FiTewT .

Srey

FIrL96sT QLIWIT-6urTd:s FTirLy

FITLSS Fewrib - R

BIOGTTE FITITLIGS FHeworid - R

FImLomyl - X.

FITibs orml - Y.

X- Tl 6Ths P OLouiGUIGETEHERTIILD H6T LOGIILITHS GHTEiT@HLD.
YT @) &I auThs FITUTATSHTR Y-ardl LBlensg GLowiGuetT 96bevH
UFFwgens ' GG wEliimsd Qsmerepd erarGey f-6ir afdssd sHewrib
@&eonulevevT GILoUIGWIGHT HGGHT HERTLDT@LD.



er.&m. 1.70 Sesteuqpd Friysefed et GLuwhtd Frgm  omplules
QUIWIBLD HITEEST .

(i) f(6) =sin6
Srey

(i) f(x) =~/ (i) fy)=¢"  (iv) f(t) = loget

Frriiesr Gt FIgm Loms)

(i) ewsetr (SiNE) 0

(i) eurrgsepevid X

(iii) Lig &) y

(iv) or_sews t
FIIUSS G 10THMILID 0SS 6D

Y =10 eretip FrriLissr s Gl IeHL LTS QUETLIMIGHIIL_6Um6 6T6s6),

Q&sTHIGSLIIL L euenFwenn eLpevtb Y-&@& Olodl LG i FHenerd; &(HLb, X-6iT
&I ysefler BSHLIGILIML HewTLD FTTLSLOTSHS H(IHSLILIBLD.

FITLUSS®DS  auewsLIBSS  flpbiilermed, HID  BlLbBHeoeTi 6o
FITITLISSEDSD QUGHIT LI M)]HHGUITLD.

ebreuaptd L L _euewewst, Fev  FaiTLseflest  FATLSLD  LOHMILD
S FFHSGeneTd ST HEHD ).

FITITLY FriLsh (X) NEZEIN
(Y 2ssbev gy (X))
y= XZ (_ o, OO) [O! OO)
y=1/x [0, ) [0, «0)
_ 1 R —-{0} ydHundsvbevr R-{0}
Y=x QLo 1OWIGHST H6TT
y= ]__x2 [_ 1, 1] [O: 1]
y = sinx (= o0, 0) [-1,1]
Tt n . . .
|:— 5 §:| LPSGTGOLD FITITLIHLD
y = COSX (— o0, ) [-1.1]
[0, ] wpsetTenio FriiLisiD
y = tanx ( T TC) . . . (= o0, )
=5, %) WSHIELD FITITLIGLD
y: ex (_ O, OO) (O! 00)
y = logex (0, ) (= o0, 00)




7.2.1 eminfler susnguid (Graph of afunction):
@ iy f-er euewgin_wmerg y = f(X)  eretim  Fiosstiimi 1g 6hr
GUEDTLIL_LDIT@LD.

er.&m. 7.8 f(X) = X2 TG FMITLIGT QUGHTLIL _$eOS QUGHTWIALD.
Srey
y = Xz-g_g Beopey Oeiyd Hev Camg (X, YY) wHlisever
9 L_euenesstLIL(hS S . @Dldbsli 1 yeraflser euflumad GlFebeih
R TG QUEHETEIGHTEDILI GUGHITILIGYLD.
x|0|1}2(3|-1|-21]-3
y|O0O|21]4]9 1 4 9
®epluy Y
Cupaehr . UL $EDG  BALD QR0
Cpirs@s55Gs1®  amppsrad, g 1) 3.9)
auswareusmgeni @Gr eh Lerefuilsy o HiGLo -2,4) 2.4)
FHGSH D i CTGHTLIGH B FH6UGCH5HGYLD. >
. , . (0,0) X
2ASBTUG), RACUTH X5GD @0 S5 Y
> e g, L 1b 7.9

FTLS @B UDMISBT UDTLL EIS% @5 (Blmevd &55/5%0CsT® CFms e eor)
BTLD eUeHFyLd QaUGIUT(H UEHGTEUEHTUILD G FTTLIG GUENTLIL LD6VGV.
Ry sy -yerg oyzer FriLssHETer QeGlaIT(h X-d@b FCT Qb
safligs f(X) (5 Y)-@ wl®Cw swmw. @i Crisesss GCaHrLmears
UMATI T HLPemDEG Grosh Geul' L mg. 9sTaig ‘& eT6im 2 My
f-aor FrrLsgGed QpbsTed X = A eretim Hlevevd &5 HGCHTHR T eratm
FiLiesr euenyLL_gevg (8, T () eredrp e Lyarafuisd o GG Gaur” (Hib.

L965T6u(BLD uenTLIL ST 6T(hd 5% QTS |

Yy (x=2 Yr o o=, Y
& VA
N T

b 7.10
Y = X, (yebvgr Y = £ X )-sir auemgLi_densd sely Lopp jened s

QUGHTLIL_ThIH@HLD FITITLIGH QUG LIL MBS TEHLD. )60 IT6) y2 = X-60 X = 2 61607
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R Blevevd@rd Hid CHTL 19 66T BHTLD QUTHBTED, B CUHETCUHTEOILI
(2, \/—2) Lo myLb (2, —\/—2) Y& @) Lereflaseflsd FhFlb@Lb. eTerGal, y2 =
X-G5T QUEM(TLIL LD 63(h FITITLIGT QUEDTLIL _LDGVG.
er.am 7.9 X° + y2 = A-6b1 cuedTLIL LD G(h FTITLIGHT GUEDTILIL_LD6VGV GTGaTd:
STL_(h%.
Srey

X y2 = 4 erehip FGSTLTH YBOW  LOWILDTFHD  YTLd 2
SvGlenetud CBTeTL_ aul' L GFlevertd &GuSED H.

X = 1 eretrn.
x =1

V=4-1=3 [
y =143 0, 0) (2,0)
X=1erebtp HIINSG Y-2467 51
\/é , - \/é Tl @)(h LG FHEnernL »

Qump&ng. @&H FTrler T DEIL

BIFD S .
wi b 1.11-60 X =1 eredrm Car(h b 7.11

QUCHGTGUGH [T GO (l, \/:_3) , (l, —\/:_3) eTetTm @yevr(®) LyereflFaney FhGHGDF.

eTa1Ca, X2+ y2 = 4-6i7 eueniTLIL_LD G(h FIITLIGHT GUEHTLIL_LDGVGV.

1.2.2 gy S afleir 646wSS&6rT
1. CupCasmisged &miy (Onto function)

@h Faret afFFHUPLD, BT HIGWERWTS FTTLISULPLD FLOLD 6T6wl60
Friunerg GCuplsrigsed FmiL eTerliu@Lb. @evevrailiy e, 9/sH @b
‘Camirgse ey’ (iNt0) ereriLi®Lb.

fA-B-wieb f-eir afdoa oebevg Frwed sewrd f(A) oyerg Hievewnrd
gL B-&@ Foib ereflled  (f(A)=B) gy f, CopCamirgse amiiim@ib.
er.&m. 7.10
A = {1, 2 3 4, B = {5 6}. f eretip &miy Ierau@pommy
e missil Rerers. osraig f(1) =5, f(2) =5, f(3) = 6, f(4) = 6
srasfled T p CLomGamirdsed FTiL) eTardhsmmL (5.

Srey
f={(15), (2 5), (3, 6), (4 6)}
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f-etr af o aid f(A) = {5, 6} A B

aiwesrd susd B = {5, 6} ——
s A) =B ‘
erarGau  QHTBGHLIIL L FTTL B

CLopCamirdsed FITiL) Q4@ Lb.
L ip7.12
e.am. 7.11: X ={a, b}, Y ={c, d, e, f={(a c), (b, d)} erafled f s
CpCarirgsed FrirL) 9jebev erewr HlemLd,
Srey
QasTHGsi’ L yeref efleurhiseflesriig
S&GhS LIL_SHEeH6ST GUeHTIIGLD.
f-etr afd& = {C, d}
giewewrd s = { ¢, d, €}
Q)@ FfFFHUPLD  HIGHTEF  FTITLISUPLD L 7.13
FLOLOTS  (QEVEUTEOLOWITE  QVbGF  FTITL|  (Th
CLopCaHmirdsed FITL) 9/6vev.
®ply
(1) i CuwiGsrissesd Frmler  gewewrd  FIiLSsSS6Tem
RaQeuT(s 2 mIliyG@d  (FTWe) QRETMI  BVVSI Q6T IS
Cuopui’ L 197&F Fmwecvser (Pre-image) FriLssge @)hd@Lb.

(2) CupGamigss (ONO) Fmriy gymFlevdGsy ‘SUECtiVe' erer mib
9OLPSSHLILIBILD.
swewgwenp . T eretim  Fniy  CupCamissed  FmiuTs Qb
CouatrHGloesley  Grewewrd FrrLsSFeverer eeliGleur s 2 miiy b-de@tLb,
Q@ mL_rryeirer A er6dtn @b 2 miliy (s @eTmisg Gopul
2 miiyser) b =1(a) erepyommy FrirLsgFe @)nd:s Casetr(BlLb.
2. gerp&@ eqarprer Friy (One-to-one function) :

@b Friier afFFsdGevieiTenr aiGleur(h o MILILLD FTTLSSE eV6CTen
sfgs o milyL et GemTmfewer  gHUGSSUINBLILeT  D)FFTITL,
GRGIT WIS QRGTMITGT FITITL| GTGTLILI(BILD.

QST FTTUsSFeeTer  @Qrer(h  GeuaiCerm o milijserfls
FITIGOFET SIewenTdF FITTLISSSHD GauaiGaimms [3)(hs@SLb.

osTaug, a1=a — f(a)#f(ap) ag, axe A,

sz, flag) =f(ax) = ar=az
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ot 1.11-60 cuengw midaslii’ HeTar FTiL 66T midh@ QeTITeT FTiL
&b, yarmed ersm. 1.10-60 auewTwi miSHLILL_HETeT FTITL| 66T MISHS
GG M <2/GV6V.
er.am 7.12. A={1,2 3},B={a b, ¢} eafled f={(1, a), (2, b), (3,C)} erer
QU MISFHLILIL_(DIGTST FITITL| PaST MISE RETDITET S 6TevT [hlemLI).
Srey

FITUSSFeeTer o miliysermer 1, 2, 3 A f B
QFweveas  GiewewTF  FATUSSEH 2 6Tem -
o mitiysermest  wpeopGCu @, b,  Cuy e -
Q&TL_rrewLs THLIBSF Y TET .

Qg T oeretrm FrmlenGp A-cb 2 6irer uL b 7.14

QeuaiGoumy 2 piliLjaEnd%h@ B-6b GeuaiGoumy
LD LIGISET 2 GTATENLOWITGED ()T GGHT M@ GRETMTENT FITTLITEHLD.
er.&m. 7.13:y= 2 6TGOID FITITL{, GGST NI QRETDITET & J6V6V 6TadT [lemLI.
Srey
X-651 QeueiGoumy LoGliysermer 1, — 1-dg y=x2
mrb Y-4@&  Oumeug @Gy wHLiLime \ /
1 9y&ib. ysreug FaTLSSGET GauaiGalm y=
2 MILI&GT  gewewtd  FITUSSEHD  @CT '
o pitnflenesrd  Fmwersls G mIGETD S pop— =1
GG MY GRGOTDITEVT FTrL9esr
auenTweHPUIGTLIL, @) &I Q65T MISS PETDITET L b 7.15
FITITL| 96DV, (/6V6V F))
y = f(x)
f(1) = 1°
f-1) = (- 1)°
= f(1) = f(-1)

gerred 1# — 1 erarGou @)p Coumyii’ 1 Friiis o piliseT gienesTd

X2

1
1

FrTLsSE0 @G Fruweevrs G mieTer s).
cTarGau @)FFITITL] 66T M5 GPGSTDITE HEV6V.
eoluy . (1) qarmse eerprear srilfear  ymFavsGe ‘injective
GTGT LD DJGOLPLILIIT.
(2 o omiy odtse @aTpTsayd GCpHGaHTidsevnsHaLb
QpLidlssr  opevar  ymGlevsGev  ‘bijective’  ereir miib
<DJGOLPLILIIT.
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() @S HGHTL B 7.12-60 Sl 1 FTITLY NG
et msOsTsTpTer  CuHCsTidssdd  YGLb.  peTTed
eram. 7110, 711, 713 euewpwmiss — FATLISBGT
6t MG FTeTMTeT GLohGHTITdHe05H6T 96V,

er.&m. 7.14.f: R > Reretrp sy f(X) = X+ 1 erar euewguwimidsiisig e @) s
@6t WG FETesTDTET CLopCHTiTdse eTert BlemLi.
Srey

f erestLI g1 Q6T MG FTesTpTer CopHCaTidsed eTart BlemLlss

() CopCamirgsev

(i) cpetr myd@ pasTmTe ) erar BlemiNGse CLiT DTG ).

(i) Ggeflaurs, @Qbig ofdassesd R yo. 9Gs Cumesrm
SlemestdFmiusipd R @b, etarGar Qam®dalii’ L Fiiy,
ComCamiigsed FmirLy @b, (evevg) b € R ereirs.
wrb fb—1) =(b - 1) +1=b 9s Qussbng b — 1 ererp
2 pinfenesr R-ev smewr Quuayid. .f @y CuonGamigsed sy
YSLD.

(i) sriusgs@esdr odrer Qp OoueiCaim o MILIseT, SHeneTd
FITLISSEH OauaiGalm FTwevGward G&mesBerer ). eTearGoy |
(b QPG MG PGTDITGT FITITL| YSLD.

(evevgy) flag) =f(ap) > ap+1=ax+1=a;=ay. ererCau f e
GRGST MG PGTDITGI FITITL| ELD.
3. sweflg smiy (1dentity function) :

@ Hewrid A-uledlmp g G Hewrid Adg auenrwmidslii@ib sy f,
ovard s X € Asgd (X) = X erar Qupd@omenmed, T o Foefldamiy
A SLD.

osTeug Fwehd iy 1A o A, erébevr X € A-g@b f(X) = X erer
UTWMIGHILRED &) Floestld Frrtiever |a gevevg | erar @pldsevmid.
erarGou 61 1GLIT b 1(X) = X &L
(2,2)

FLONF FmirLer euen gL LD ' A

. . , 1.1
Fioanld gy f(X)=X-651 auemgL_Lomer ) U

Y = X er6trm FArLG6 eueniIL_LOT@SLD. @)bS (0, 0)
auengLL b Y = X er6trp CridCaml 1g enesrd -1.-)

GBI . s
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4. gmilesr Criwmgy Fmiy (Inverse of afunction) :

f eretrm @mmiQesr Cmriommy sy 1 crend GDIFFHLILIGILD. (F)Hewes
‘foinverseeranrts g ss Ceustw®ib. cpn  FmiLshG  Cmiommld  Fmiy
auengw misali Gouetrhiomullsst oy & CopGHmiidsed LommID @6iT Mm%,
RETDITET FITTLTS (Q)(BbBHev Gaussar(blLb.

A={12 3}, B={a b,c d} erétrp sriilever c1®d 55 G&HrarGairib.
f={1 a (2, b), 3 0} @k® Frwdisailsr smrd g ofFFsid
{a, b, ¢} o gerred Qg smiusd {@, b, ¢, dldg FwwTarssde.
ererGou ()& CLomCaTiidsed FIITL) 6LV,

9sTaig T A — B eresfled fl:B>A @6 Friums Gaueter HiLomuflest
auengwenpuieiig  @aiGeuTh 2 mILID  SHIEETIFTILGSED  @rF

. . s . . = . . .
Frwenevls QunBlmdss CeustsGlb. yermed T -681 FriLIsTS: SyewLoh HicTem
B-6b 26irer O-d@ #mwed Aulled @evemnev. cTerrCGou fflvgmgj R FITITLIGHGV.
iy T oper g CuonCanigsed Q)strm) oyemwhsCsh QBN @b HTTGSTLD.

A B B I
(#miusd) (geentd FiLSLH) I |
a 2
b 3
c
d
b 7.17b
b 7. 17a 1 -1
f1) =a &7
f2) =b Z ®) = 2
f3) =c f*(c) = 3
A-ufleb  26Ter o mlIFHERSGLD £t (d = 2

‘d Tt 2 miliysGE  FTwed
B)sbenev.

FITUIGVHGT D_GITGIT 6T

Guaib  @eTmisg eatm  @evewrs p  FrTleer  T(hS b
@ areirGeurLb.

srag f={(1,a), (2 a), G b} @ue A={1,23},B={a b}

@i ‘U, ‘2 98w Coupiii o pilinsense ‘@ eretrp @G
o piiGu Libuiors iemi&ng). craTGal Q)& PETMISHEG @RTMI @)eLeVTS

FITITLITELD.
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yerred afFFsd ={a, b} = B. erarGeu ComCGamiigged FirLy 9y@ib.

A f B B F1 A
=’ =
uL b 7.18
f(1) = a i@ =1
(2 =a fl@=2
f3 =b 1
Qg A-ulleéd  o6rer  eTebeUT o) =3
2 MILIL|H@BSSGLD Hellgs LIDLIBISET ey ‘@sg 1, 2 Gaw
P — LMbLIGIGET  enLoFlesTDaeT. ()
FITrL st UGHTUIHD S,
(LpIT GEST ITGOT .
Q)BeiT FTTeRTLD, TRSSHLILIL L FITTL| Q68T MISHS, 6T NI I/6Vev.
srarGau, ‘F1 Sev_ss CauassrGomasirey T CopCamidsed Lopmib

RET MGG @eTmIeT  FTTLTS  @QHdbd  CeuetT(Hb. (F)H6dT LD MIFHEHEVILLD
2 GBITGOLDIITEHLD.
@y .

(1) erevevr  FrriysER  COBTLTLSTTHVT, Fifesr  Gmiiomm
Friyh @b OsmLrrum@b. CopCsTigsed LoHmitd @6t mI%hS,
RETPIRT  LIKTLFET  (Q)beuTs  FTTLSG  CEiwmy  Fary
GleoL_wim .

(2) @ F#rmer Gpriwmm Fmiies euengil_geng euengus Frifer
WSO BTV LjeTeflFHear LomHplienLdd $id HTEwTUTLD.

sewlls wpewpliLilg e Friiler Gniomm FTrLIener euenTiLmidhs
‘Friysefles @enentiiL LbP &b I HLoSGs ChemauliLiBFD ).

5. #miyseafler @enewriiy (Composition of functions) :

A, B, C aetrm aGseyib 3 sewriisever or(hSsHb Glamers.
f:A—>B,0:B — Ceerer aCaeoitd Q)b Frrjser ereiiss. Q)b Q-eir
Fiusd, f-ar  gewewrd  FmiLSLTS  @QBLILDS  FeuaTSGl  QHTETS.
@G (9of) ©: A — C eretip yPuw Frirleves oevans s a € Adg
(gof) (@) = o(f(a)) erewuommy euewgw midseyd. @bi@ (@) ereirig B-eir
o pitium@d. ererGey  g(f(Q)) erevLIZ QB NTSBUpETET  QRETDTGLD.
@iyGw Friry 9of-go £, g eresrm @) FriTLHeflssT @)ewewTiiLy eTesTeVTLD.
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L ip7.19
®ply
gof-eb 26irer @l eu' 1 _orewg ‘O Q) FLHGT (F)ewenT:@LD
QFweOWIT@Lb.
er.&m. 715 A={1,2},B={3,4},C={56}.T:A—>B, g:B — Cererp
grrysear  f(1) = 3 f?Q = 4 9B = 5 0@ = 6 ereyuormy
QU MIGHLILIL_(HET6r & 6Teslcv JOf-gd; sTeters.
Srey
gof eretrigr A — C erew
QIGOLDUJLD FITITLITEHLD.
gof-eir Gp Aulledr o my'iysemlesr
FITWGCVHAT HT65T Geauesor(bLb.
(gof) (1) =g(f(1)) =9(3) =5
(gof) (2) = 9(f(2)) = 9(4) =6
9HTRU G A-uflev 2 Grem v b 7.20

o pitiysermer 1, 2-&@ gof-eir Gup
Fmwevser wpenpGis 5, 6 9@ Lb.
- gof ={(1,5), (2, 6)}
®ply
Cupeini’ . f, ger eegwepseflerg f00-e prb  smesr
Quevrg. Fev @GPl f, g Fmiyserse fog, gof y&uw Qe
@)ewewTL IS FTITLIFHEHSGLD Hresst @uisyib. Qi geurss fog # gof. oysme s
FTiLseflesr @enentiiny LMLTHDSG HH556060 (GNIT HIUTS).
er.am. 7.16: f: R—> R, g: R—> Rereip emiyser
f(x) = X2+ 1, g(X) = X — 1 erewr auewgw miSsLILIREGHTDGT 6Tevleh
fog top mib gof-e0 euewrw mys g fog = gof erer Hleme 9.

17



Srey
(fog) (x) = f(g() = f(x—1) = (x - 1)? + 1 =38 — 2x+ 2
(gof) (x) = g(f(x)) = gO@ + 1) = (¥ + 1) - 1=
(fog) (X) = X% — 2x + 2
(gof) (x) = X
= fog = gof

-1
er.am. (.17 f, 9 : R - R eretrp gmiyser f(X) = 2x + 1, g(X) = XT oTeT

eI mISSHLILIEE e, erasilsy (fog) = (gof) erewrs; s’ (Hs.
Srey

(fog) () = f(g(x) :f(x;zl) = Z(X;Zl) +1=x-1+1=x
(gOf) (X) = g(f(X)) = g(2x + 1) - !2)(_'*'21& —x

(fog) (¥) = (gof) ()
= fog = gof

@5 2 sryegGed (fog) (x) = x and (gof) (X) = X. er.am. 7172 B35 15
QarerGourid. Qb  euengwmidsliil Bererf, O erein  FITLHEHSES
(fog)(X)= X opmib (Qof)(X) = X. ererGau Froasild Fmririfesr auewgwenpuGTLIg
fog=1,gof =1 osraig fog=gof=1

SDCUT G BTLb gk Frriilest Gmiriom mi FrLeneT euenil midHeVTLD.
UDTWIED

f:A > Beretiug e sy ereirs. g1 B — A ereirm #miiy (fog) = Ig
wpmib (Qof) = la ereommi yewiowGioesiied, Q-wimergy f-er Cmriommy

gy ereri®ib. T-651 Cpritommy ey L crard; &BGSLILGILD.

Gl
(1) f, geretrp FrTySENeST FTTLISLD LOHMILD SHEHGHTE  FTITLIGHIGCT
Fiotb  eTefley Cuopsess . Blupsevareow fog = gof = | erer
6T (LPGHGUITLD.

2 1 Hev_s@omemed T -oper g Cuirompmdsss 51 9y@Lb.
(3) foft=flof=|

er.&m. 7.18: f: R > Reretrp gy f(X) = 2X + 1 erewr auewyw midsmed f_lg
QUEHT LI M) .
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g= L oreins.

(gof) () = X o gof =1
gf(x) =x = g(2x+1)=x
X+1l=y =X :%1

y-1 _ y-1
9y) =5 eees FY) =5
Y-@ Xgpeb L9y Gui_,
710 = X;zl
6. @w Friysefler D6, HYPlSDH6D, CLIBESBD WHYID EGDHS56D
Q) FrirysefleT FTTLSLD LHHID HevewTd FATLSHSET LpenpGiLs
FLoLoms @hLllest @)p FarLsemleT FnBlBed, HLHldH6D, GILIhI:Hed LoHmID
UGS OV FWDLIT(HHEHGT UEHT I M) FBGVTLD.
f, 9 : A - B eetp QB FTILHE@EGG BLOFHTEETLIDG
D _GBST GRLOFGIT IT(SHLD.
(f+9) () =f(x) +9(¥)
(f-9) (9 = 1(x) - 9(x)
(fg) () = (x) 9()

() 00 = gof @i 90 %0

(cf) (¥) = c.f(X) @i C b ommlad)
eoliy 1 @ smirysefler  GLBSFE eTeTLIG @b FTITLjS6GT
B)evewr 1960 (Bb Bl LOTDILIL L Z).

er.asm. 1190 f, g : ROR aerp smiyser f(X)=x + 1, g(x)=x2 TGl

aegumissTed, f+9, f—g, fg, é , 26, 30 9y@weuneomd; FHiresss.

Srey
FITY QUEHTILIEHD
f f(x)=x+1
9 g(x) =
f+g (f+0) () =f(X) +gx) =x+ 1 +x°
f-g (f—0) () = () - g(¥) =x+ 1
fg (fa) (x) = () g(X) = (x + 1)x°
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f B o f _x+1
g (g) M =500 =52
(X# 0-8@ o HCLo cuenyw midsLiLi(pLb.)
2f (2f) () = 2f(x) =2(x + 1)
3 (39) () = 3g(x) = 3¢

7. nrpledlg &miry (Constant function) :

@h Fmrletr ofFaFsb (b PHEOD 2 MILI|dh FETLD 6Tedled, DjFFTiTL]
Qb LoTBleOd FTITL 6TETDEDLPSSHLILIBILD. OBHTE S,

fiA > B gerg oemearg g a e Adgd f(@) =b eresr oyewipsmed f o
o PleSlF FAITL] QY@L

A f B

A ={1, 2, 3}, B ={a, b}ereirs. f eratrm
smiy f(1) = a f(2) = a f(3) = a eran —},
euengw sl 1 med, T s wrplelld Fmiry —
YSLD.

L b 7.21

ereflemowns, T 1 R > R ereiip Fmiy 1Y
f(X) = K erer cuemgw mysasiiGGlossilehy oy .
Qb LOTWIGSIF FATLITGLD. BT UenTLIL LD | y=
(7.22)-60 QErT@SSLILIL (HETET S, »

LOFHTHNGT  FETSEFDGSGLD 6T HeGHT X

shengeoiws Ol&TeTL . ehevmiymiLiL UL ib 7. 22
FTHHNGHLD Qe G 2 (HeuTHGLD ‘LoFeT 2mpe  eTeTnH  FATL]  @H
LompledlF FITTL] GTGTLIGHGS: HeUGHHHaYLD.

8. @wupd #miy (Linear function) wyeeg CridCasrL B Fmir :

f: R > R aetip oy f(X) = ax + b erew euengwimidbslii’ 1 mev
QIFFTITL| QP(BLILY-F FITTL] 6T IIBLD. Q)i &, D eresrLienas ommlefFenT@Lb.
er.om 71.20: f: R > R eretip amiy f(X) = 2x + 1 erer auewgw midsiiLig 6ir
9IHGHT QUHTLIL_LD QUGHT .

Srey

fX) = 2xX + 1o peopey Cuund Hov GCamg (X, f(X)semer
I L_auenensTLILIRSE) 6T(LpSH@yLD.

X 0 1 -1 2
f(x) 1 3 -1 5
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ULflF  GlFVEYLD  CUHETCUSHTIITET S (I
CrrrgCHTL_TH DEOLOAIGH S HITGESIGUITLD.

yeraflsemend @plss, Q@)iLjerefser 7 y=2x+l

. . (0, 1)
&y S ' 172, 0)/ N
(D) RULILGF FTTLIT QUDTLIL LD 6% X
CrrrsCHTL_m@Lb.
(@) ew@uygs  emmler  Gpirompis L b 7.23

FITITLILD 6d(h GR(HLILG-&F FITITLITSLD.
9. vevgumyiiy& Fmiry (Polynomial function) :

f: RoOR eratrm grrm_/f(x)=anx”+an_1x”_l+...+a1x+a0ma7

euengw miisst T eun Niguerer Liceymiigg Firy ereevirih. )k,
ag, a1,..., an CuIwessser. Gosytd an0.

f:R—> Reretrp smiy f(X) = 5+ 52 + 3 arar auenuw 16T @)spenar 3
LILQ UJGTGT LIV MILIL|F FITITL| GTGITGVITLD.
10. eNlgapm& Fmiy (Rational function) :

P(X), A(X) eretriemey Q) LGOI CHTeNeUSF FTITLIHET 6T6H 5.
A(X) = Ogysdanig s X-6i1 616veVT DG IL|FHewerujD R-6Smbg Boh&w Lesrert
FleovL_G@Lb ST SFeOT S TG 5.

f:S—> Reretip gmiy f(X) = %)_)g' , 0(X) # 0 erer euewyw miGSHLILIL L T6D,

9 BEET (1 NGB HULPMIF FITITL| GTGTGUITLD.

XAx+2 o
er.am. 1.2 f(X) = ﬁ eredrp ANFBSupm FATLIGT FTTLSS®SS
T 60T 5.

Srey

Fmiusd S yerg R-edmpbg 9(X) = 0 eretrm Flubgsenerd@r i
TGV X-LoGILIL|BewamLb (FH&Hw LIGSTGOTIT FewL_LILIGm@HLb.

@)1 (X) =x°-x=0= X(x-1)=0=x=0,1

.. S=R-{0,1}

aaiCou Qasm@ssli’ L aVRswpmy sriumerdk 0, l-o saliss
9I0eTd 5 GULOUIONIGHT FH@HH@GLD uUen T MISHLILIBGD Hi.
11. up @& sriysear (Exponential functions) :

eThs@aurs ereswr @ > 0-d@d f: R = R eretrm oy f(X) = @ eremr
QUEDTIW WISFHLIIBILOTUNGT @)FHENET Lilg GHHF FITITL| 6TETGUTLD.
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&Py I @ uysGHlE il  efdFssd TG SHILD R
(ewsGlwesT Hefletr sHewrib) 9 5Gar @)(Heb@LD.
sr.am. 7.22: f: R —> R arevrp #miyy
D) =2 (2 fx=3 (3) f(x) =10

616 QUGHTUI MISHHLILIL I_[T6D HBHGHT QUGHTLIL _HISHEHST GUGHTIUIGLD.
Sirey

X = 0 eragib Gumag
QG S HIF FITITLFH@HSHSHLD
fx) = 1 yo. ererCey
y = 1 eretip @t sGlad
9OGT S HILD V-_9/F Flenreor
G H&ns. Cogyib X-eir
e1hg Guodin i dna@ib f(X),
LFAwmeugleveney. eTerGo
Gropaesori_
FITITL|H@HSHT T P
QUGHGTRUGHTHET, X-65T ()Lou)
IYSININ]IC) X-9)F Flewest

L ib 7.24

FHFILILIGemev (]6D6V &I X-9jFFlenaT — 0@Ieh FhGISHGHD I 6TeT6VTLD)
@iciuns 2 < e < 3 erarugmen f(X) = € ereirm aveverausny f(x) = 2%,

f(x) = 3% Qevr_Cuws @Q)BLILIGHS S SHTETEITLD.

er.&m. 1.23:.

f(X) = & eretrm Lig S@Pd FTiTLI6h auewTLIL b cueHT .

.5”.-"-/ : J\Y Y

X = 0 erettp & nnhe@ f(x)=1
&LD. YN V] GUEHET
UTWTeT L Y-jFfever Y = 1
er6tTp Lyeirenuiey Gleur’ (Hib. Grogyib
X-ar  GowiQuisssr @ dn@  1(X)
LFGWILDTHT . 9 BTCU S
QuowiGwiesT  X-&@, X FFenes

- -

QUGHETAUGHT FHFHHT H).

L b 7.25
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er.&m. 1.24:
Gpssmemb oL _gGewasd  Fmiysefiesr  (Logarithmic  function)
QUGHITLIL_THISEHGT QUGHTUIGLD.

(D) f(x) =logx  (2) f(x) =logex (3) f(x) =logsx

Srey
LOL_SeW&F FTITLSHGT, LOew
QuuiCweTHEns%EE L HIGL

QUEHT UL MBI ILI(HILD.

gmirus - (0, )

afgFHd . (— o0, ©)

L b 7.26

Gl

Lig S@&plgF Frriest CBrommy FTiry, DL _GenEd FTTLITEGHLD. LOL_&endHd
Frrier Guims augaub. f(X) = 10gaX, a# 1, @ ereriig LBew 6TGHT 60T TG LD.
wr_gevas et miuswomer (0, o), Ly S@SPE FreT  SHievewTd
FATLSLOTEHRLD, LoL_Sensd Faiier genessrd FarLgomer (— o, o)
Ly S@old  Fmrlet  FriuSwTs  eowub. @& Criromm  Levr et
SHITTCHTLOTSH DGOLOGID B/
11. @@ smitlar smdSyY YOG SoOEY FriLy

(Reciprocal of afunction) :

g: SoR eretip iy 9(X) = % eTal euenru misLILGomuies g(X)
e gl (X)-6r Bevev@Lf) srariii@uid. @damiy f(X) # 0 eretrm X-d@ o’ HGLo
auengw s ILGILD. T(X)-6tr Sewev@ip FmirLy 9(X)-6r FrTLIFHD

S=R-{x : f(X) =0} oy
er.&m. 7.25. f(X) = X erawr f eretrm oy euengw midaslii@omuiss, @)setr
SOGGHLD FATLIGHT UenTLIL_SFeHeT QUeHT .

Srey

1
f(X)-6b1 Bewev@ip Frrriey 0 9@Lb.
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R—- { f(X) = 0 eretrpLirg o 6irer X yyeraflsefss

1
9 =) =x

erarGeu Q-uflest FTITiissid

1

FHEETLD}
= R-{0}
_ 1, , . .
gx) = X O QUEDILIL_LD, LIL_LD 7.27-6v b7 27

SITL 19 UILILG D|GDLDUJLD.

®ply

@

2

1
9X) = 3 eretrp Fmilenr aieyLL LD, TESOUT® DFFEarTuyid
(LPLY-GGITGIT X-Gb7 OB 1SS FHEIILIGemov. O} STITD
Qareuenareuenry X, YoidHdasemar upigeiaduied (0-60) FB&HHGLD
TeTLISRT FaiaTsGled Oamers. @aumprs X, Y FHSET

1
gx) = 5 erdip  auemeraumrsg  wpgaileduis  Glgraevs
QsTHCHTHSHTTS 9/GOLDG)GST DGIT (asymptotes) [e2cB

QUCHATCU(T &G, wpLg-efledluded QUL IIBILD QSTHCHT®),
Ggremevg GHTRCHTH Y. GgTewevs GBTHCHTHSETL
Lipplwr effleurer Lime b X1 eu@gLinfed wmrrrdgevmib].

sep  FIIYFET, @@  Friysefler QLSS Car®
QBTL_ITLjeOL_ 1 5.

osralg f whmd g ereriear Q6T mSOSTETY  HWFLD
grirysermuisst f(X) g(X) = 1 9@

Cumiromm  Frryser, Qe FITLjsemeT  (3)enewTLILjdhGEHL_65T
QSTL_ITLeOL 1 5. <ysraug, T wphmiub g GTGHTLIGMGY
@&t iS5G st ) Cuiriom misenma @)pLiler fog = gof =1 gy@ib.

12. erevoremremremeud FmiiLy g wi @& Friy (Absolute value function) :

f: R > Reretip gmiy f(X) = | X | erewr auevgwmidsii@romuies o5

GT VST GRT QT EOGUSF FITITL| 6T6TLILI(HILD.

X X > 0 erevfle

LS |x|={ - X X < 0oerafled

Q@hg Fmirusb R gievewtd Fmiusd geopwpn GowiGlwe seflsst

FHGSTLD.
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D) ) =1x] @ = Ix -1 @ fx)=Kk+1 H&u

CTGOT GO GY & FITITL|SH6MGHT euengLIL_higher GGLp GBTHIGSHLILIL (RET6T ).

Yy Yp 1Y
fix)=-x /{X};Y \ /
X =1 X x=-1 5
fx) =[x f(¥) =[x 1] f(x) = | x + 1]
b 7.28

13. uplemevd &miryser (Step functions) :
(8) BUGUw wpup erevor &miiy (Greatest integer function)

@5 GowiGwietsr X @ &g, X-go ol 1llevsinn_mg ELOGLIm wpep
ety LGiewi’s Quimitb FaiLy, BLGWI, Lo eTedsT FTiiL T ILBGD ).
[O)ES, | x | eremrss GDSSHLILHED &)

OIBTOU S f: R > R aap oy X = L x | erew
QO WIS IIRIDTUNET Djbenest LSLIGILIH (Lp(LD 6TE8T FITITL| 6TQTGUTLD.

[ 25/=2139]=3 [-21]l=-3[5]=0[-2]=-114]=4
GTGHTLIGHEHGT HeUGHSHGYLD.

@ samiriesr Friisd R wohmib sienesd Fmiusid Z (pp eTevrseriesr
HETLD) Y GLD.

(b) 5sHAmy wpp erevor smiy (Least integer function)

@ GowiGwer X Q1 &5, X-g ol Gopwrs L5EF M Lpp eTedr
wHilener QLimib Faiy, (SFFM prp eTever FITL TarTliLBFDSI. @)%
[ x| erama; GDIGSLILIHGD H.

oysraig T R— Rererp sy 1(X) = x| erer arewywmidsi@uomulisr
9| LBFFI M1 (ULp(Lp 6TV FITITL| GTETLILI(BILD.

[25] =3, [109]=2 [-29] = -2 [3] =3 ererusmar
FH6U6sH 5B LD.

@)gamrfesr Frush R wpmib gienesstd FTish L 9y@Lb.
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f(X) = LXJ—G&T @IGHTLIL_LD f(X) = |—X—|—Gz'57 QUIGH[TLIL_LD

AY p Y
y=x S V=X
- .
3 A—0 3+ o—¢
/ 4
2 [ ,c/—o 2 — o—iw
S
I o 1 p—=n
/
] | ) ] | » X | | — | | L 35X
2-1/ 1 2 3 7 2 -1 1203
/L\!— = ] —
/ r
Ao ot —"  _2p
14. gmlgemiy (Signum function) :
Ix]
. , x#0 L
fR>R eretrp sy f(X) = 1 X 6TGT QUGH W M SSHLILIBLOTUNGT 9
0, x=0
GDIFFTITL] 6TeTLILI(HLD.
Y
fix) = |, x>0
@)t Farusn R, (0, 1) $—
afdaamd {-1,0,1} 9@ub. (0, 0) X
fix) =[x, x <0 ©.-1)
b 7.31

15. @pewm wopid el usmL & Fmiyser (Odd and even functions) :
FTTLSSH QIGTET X-65T yeward g LG iLjseps@Ld f(X) = f(— X) erefled
@)FFriy @ el _LIenL_&F FTTLITGLD.

FTTLISSEH QVIGTET X-65T jenerid; & LoGILILja@hd@Ld T(X) = — f(— X) eresfled
QVFFTITL DD & FITTLITGLD.

1
o smgentions, f(X) = x5, fX) =% + 2¢, f(x) = 2. f09 = cosx
GTGTLIGGY Q)T L WL LI IGDL_&F FITITL|BGITTELD.

f(x) = X3- f(xX) = x — 2X3, f(x) = )_Jg, f(X) = sin X eretriicmey

PDEODLILIGHL_& FITITLFHETTGLD.
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Qoo _Lienr F  Farlet euengUL_Gevg  Y-oFs  0sF  Filwms
QBFFET LGHFeTTs VNGNS, @QFFTTLGH euenTiLL_Lb, Y- 9FenFL
QuUITWIS S FWFFTTOTSH. QPHEODLIILIGHL_&F FATLI6H euengiIL_Lb, jFlenuils
QUIT WIS &I FLOFGTTET 5.

LI6TOT L| & 6T

(1) Ques® enepliue g Faiyseisr mBs BaTOL b
PHEODLILIGHL_LITELD.

(2 Quew® QUL e tiuew & Faiysefle FBBed LEESTRLD  h
@)L _ent_LiLienL_wim@Lb.

B @w enedn wHpbd @ L1 L F  FAiLseNeT  Fa(BBeD
ROEDUITHLD @Q)TL el _wITHayb (R)eV6VTS FTHTLITEGHLD.

(4) Ques®  ebewplie &  Faiysefst  GLIBSFDLIVGT 61
Qa1 LIe»L T @Lb.

(B Quew®k QUi e e &  Friysefer  QLIBSHBDLIGVGT (1
@)L _ent_LiienL_wim@Lb.

6) 9w ebewp wHmIb QL eoL el FArLseflesr GlLI(BdhHHLIGGHT
PMEODLI LIGHL_WITELD.

(7) Ques® QUi ewr it e FATLSMT eU@GLIGET (@)L enL L
LIGOL_WT@GLD. (LIGHF FTiLy LyFFuwinHm 1)

(8) Quew® @hedmLiieHL_F  FATLSHGT  QU@GLIVET Q)L emr L
LIGOL_WIT@GLD. (L@GBFFTITL] LFFWLDHD HI)

9 ow QUL wHhpbd QDHEDULIGHL . FATL QUGG Qb
ROODLILIHL_ FTTUTGLD (LGSHF FIiL LFEwLHm &)

16. gIMCsrewriflggF Fmiysser (Trigonometrical functions) :

SfGamewTLASUe @)Tever(h) QUEHBIITET FITITLIHET 2 GTETET. 96l

(1) e ¢ sniyser (Circular functions)

(2) <y@ugauswerig smryser (Hyperbolic functions)

@t B eul’ 1 F Fairseer ol HiGw 6T(hd Fid GHmerGaurib.

@ f(x)=snx (b) f(X) = cosx (o) f(x) =tan x
(d) f(x) = secx (e) f(X) = cosecx () f(x) = cotx
GTGOTLIGVT QUL & FITTL ST 24&LD. QL & FITITLFHEGHT

QUG LIL_IHeD6T LIGTOUIRLD LIL_BIS6T 65161 5@ &6 peuT.
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(8 y=9nx _gevevgy

f(x) =sinx
FmrLsn = (— 0, ) w2 T ] .
ofgasid = [—1, 1] o X
(LPSGTEWLDF  FTITLIGLD =
|:_ % ) %j| L ap 7. 32
Y

(b) y=cosx

FmrLsb = (— 00, o) N n - n!V_NQ n /

ofgasib =[- 1, 1] \I__/ _______ i \_L/ X

UPSGTMLOF FITTLISLD =

[0 ]

(c) y =tanx
PR 1, S 0 et
anx = Cosx ©TeLISTGY COsSX # U 61607
X-6ir  wHLIFERH@ L HiCw  tanx
UHTUW MISSLILIBHED H.

2ABTUG] X-LoFILIL % LoD LD 9] HeST
RODLILIL oL _higsers Sl LIn
wHLIyFers@ GG  tanx  Gum
aprguyib. (Cosx = 0 erasfled tan Xe Glup

@ uevr ). eTewGou %—Gfﬂ ROODLILICHL
LOL_hi@&SHEhd:@ tan X euenyuw miss LIt T )
Jﬂﬁu&;Lb:R—{(2k+ l)%}, keZz

afFgsHLb = (— 0, )

28

L ib 7.33

» =
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(d) y = cosec x Y y = cosec x
SINX-687 Femev& L) COSEC X

erasTLIgmey, SIN X =0 6r68Tm X-687

LoGL1LF(6Th@ COSEC X

GUEHT I MISHHLILIL T . i |
»X

|
616aTGeu T-68T LOL i ST s -t _n 0] = f 3 2p
ST ojewerd 5 GLouIGuIcTT H6m6hT 2 2 E
SHGWTLD FITITLISHLOTEHLD.
gmirusp =R—{kn}, keZ
afFFH1d = (— 00, — 1] U [1, ) L b 7.35

y=secx
(e) y=secx

COSX-65T Hemav&LHl SEC X
6T6dTLIGTeL COSX = O 676dTn X-GB1
LOGIIL|H@IHSEH SEC X eUen [T il ML
LIL_IT &y,

L Frrush= R — {(2k +1) %} keZz

afgasid = (o0, — 1] U [1, )

ti_1b 7. 36
Y y=cotx
(f) y = cot x
t X = cox . 5snx=0
cot X = Sinx CTeTLISITeL SNnX=
GTGID X681 oG H@RsE COt X I I | |
QUEHTWI DS SBLILIL_IT F. =t _m\O| =m\ F 3m\ 2t
g =R -{kn}, ke Z 2 2 ’
afggsHLb = (— 00, )
Liib 7. 37

17. @wud Fmiysear (Quadratic functions) :
Qg Ly @R Q)FHmeseri_ 116vey mILijd CHTeeu FITITLITGLD.
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RB @)L af/T/"rl_//ngl/fZR—)R,f(X):aX2+bX+C, a b ceR,
az0 eeuomy ey miGHLILIERLD FATLTEGD. 06 Q) By & Fririier
euenTLIL 1D 6TLIOUITLPHILD (1 LITGUHGTIILDT@LD.

7.3 @l Yyswearur@ser (Quadratic Inequations) :

f(x) = aC+bx+cabceR az0 TGS Q)(BLILYF FITITL] D(6V6V T
Camenauuienast 61(hd 515 Gamars. @mig f(X) 20, f(X) >0, f(X) <0 wphaoub
f(x) < 0 eretrLIemay @)(BLILg HFLOGTLITBFGT 9y@HLD.

Q)mLg gyFwTUTRG®eTd Gids ereurpd Qumg allGser Gl gib
LGt LI(HILD.
Clumgy efglser :
1. a>berafed
(i) <yewers g Ce Rew (@a+c)>(b+c)
(i) oyewend g C e Réw (a—c)>(b-c)
(i) —a<-b
(iv) <overs g LhlewaGuissr C-&@ ac > bc, % >%
(V) oowers & GewpGlwess C-&@ ac < bc,% <%
&FLG GPlserTar < , > y&wees peopGu <, 2 6TelTn GPlFHeTTed
LomHDLILILG g9ib, CLODHEETL  LIGRTL|SHGIT 2 GHSTeWLOUIT@LD.
2. (i) ab>0erafleb a>0,b>0 yebev g a<0,b<0
(i) ab>0ereflsb a=>0,b>0 yyebevgy a<0,b<0
(iii) ab<Oeraflsb a>0,b<0 9evevgr a<0,b>0
(iv) ab<0 eraflsb a>0,b<0 9ebevgy a<0,b>0. ab,ceR

B@ups Fridlar Friusw YD 65FFSLD
(Domain and range of a quadratic function) :
RB @By FLoGTLTL 19 eoaT  STLGIGeTLI S, QHTREGHLII 1
9L BlLpsenears@L Ll @) Faiy {(X)-er sriusseng s BlaGs oy@Lb.
QYmuy yFweTuT@RHefssT Girey srent LG m LPEOMSHET 2 GITeTe.
OFweTUT 19 D@  CuTwdsorear  gGseb @@k (MW  [BILD
CairbOBBSHITLD.
GolLYy : uTL G 1 Glering  wpewpsetlasr wpigey ol HiGw Csemeu. HHMED
Gpever G MEGL CrréssCSTEH 91S6T LpennEH6T O\FTHSSLILIL (HGTOT H).
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wop | | srraflluuGSHSD Peoo :

ax+bx+c>0 ... (1)

erarig) @, b, ¢ € Rand a # 0, x-6b yewihs @)Ly oFLo6HTLITH
GTGOT .

QUbS FLOGSTLTL 19 DG PSS @Q)hLIGF FLOGTLITEH ax + bx + ¢ = 0-
Qy@Lb. @)FFLoatTLITL 19 65T Fesrewio ity (discriminant) b? — 4ac 9@Lb.
QUIQUITAD S eLPGHT M FlEDEUEDLOFZET 2 (haUTGLD.

Blewe (i): b%—4ac>0
@)bBlewevenLoufsh ax
QeuaiGoupraTenet 9y@&Lb. Qauhem o, B 6Tebra.

2 4+ bx + ¢ = O epeumIgeT  Glodl Lo myLh

s +bx+c=ax—a) (x—PB)

QG ITGL ax+bx+c>0 (1) S 51
= ax—a) (x-p)=0
= a>0erefleb (X—a) (X—B)=0

a<0 erafled (X—a) (Xx—=P)<0

@5 oyFwetLTL 1y e QT G (2)-ewer LweTLRSE Biey
HITGUTGVITLD.

Meoe (i)): b°—dac=0

@)bBlenevenLouied a® + bx + ¢ = O eLpeviigeir  Glows Lo myLb
FLOLDTGTEDa! 9fSLD. (B)euhHenm O, 0L 6T6H .

Lad+bx+c = ax- o)l

= ax- oc)2 >0

= a>0eraflb (X— )20 a<Oerafed (X—a)?<0

Qbs gFweTUT 19 evar QuTg ol 2-ewer LwGTLRSS Fiiay
SHITGOTGUITLD.
A (i), b’—4ac<0

@)bblenevenLouiieh aC+bx+c=0 GTGSID FLOGSLITL 19 GST CLPGUIAISGIT
Coupyri’ 1 Quodiihmenes 9@ Lb.

OC aC+bx+c = a<X2+b_X+E)

a a

b2 b*> ¢
a[(x+%) _H-'-EJ

31



_ [( +£)2+4ac—b1
= 2\X*2a 4’
a + bx + Cair GOUT®  X-6iT 6TeVeVT DG IL|H@HSGGLD a-65T
GOWFL_1H ewioub. e7G)esTesiey
b\?> 4dac-b , . . , .
X+ 2a + T2z GTGTLIGI — X-60T  6TeVeUT DG IL|FHGHSHE@LD
1816w & OGS GBoT T (FHLD.
Q)aeuTnrs aC+bx+c>0 GTGHTD GUGHGHIITGT D|FLOGTLITL LG GOGETd;
G wpevpuflenerd sHetsrGL_TLb.
weow 11
Rb5 LIS Carenauuienast HryeilliLibd HieuBesT eLPeLDTS
R0H @)L F FLoGTLITL 19 eoeTd GiTde @IgiLb.
1. a+bx+c>0 erehrs.
al +bx+c= a(x—a) (X—P) ereirs.

o <P ercirs.

Blenev (i) : X<aerefleh X—a<0& x—B <0
L (Xx—a)(x=B)>0
Blemev (ii): X>Berefleb X—a>0 & Xx—B>0

L (X=a)(x=B)>0
erarGar (X — o) (X—B) > 0 erasfled X-6b1 oG 1Ly o, B yFHuwicubmlnG
QoueNCGu emLoujLb.
2. @ +bx+c<0eres
al +bx+c=ax—o) (x—B) o, peR
a<B,a<xX<p creirs.
erarGeay X—a>0andx-p <0
L (X=a)(x—p)<0
erarGau (X — o) (X = B) < 0 eravfled X-6i7 Lo@lliys6ir o, B y&uicubplnG
B)eor_Gui gjeniouyLb.
weom : 111
QU YFOITUTL Ip 60T SHLILISHSTET B (LPHD Lilp Elew 60 6ir
Lig fflemev 1 : X2-ah1 @estasd  lensullevenavOesiley,  9yFLOGTLIML 1g 6T

@)BLppd — 1opeb GLighdFa b, Genp cTadsTenTTed OILIhHEGLD
CuiT g |FLOGTLITL 19 65T @S] LOT MILD GTETLIENS FH6UaHdHeLD.
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Lig hlewev 2

Lig fflewev 3

Lig fhlewev 4

Lig fflewev S

Liwg hlemev 6 :

Qg s  Careweuenw  SHTIeflliLBSE) 96T  QPUHLILYF
FTTLIHGT LYFFUIS SIL_65T FLocTLIBSS Grredleneris GLmayLb.
Lig flewev  2-60  Glupliul . epevibisemer  GlowiGluiess
Cariigeh @pPlssayb. epevmiser OowiGwessr G&mi 1g ener
eLpatst )i @)evr_Gleuellgermals 19 @Lb.

aIevdECHTLg ufleyiLb Q)_5CGamig uleiib 2 Girer
Qevr_Gevaflsaflsy @by s  Carevanurears  Llenss
@of g eweryd  pHLUGHUID  26rer  @evr_Gleuarfluiey
&eond GuluileneTujd GLmiLb.

QBTHIGSLIIL L QFLOGTLITL 1§ 65T HIT6Y HTHeDSD, LIl Hlenrev
46 @I g gy w Qe Geuaflulenerd
CaribGIBBESaLD.

OFLoGTUTL 196, Fwo OFwedsenn (<, >)  @)wLidebr,
eLPUEIHEOGT BTay HewThGHle CFirdseyLb.

or.&m. 7.26. X2 — X+ 6> 0 GTGSID FLOGSTLITL L GST BTGy HTGEsT .

W |
Siey X2 —7x+6>0
=  (x-1)(x-6)>0 (@)@ b? - 4dac = 25> 0]
@G uTp S GLim g e9%)2-g0 LwWGTLIRSS,
Xx-1>0,x-6>0 (yebevgy) (x—1)<0,(x-6)<0
=x>1, x>6 =Xx<1,x<6
Q)b X > 1gn ol (B afl_evrTih X < 6g &L (H &I_evrib
= X>6 = x<1

sxe (=0, 1)U (6, )

weop 11

X —7x+6>0
= X-1)(x-6)>0

X—a) (x—

B) > 0 eresfleh X-6i7 oGl i yaseir (o,B)d@ GeualGur @)hd:@Lb.

9zragl (1, 6)5@ QeuelGu @)mdb@tLb.
= Xe (-o, 1)U (6, )

weop lI:

X2 —7x+6>0
= (xX-1)(x-6)>0
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STTesssenartl LFFWS 5@ FLLRds, X =1, X =6 ereim eLpevrbiseir
@)Ly F  FoeTuT 19 HE HewL_sFnG.  (@ibepevbigener  GlouiGhiLiesT
Camri’ g6 Gplésayb. Cuoaib @ 18wbE aeioTs @evr_Geeflsmar +,
=, + erer @I _ayib. @FDG T cTetTCHT(R)

H =) ()
¢ /////////f////f//////. ./////////////’///////// .

_— 0 [=r=]

1 6
@i (- o, 1), (1, 6), (6, ©) s Qev_Geuaflser o crere.
X = 1) x - 6) Wbevswrs Quds CouarBHOLD6TLISTE Lienddd i
@evr_Glauaiaar (— oo, 1), (6, 0) 9 @Lb.

= Xe(-» 1)U (6, x)
Goluy . @ubepsim  pempsaflsd  epetrmralg  wpevp  BHayLb

2 LICGWITSHLDTGTSHTELD.
o.&m. 7.27: - X2 +3x—2>0 GTGHTD DFLOGTLITL 1§ OG5 BT,
Srey

X +3x-2>0 = —(®-3x+2)>0
= X2 —3x+2<0
= x-1D(x-2)<0

srgenlaamer LFAWSHDG Foliu®Bss, X =1, X = 2 ererp @)retr®
eLPGUBIGGT @)(BLILY & FLOGTLITL 19 D& Flew_s@Lb. @)gener eTevsr CaHmi ig6b
GBI B, @aiGeuTm @i Oeefd@d @ lmbs eewrs +, —, +
eTeard GHMUlL_cyLb.

) (=) (+)
AL g @LLULLLULLN NI,
- 1 2 =

@i (-0, 1), (1,2), (2, ©) & epsitmy @)evr_Gleualselr 2 cirera.
X=1) X - 2) v eopoweresiTs Q) mdhsd Copemauwmer @ Gleaerf
(1, 2) oy@b.

erarGau X € (1, 2)
GOy . @)sevat (Lpsed @)TeT(h) wLpewpulevitd $iTey HITERTEUTLD.
.. 7.28: B X% — 25> 0
Siey: HC-2520

= (2x-5)(2x+5)>0




5

eLPeUBIGGT @)(BLILGF FLOGTLITL (& Hlenl_s@ib. @Q)semer eTemGHmL i 6b

FIgeflgHenar LFFuwd S5 Flu@dbs X =

@O B @ 1lpbg ewenrs @aibleuTn @ Geuafldgd +, —, +
eTGSTmeUT M &GMILILSL_6yLb.
() (=) ()
. /////////////////////. .//////////////////// R
o -5 5/2 -

Q)i (— oo,—%, (—g, % (g,oo)%@:u epaT )y (Q)ewr_Gleueriseir
oaremer. (2X — 5) (2x + 5)ar w&iiy BewswnrsGair  ochevgy)

5
UFGwonsGeur @ mébsHevrid.  eTarGay (— o0, — g), (E , oo) &

5
Qe Oasalla@p 6T epvbisarTar — 5, 5 YFwapopuyd Csids
-5 5
GauasstHLb. eTesrGau X € (— oo, > ]u [ 5, 0)

or.&m. 7.29: 64x° + 48x +9<0 GTGHTD DIFLOGTLIML 60L& BT
Srey
B64x° + 48x + 9 = (8x + 3)°

(8x + 3)2 GTGTLIG (b AUTHHLOTS 2 GTeTSHTeD, @) X-687 GLout G115
GOPOWIGTTeRTTS (B)(hde eumiiLilsvenev. eTarCou @)BD& HiTey Flen_wim ).

er.&m. 71.30: f(X):X2+2X+6 > 0 erettuger @iey sresus (yeevg) f(X) eretrp
FITITLIGT FITITLISHLD HITGOT .

X +2x+6>0

(x+1)2+5>0
@)1 X6t er6beUT Gott LGN I HEHEGHLD 2 erenowTHEEar @)(HESLD.
erarGeu Grray sewrib R o @Lb.

er.&m. 7.31: f(X) = 2x% — 12X + 50 < 0 erairLigeir Sirey srevmns.
Srey

2x% — 12x+50<0

2(x% — 6x + 25) < 0

X2 —6x+25<0
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(- 6x+9)+25-9<0

(x-3)2+16<0

X687 6T ot LGN NDSLD ()& 2 GVTEHLOLIGHGV.
S QSTRSSLIIL L FLocTLTL 19 h& SiTey (F)ebenev.

dlo ApLiLrer sarsGS6r [ @uUly HYFLETUTL pHGS WTHDSSSEHmal |

+
Xt 0 xx1
X—1

61.&1. 1.32: Grrey Hirevers !
Srey
x+1>
x-1
QTGS LGHHmen (X — 1) 960 G
W+1HX—1!>O
(x-1?
= X+l (xx-1)>0 [~ (x-1)%2>0,x#1]
() (=) (+)
4 )’////////////////////. .zzzgz,:zzazzz_‘uzazz >

- -1 1 i

0

@i (X + 1) (X = 1)-6r w@iy BensOUIGTENTTS 2 GTemSHTed
X+ 1) (x= 1) Bevawrs @upssb Qevr_Geueflsamenr Caiay GlFuis.
Xe (—ow,—-1) U(l,©)

-1 -3
6. &I 1.33. Griay Hreters zi(X 5 < Aﬁ(— 3

, o x=1 X—3
Btel . 535 < ax_3
X=1 Xx-3 ' ) o
= X+ 5 5 ~ ax_3 <0 (@/5/@ SmISE CLIIHEHH FTewsT @u_levﬁgl/)
(x=1) (4x=3) — (x=3) (4x+5) _
(4x +5) (4x - 3)
18
= 0

(4x+5) (4x-23) ~
= 18 g v ereiwr eretiigmed (4X+5) (4x—3) <0
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-5 3
STIessflEemer LFGwsH5& FliLibhss, X = 4 X=7 erahip
ELPGUIBISHET, @)(HLILG-&F FLoGSTLITL 19 D& Fenl_S&m ). Q)sever e1avmGHmL 19 6b
@PLI B+, — +  yfu GouSRseer QU 1ABES  UeVLDTS
QevL_Gavefs@ndd OHTHSFHaLD.
() (=) ()
‘////.’f////////////}"

— oo [=%]

—5/4 3/4

(4x + 5) (4x — 3)-6tr LoGI11) GHeOPOUIGETERTTSH Q)BLILISTC HDS/ M

-5 3 -53
Qevr_Gaser (T > Z) 2 &Lb. eTarGau X € (T > Z)

X -3x+4
er.&m. 71.34 1 X gy OowiGuiessr eresiled, f(X) = ;2% e8I FTITLGH
1
F FFSHLD |:7, 7} eTaor lerL.
Srey
X —3x+4

V=30 d TS
(x2+3x+4)y =x2—3x+4
= X(y-1)+3x(y+1)+4y-1)=0
®@) &I P X6 wiohs @B)HLIGF FLOGTLITEH Y&SLb. X eTatTLI g GlLows

GTGOTLISHITEV

sasteniod; HmLig >0
9y+1)%2-16(y-1)2>0

[3(y+D]* - [4y-D]* 20
[3y+1)+4y-1)] [3y+D)-4y-1)] =0
(7ty-1)(-y+7)=0

-(y-1)y-7 =20

(7y-1Dy-7<0

L A

() =) )

- 1/7
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Q)b (— 00, 17), (l, 7), (7, ©) & @ev_Geuellser o eirere.

(7y = 1) (y = 7)-6r @' @ewpursGeaur ojevevs) LFFWTHCanT Q)mdbs
1

YsHGw  @enr_Gleueimer (7, 7)% T(HS B DBEYIL_GIT  LLPGUIEISHGIT TGO
1
7. 1o CFrrdasayLb.

. 1 X-3x+d 1
LY E |7 7 DASTUG T 35 1 460 L&y 7 LoD mpLh

1
7 @evr_Cuir 2 6iren g). oysmel s f(X)-6r af dFaid |:?, 7:| 9}@Lb.

uulm& 7.1
D f,g: R > R eetip smigyaser f(X) = x + 1, gX) = oot
U T M&HSLILIHEF DO Hesleh

(i) (fog) (x) (i) (gof) (x) (i) (fof) (x) (iv) (gog) (x) (V) (fog) (3)
(Vi) (gof) (3) Fwaineoms: HTesers.

(2) Cup@Bcnic L (1)-6 f, g-6r euewgwenpsefariig
HF+g(x (i) G)(X) (ii)(fg) O (V) (f-9) (¥ (v)(gh) (¥
Y SNWIIHEOMS HITEHT 5.

(B f: R > R aetrp amiy f(X) = 3X + 2 erewr auemgwimyinesr rl-g6§
sresrs. GLogyiib fof 1=flof=| eTaTayLh BlermLids.

(4) Gpssmemib oIFLOGTLTHGEhSEGHS BiTey HTHTH.

(i) x°><9 (i) x°-3x-18>0  (ii)4-x°<0
(V) X2 +x-12<0 (V) 7X°-7x-84>0  (vi)2*-3x+5<0
(i) 3;(x:12 <2, x1 (viii) Zxx_l >_1,x20 (%) :;(x_+21 > 3),(x__32

?+34x-71
(5) X @ OuuiGuiess eresfled %-@T @iy 5 whmib @

@)enr_Gus (B)(hd:aT &) cTert BlemLl.
X —2x+4
X LowiGwesst erestled 1(X) = 2 50 - 4 er6dtm FrmLiest ef FFHLD
6 @ GlouiG) efleb f Ztox+4 D L9681 &F
1
|:§, 3:| ereur HlemL.

1
(7) X @y QuowiGuiessr erasfled Wxx-i-g GIGTLIGN — 771  LoHmitb lsw

@enr_Gus oyewiomb HieiTern i eTeor HlemLd.
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8. U [5600T: 60 LD
(DIFFERENTIAL CALCULUYS)

BiesTsenflsOIoeTiI g @S, LoTHMLD FwiDBleT HesflgLd 9@ Lb.
YGFMSGD 96DV G GEOPUILD HeTeySFeT, Fewlls uies GCLIT@HTTS
SeooybCLITg euerTdEF hmitb Feosey FfshFHmers; Hersh&(hel sl
SUFAWTED G CGTL_ThS OTMILD TeYHeT GPlGs LIFIFlenessener
(GeTHGHMeT) GTlLsH@ SRy sl 1 Gx mieTsesiigd 9 @Lb.
@ssesw  afghisener YT IIFDGLD, HUDBIGST o (haUTSHHLD  LoHMILD
vwesrm®  GPlss  alflsemer  auGLiusn@H  Caemeuwmer  Hipallenis
Neurl'iiGCg auens HiesTHellHLd 9 @Lb.

R wuTsaTSFesr FaFrGousd HTevdensts GCUITMSS Tmih afsHLb,
Lo&SATOISTES  QUGTTFFWTETH STl OLITmidSH Lommitb afELb
CUTTDEOUSHEOT SETHHHUSDE GUeHS  BIGETHSIBLD  LILIGTLIHSD &.
QlevmLbigener  OGULI(HLOLTSGUSDGHLD  QUPLILISST & MILOLDTHGHeISDEHLD
QUHF [HIGOTHGIIBLD FLOSGE 2 HeyFID .

QERevrhengd Coihs e@ad By 1 ggub Geiefleowd  Faribs
Car e’ aflsbO@amib Ll &b eflgseNGur 17 941b  BIHDTETLY 6D
BT SHESIGSwGS  HAT@GLig Ssert.  waGlLE  HessllGGLoGHSBILITET
Slefll_sv  euger  FeflgsGley  CFTHCHETHHweTS  BiTLoTes @D
LydFeveruilest oo 1% plTasessissans ey Gestri.  omGILI@kLD
FeflEGoamgwinas ' Gbletyd)  @Quipitwed  omlehmons  eflerhGi
By’ L 61 serg @Quidsid wopmib L GFMET 2 (HeUTHGUBDG
IBIGET HG I BSOS T LGS LI(HGFIGOTITIT.

8.1 &miry eredemev (Limit of a function) :

D(BFHTED Vv OBIEESLD SHPlSs 2 ewriiblevevu o1 GIb(HSHHLOTS
Q)BLILIGI 6T 6TEILD FH(BSBTHHLD. @)dHHW OV b(HI:HHEISENGT Tl I _6b,
Oumpdsed, SflSBM, aIGSHD pFVTRT QUIDFeRlls g LILIGHL_F
QFwebLTHHET eLpevlb allaTdhs P WIT S LOTDIFD GR(H TS
FTTh S5 @)STOGTT(H eTeWeU DELOULD FHLPeVFHETIGD 6T6VeM6VS &(1hd BT HLD
LweTUGED S wTHIGD  gerewey  OCaTRGSLILL L @ Hlenevwimes
LEIIDG % mHTeOLOUND 2 GTOTCLIT S DeOSHF FITITHSHIGTOT HGTEHG
erevuTm  OFwedL@GFDG et BT pflw @SBy bCuUTSHID (@)
LIWIGTLIRSD Si.
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QUGUTg  Hev  TBHSHSHT_ HFaflsst  eped  @QbS  eTebemev
FH(hSSTSHFHSeD flend@GeumLb.

QuouiQues seflesr sewron&w R-ampba  R-$@ euengw midasin
gy f(X) =X+ 4gn 108 &165 G ameirGaurib.

X-687 LoBIL1L) 56T 2-g9 B\ ihb SiLb, CLoedmp gitd Gmwai@Ld Crim gy T(X)-esr
w&lieor Ll iquevser 8.1 whmib 8.2-60 Smews. X eTetty  LOTWIHES
GTGISTGWI DD LOFILIL|HET BT (LPLY-UJLD.

X 1 15 19 | 199 | 1.999
fx) | 5 55 59 | 599 | 5999

ulpwed 8.1
X 3 25 21 201 | 2.001
f(x) 7 6.5 6.1 6.01 | 6.001
uLlipwed 8.2

Qb LFI 15T Flenev eTeter 2-go Gibhhis Gmbhis, f(X) =X + 4 e s
6-4@ s YmsTLUND QBSGLD. BTG 2-g X6 LGN iLjseiT
Qg Curg f(X) erg 6 eretrp eTebenevenws GUBHHEIGLD. @)HemerT
lim
X—3 2 fX) = 6 erewnds @GOG eupdsib.  Qbss GO L

TS SISHTL oL L1 GLITmISSaienTuiey f(X)-o f(2) = 6-b eatTay

m
X—2
lim
sTard; ST GIGPILD. STRISI | 52 f(x) = 1(2).
‘X > O earerugp@d ‘X = 0 ererugp@d B@ps Carmium® 2 6rer &
eTaTLIGHGWLD Houaslds. X —> 0 eretirigy 0 er6dtp eT6benevenws X OB HAIGEHD 5
v CrTd@Fng eTeTmith parmed X erGUITSGID LIFGFWLD 94FT g
616t HiLom@Lb. X = 0 eresri gy 0 er6stp o@iewrs X QL1 mi&m &I 6T6STLIGTGLD.
XX —4
@uiQumepg f(x) = ﬁ eTerp RS m FaTedL  T(HSHIS
QarerGourrtb.  X-&@& 2-@d sy erhs G CeuessHILOTEsTTEYID
Qar@dGHeTLD. @Q)FFTiL X = 2 etetip LjeiTafluileh eueniwsmidalii_aflevenev.
<L ETITGD 2-5@ /6T LOUIN6D 2 GiTem Lo 1L FH@H &,
lim x°-4
T MISSLILIL_(HeTer gl sCel X 2 ﬂg}éﬁ FHresst  LpwcOGeuTLD.
vl quevser 8.3 wpmib 8. 4 yFuwer X-yerg 2-5@ Spret LopmiLb
Grosvrre oG 1L jseeS b 5 OBwHI%, T(X)-681 LG jsem6ens; GPISHD I).
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X 1 15 19 199 | 1.999
f(x) 3 35 3.9 3.99 | 3.999

ulpwed 8.3
X 3 25 21 201 | 2.001
f(x) 5 4.5 4.1 4,01 | 4.001
ulpwed 8.4
X-oyar g Hlevev eravsr 2-g0 ojewis, f(X) opers 4 ereiim eTebemevenIL
; 2
L&D &I eTeTLIHSLT LITTSGCMTLD. 6TarGo X|I_r;r12 ();__;; =4 x=#2

2
X -4
eraybCuirgy, f(X) = (X—2)= X + 2 ereiengub  Heucsls G b T s6i.

@)ereuTprest FTiLFeM6T 6TeveneveniLdh FeThGHIL_ X # 2945 @) HdhGHLbCLIT B
X = 2 eratrp wHlienrs X + 2-60 y&uic B Gup Ceuetsi(HiLd 6T6dTLIGHSU /LD
2 Hmid HeuesiGE HLILTTHGT.

1
Cuogib f(X) =5 eretrp sewebipd sriem aThS 515 GlemerGaurib. f(0)

QU MISHLILIL_TH Q&TMTUd(BLILe)/Lb X @s sews&_ wpigujom

X—0
orawr (LpwevCourrtd.  X-&@ O-eweug sally orhs oGy Ceuesst(HLomeTT gyiLb
Q&HT@GHeVTLD. L 19 webser 8.5 wpmib 8.6@d seuethds. X-6i LG 1L|H6T
0-sweu GLocdiph Hitb, GLplimh &b Cphigs Qnphs f(X)-61 wELiILsEr oThs
R Hlewey cTevTenenTD 9jewiFalleDeney 6TGTLIGID LIGVGTTEID S DSHTau S

1
Xyar g, 0-g0 ojamis oyamys f(X) = X TV /e _weflsieney GTeTLI S

SITLOTGTLOTED .
X 12 /10 1/100 1/1000
f(x) 2 10 100 1000
ulpwed 8.5
X -1/2 - 1/10 —-1/100 | —1/1000
f(x) -2 -10 - 100 — 1000
ulpwed 8.6

Cuopaehr_ epetmi TS SHISHTL HSHaed, wpHed QTar@Rid Heflss
TPl c@h Hlevev eravwenewt @ 1ABHECHT evevd eueLd(BBCHT
OISGLCLIT S,  6TeVMGVEI oL PG UOUDGT MILD  eLPGSTDITCU B
T(hd HISHHTL_(B) Qg ' GTGUEMGUEHLI e wGaiesorig wi
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9jauFuwiLblevenev GTGTLIGHBUJLD Lyl HIFD Sl [OLE eLPGST M)
TBHSSHIGHTL BLD 2 TS SHID 2 erenLoulledl(Bh s FATLIHT  eTebenevenis
SLDUIBLOT )] QUEH(TUI M)]&HEVTLD.
U TIWIED

f openg X-god s iy eretns. C, | eresriier @)revsi(h) Hlevev 676w HaHT.
X-gperg C-g OmwwmhgCuTs, f(X)ers |-g QnwigLTeTs |-g0

f(X)-etr erebemev 6TatTGCmTLD. (P)SHemert = | 160 6T GGV Bl QULPSSLD.

10
QL1 Grg wHMID GBS 6TE)MEVSET
(Left hand and Right hand limits)

f(X)-681 erbemovemws auewTw mIS@SGHLLCLITS, Hlevev ereer C-g X GUp(BHI%S
Qs f(X)-ar el jsmer HwmEH® CaTeaaGL mib. X-657 oG j&H6T C-g
ol GlwsrsCGeur  (QU_1Bmbgs OB CuTg) e
QuifwgrsGeur (euevblhb g OBEHAIGLLEUITS) @) (HSGLD. X-65T oG ILFHelT
Cao &l  @ophs WEHLILF®ITSSHTET T(Hdsh Coua(Bd  6TesTD
Bupseoars@l LBSGarmed, X-gerg  Cullsr  SPmba e
QL 18wb g CubErhGHIDS TG, @penar X = € — 0 gebevg X = C_
eTeTd SPISHLILIGID. C-g0 X-4aT s @U_LOBBSHI v SLhlhH S CUbHEIS
f(X)-etr  erevemeverws B BBES s QUL LOHBES eTevenev 6TeTGLITLD.
Q)sener,

lim
Lf(c) =y c f(X) erewr erpaCourib.

2CsCLmed, Xgyars Cg &l Fs  wHiyseedmba
O mpEi@GLTudeT jsener X = C + 0 9ebevgy X = C, erard @GP _eurTib.

Gueuib X = C, erayub Cumrg f(X)-6ir srevenevenws GLocdlppdy eTebemev

lim
9J6Vev g aGVLEIHh Sl eTevenev 6TetTGLiTLD. @)sener, Rf(C) = y cy f(X) ereor

6T (Lp 5ICeurTLD.

Qasrhsslii’ L Fmiry, erevewevenwls QuHB(BEHE Couetr(RG)oesiley
QL 8pbg  wpmib  aellph gl eTavevevger  GQLDPIBSS  CaussT(HILD.
CLogyith Bje»aIsHelT FLolomdh ewinws Ceauesst HOIDGTLISILD DUFUILDTEH D F).
QU 18pb g LoPMID QULBBHE S ETEHEHET GRBBHEOGVLIL F  GTCEHEUHET
GTGTRYLD DGOLPSSHLILIHILD.

8.1.1 erevemev &mewor) LweTL(BD Fov ylpLiLienL G Cmmmiseir
lim

(1) () =k (Lompfledg &rrriey) eresfley, X - C

f(x) = k.
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lim
X G f(x) =c.

(3 f(x), 9X¥) y&wer erevenev Gubm Friyser wpHmib K wommleld
6T6ull6L,

(2) f(X) =X (swehd FmiLy) eTeiey,

|-
0 ‘e

.
() o 1109+ g0o)]

kf(x) = k X”_T o T

lim lim
X—C f(x) +x—>c 9()

lim lim
x—c =% ¢ 9K

)

(i) 5 [0 -]
li li li

(V) T 9] = 900

V) lim [MJ _lim

’
x—>c g T xoc ™ x:nc 969, 9x)#0

I I
(Vi) 109 < g0 sranied, 0 )< 1 G

-GST LDGILIL) HITGOST .

@ _8wbg  opmitb  aLBBBEEI  cTeveneseneTd  HestldBasti G
FBT(BHILING & &I 6TeVMV LOGILIGOLIG HTeBTCLITLD.

X—=1_erepbQumaps, X=1—-h, h>0 erarcs 97 &uiBs.
lim -1 lim (1-h?-1 lim 1-2h+h?-1
X->1- x-1 "h->0 1-h-1 "h-0 -h

!
o h=2-0=2

lim lim
“ho0@M=h 0@y
X— 1, ereyyid Qumraps, X=1+h, h>0 erews L9y &ui®s

lim x*-1 _ lim (@+h?-1 lim 1+2h+h*-1
X=>1+ x-1 "h->0 1+h-1 ~“h->o0 h

lim lim lim
“hoo @G*N=h 0 @+ 50 0

=2+0=2, (8.1 (1), Qe LweTLi®SS)
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@) 18bb S Lo MILD UGVLLN(bb Sl GTELEGVHET FLOLD Y FHEVITED,

lim x2-1 lim x2-1

Xx—>1 x-1 LB Gl pidren gi. GLogyd Xx—>1 x-1

=2

&Ly . X# 1 ggevred (X — 1) 96b au@ds wprgujb.
Clim x2—1 _ lim
Tx—>1 x-1 x->1

x+1)=2.

e1.&%m. 8.2 @1 18wb gl oM mith cueVL(hib i 6TeLMEVFHEGT X = 4-6h &ITerT .

[ x=4 .
F(x) = x_4 X#4 erapib QLT

0, X=4 ereyib Gimipsi
Sirey
X> 4 ereyib Gumups | X—4|=X-4
lim lim X-4] lim x-4 lim
cranGa X—>4+ f(X)_x—>4+ X—4 “X—>4+ x_4_x—>4(1)_1

X<4eranid Qumaps | X—4|=—(X-4)
lim lim —(x—4) lim
eTaarGaeu X—4 f(x) = X4 (x—4) X4 -1D=-1
aueblipb gl Lopmith @ _1O(BhS  eTeveneuselr & (@)Tetr(Bib
QupBlmLiisib, Qevauser Fioillereniowmed, X = 46 QamhlbHrii i
FTTH& eTevenev LG IL @)ebenev eTasTLINSLI LjMlb g GHTeTs.

lim lim
9.5 Rf(4) = X5 4+ f) # x 4 f(x) = Lf(4).
e7.&7. 8.3

. . lim  3x+]|x
LOBIL| HITGET x>0 7x—5x|
Sirey

lim  3x+|x lim  3x+x
RO =x=0, 7Bk Tx> 04 7x—5x X0 lx|=X)

lim lim

x>0 g_)( = x>0, 272.
+ 2X - Uy

lim  3x+]|x lim 3x— X
LHO) = x50_ Zx_5x| “X—>0_ 7x_5x *<O psered X=x)
lim 2% lim 7N 1
X—>0_ 12x ~ x—>0_ (6) =6



Rf(0) # Lf(0) —gymevrred erebemev oGl @)svemey.
@iy : f(X) = gx) / h(X) ereirs. X = cufled, g(C) # O opmyd h(c) = 0 erer

lim
[OERICE QKOQ 6T 9J6oLou)G)LoGH)6eH X5 f(X) srewr Quicvr ).

lim  x2+7x+11

6r.&m. 8.4 wH P X— 3 29

Srey

X2+ Tx+ 11
f(x) =% =%£(% TGHT . ()i

g(x) =32+ 7x+11; h(x)=x2—9.
X =360 g(3) =41 0 opmyd h(3) =0.

3 4 lim  x?+7x+11
Guoanp f(3) = %@% = 5 Y&w. aarGa X—> 3 W&ﬂ@?ﬂ
Qv ).
lim +1+x-1

er.&m. 8.5 & i IHs X—5 0 X

Sirey
lim T1+x-1  lim (1+x-1) ({1+x+1)
X—0 X ~x—>0 x(\1+x+1)
_lim 1+x)-1 _ lim 1
x>0 x(\[T+x+1) x>0 (I+x+1)

lim
x50 ® 1 g
lim T1+1 72
Xx—0 V1+x+1)
8.1.2 HAew w&dlw stedemevssar (Some important limits)

61.&Ir. 8.6 :

AX
N b ANFSUPMI TRTERT TS @)(B5 S ‘E <1eraw @)upLidetr

lim x"-a"
X—=>a X-a
Sy . X @l uGors A+ AX erewr mL_mH@GGeumib. LTy X —> 8 eTeyiLb

= na" 1! (a=0)

< 1 eretiicnssd Haicsiss.

AX
Qumeps AX — 0 op mytb !E
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e

AX\ "
n 24 n
x"—a" (@a+Ax)"-a" 2 (1+ a) a
eTerG6y — = =

X—a AX AX

n
AX
NEFupmy Lig GG masmlis Cahpdens (1 +?) &@ 2 LTSS

(+4) -0 B-06) Q606
e #r@EQE) A QE) |

" x-a AX

. [G) a™t Ax+ (9 a"? (Ax)2+...+(?) a" (A + ... ]

- AX

= CD a”‘1+(g) a”‘Z(Ax)+...+CD a' T (ax L

n _
= (]) a1+ A 9SG LILG FEOATU(LPERL_ILI D M)LIL|HET

AX=X—a 9ysevred, X = Asteyitd Gimps AX —> 0 9@t

lim x"-a" _ lim (rD n_q lim AXD s

= +
X—>a X-a AX—0 Ax— Q CHIReTHC e
2 MLIL|HET

=(rD a" 1+0+0+.. =na"? -:(rD=n.

Q)searl) LweTLIRS Sib NBLOTS FLpSHTEILD 6T(HS SHIFHHTL_(HHenerL]

LmriGLmid.

er.&m. 8.7 w&H 9B

er.&m. 8.8:

lim x-1

X—>1 x-1

. lim x3-1 3-1 2
grm/:x_”_ HZS(l) =3(1)°=3

lim g1+x)4—1

x—0 X

ey 1+X=1 erert’s 9gGui_ X — 0 eramid G to>1
@ (G2

lim @+x*-1 lim t*-1°

Xx—0 X Tto1 t-1

&IT GO .
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lim x"-2"

er.&m. 8.9: X2 w_2 = 32 srewr @Q)hI@LoT I end (1pLp N-gods HTewT .
. . Ilm Xn — 2n n-1 . . . .
Siey : prib X2 w_o = n2 sresTLIGn LT QLIHP(hSHCTLD.

2" 1=32 = 4x8=4x23 =4x2471
b U mrib Qumieig N = 4
BLDEPLD 62 b D]
o lim sn6 _
er.&m. 8.10: 050 o - 1
. sin6 L : , :
Srey 1y = o T DS HI1% OFHTerGourid. 0 = 0 ereiricoss Halfly 0-6r

6T6VGUIT DG IL|H@REGHLD Y  euewgwmsbsiinl Hererg. 0 = 0-&@ Y-eir
0 . .
e Gerap ‘CarliGuprsg’ (indeterminate) oyss sravr&Gpmid.

sn(-0) _ sin® sin6
0-s@L LD — 0 LIgGul_, 4—9_)- =79 GTGHTLIGTEY LIGHTGoTLD T-Gfﬂ
eravwenTarenay  (Magnitude) wrpieuFleveven. erarGoy 0 yews  0-G@
sin6

aeblph s CB@ERIGL  CLims T—Gﬁ'r eTeveneVeOIIS;  HEBT(HILILY &FH6L
Curgioreng. spraig 0 wpsed Hrevorerss LGEHUI @)rdb@HbGLIT S
eTevenev setrl_mad GLimgiomergl. Oever enLOWLDTH@LD G(h eV DT LPLD
Oareir_ a1 1b geitewp auewgs OA = OB = 1 eter @Q)mpd@omm A, B
aTeitb  yereflgsener  eul L Gt MGl  @Plsss  Glamers.
‘0 gemgweiseen ai’ L eowdsed srmi@ AOE eretrp eul L Gamewtli
LuGGeow 1B HIH CHTerGourtd. A eretn Lerefluied el L $&Hn@ AD
erattp OsTHCasTL e euewgGeurib. g OE-g@o D eretrp ryeirefuled
@eul’ 1 1" (Hib. OD op mitb prresst AB Qe 19 & Glamreir@mid Lyerefl C ereiras.

A
Li_g&sb Sin@ = AC; cosb = OC; 1
1 0 [C\E
0 =5 acAB, [OAD =90° Ko -
QFrGaresr wpdhGamenrid OAD-6b
AD = tanf. B
o1 efsh ABair Femib = 20 i tb 8.1

wprressr AB-eir Berib =2 SinO
QsTHCHTRHSHMNGST o (Hwed = AD + BD = 2 tand

a7



o't eflevedletr BHerb prewfletr  BHerSEn@GL  OSTHCHTH ST
bersSH@d Qe il & TSI  BLpSHTEWID  FLOGHIGTERLD
GlewL_d@HLb.

2s8in6 <20 < 2tano.

oo , 0 1 sind ;
2 9iNB-6b au@ &S 1<—Sine < Cosg BT 1> o COS O _9@Lh.

0 = 0 erayyb Qumrepg OC=cos6 — 1
lim
BTG g cosb=1.

_ lim sin
erarGou 8.1.1-6ir 3(Vi)gos LiwesTLI®SS Birid Gimiargy 1> 00 STG >1
sinb _ . oo .
ST Ty Yy = o o wHiy @erflb@d, oeredn s
JeBenLouiley QVBBHIGL LEHLIIDGLIeL_Cur LG 5.
~lim  sn@ _ 1
"6—>0 0 ~7
sin 0

Fay Yy = o GST GuewTLIL_LD LiL_1b 8.26D &mL L L1’ (H6ITer gy.

Y.IL

s 2n 3n

vY'
L 1b 8.2
lim 1-cos6

er.&m. 8.11: & i IBs 00 02

Srey
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.20 -29) 9\ 2
1-cosh _25|n 2 1 sn® |5 1 siny
02~ 02 "2 (92 2| 6
2 2
.0
lim 3"2  lim sna
9—)0%@7/76i)0c=§—>0@wgg/l_be_)OT=a_>OT=
2
0\ 2 0 2
lim 1-cos0 _ lim 1|%"2| 1| Iim 32
8>0 92 ~ 6502 0 | 2|60 0
2 2
1 1
=§><12=§
lim sin X
er.&m. 8.12: &P x>0, W
. lim sin X lim Sin X
ELLE x>0, x =x—>0+( x)\/;(

lim Sin X lim
=x—>0+(T)-x—>0+(\/;<)=1X0=0-

&y © X < 0 gemmed \/;( FDLIHET YHeTed, @I _LOHHESHI 6T6vem6eV
GlewL_wim .

lim sinpx

er.&m. 8.13: &mgk@@&:X%O Snox ,a#0.
Srrey

B sin Bx B lim (sin@x)

lim snBx _ lim CBx T x>0\ Bx

X—>0 sinax ~ x—>0 snax ~  lim (sinocxj

%o x>0 ax

lim (sl_ne)
_B 0—>0 _Bx1 P since6=px—>0asx—0

0
lim (siny) T ax1l a  andy=ax—>0asx—0
O‘y—>0 y
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lim 2sin’ +sinx— 1
& 8.14 : ) :
or- & FISHGE -y 5 /6 2sin? - 3sinx+1

Srey
2§n°x+snx—1= (2sinx—1) (shx+1)
2§n°x-3sinx+1=(2snx—1) (snx— 1)

lim 2§n’x+sinx— 1 _lim  (2sinx-=1) (sinx+1)
X — n/6 2§nzx_39nx+l “X—>nl6 (ZSinX—l) (SinX—l)

_lim sinx+1
" X—>nlbsnx-1

_snn/6+1  1/2+1

(29nx—l¢0forx—>%)

“snm6-1 - 12-1 - %
lim -
er.&m. 8.15: X—0 e?(x 1 = 1erewd s _(H.
X X2 X1
ey Sl +— + T+ T+
Ay L 2"

2 n
X X X
oyeaumpriler € —1="" + 7T+ 4+ +
L |2 n
ex—l_1+x+ +Xn_l+
TV X _Ii 5 m

lim -1 _ 1 _ 1
Xx—>0 X _Ii -
lim &-¢°
er.&m. 8.16: LD@L'ILW@&BX_)?’ <_3 -

AT o
Sirey Y_3 o T (DS &5 QO FHTTCourLb.

Yy =X— 3 eresrGuimib. L9851 X = 3 yarmed Y — 0
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lim - lim &*3¢ lim e .&-¢

2 5Gay

X—>3 x-3 :y—>0 y :y—>0 y
lim é&-1
_ 3 e-1 _3 .,_.3
=€ y—0 y =e"xl=¢e .

lim €&-snx-1
Xx—0 X :

ex—sinx—l_(ex—l) (sinx)

X U X U X

lim €-snx-1 _ lim (ex—lj lim (sinx)_l 120
Xx—0 X TXx—>0\U X J x>0\ x /)7 7
lim M*x_1

Xx—0 tanx

Siey . tanx =Y eretrs. 1961 X - 0 gperred y — 0

er.&m. 8.17. @ 9B :
Srey

er.&m. 8.18. &' IHs :

e lim X_1  lim ey—l_l
eremoal Xx—>0 tax “y—->0 y -~
_ lim log(1+x) _
er.&mr. 8.19: X0 X =1
XX
Srey Ioge(1+x):I -5 t3 - GTGSILIG) bLDS &g O\ fluyib
loge (1 +X) x ¥
ORI L —— =1-5 +3 -
lim 100e(1+X) _
erereal v 50 X -
GOl : 100X eTaTLg @uied 1L S 00X DS &GHls @)
_ . lim  logx
er.&mr. 8.20: w@ud’)@eﬁx_)l x_1"

Sirey . X— 1=y erard GarerGeurrid. 19681 X = 1 gparmed y — 0

lim logx  lim log(1l+y)

cranrGa Xx—>1x-1 y—>0 y
=1 (e1r.%m8.196r Lig)
gor: M &=l 0
er.er. 821 o~ =loga, a>

Sirey: 1(x) = €9 g gy proses Q. @Bz
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X
a¥= eIoga — exloga

ax_l_exloga_l
x ~ xloga

eTarGau x log a

sHEuTLpg X —> 0 gemmed y=xloga— 0

Jlim @1 Mmoo lim (ey—lj
x>0 X Syso y xlogasloga, 4 Ty
lim &-1
=loga (- X0 X =1)
lim 5%—6"
er.&m. 8.22: Lo@:_'uj?@asx_)o ~

Sirey
lim 5%-6* lim (5-1)—(6*-1)
x—0 X Tx-0 X

_lim (5X—1) lim (6"—1)
x>0\ X J x>0\ X
:IogS—IogG:Iog(a.

lim 3*+1-cosx—¢€*
X—>0 X

6r.&m. 8.23. w&H 1 9Hs
Srey

lim 3+1-cosx—€ lim (3-1)+(1-cosx) - (e~ 1)
Xx—0 X “x—0 X

lim (3’(—1) lim (1—cosx) lim (e?(—)
x>0\U x ) x50 X x>0\ X
lim 2sn?x/?2

Xx—0 X -

log 3+

lim  x (sinx/2)2

=log3+, ;02 w2

lim (sin ></2)2

1 Iim
=10g3+5 y 0™y 0 w2

1
=log3+5x 0 x 1-1=log3-1.
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HA wp&HEl eT)6W VS 6T :

lim 1) x
1 1+3) —6ir erebemev &lew &Lt GlLimiLb. HEHET € GTGTLIT.
D x5 o X o &

lim X lim
()] (1+1) =e-m')X:; ﬂmﬂl_ﬂlj@uﬂl_x_)o (1+X):UX=

X —> 0 X y
lim K\ X
@ s (175) =€

sTvemevgelelr Girayseverd Csiflh g Gsmerer Siajl LSSHSMS LiTTdsaLb.
Gouy : (1) e wHiiy 2<e <3 erer yemLoujLb.
lim 1\ X
2 X —> o (l +§) = € 9T G X-6iT 6TeveUIT Lo
LG IL|FH@HSGLD 2 GITEHLD G LD.

lim 1\ X
ISTaUG X -60T 6T6V6VT QUDUILLGILIL|FH@BIHEHLD (1 +;) =

X—> ®©
9 GLD.
1 1.1 1 . A . ,
e=e =1 +qr tor tartet gt aeiues SaueardFled OHTers. (9)hs
OouiCwesT € 61hs (b L MILId CHTeneud FLoasTLITL evL_ufib blenmay

QFU T H). 9ST6IZL aox” + alx” L+ a,_ 1 X+a,=0ererp yewroriisd

o 6lrer 6Th @ FLOGTLTL 19 DG BirauraTs). aTearGas Q)bs cTevr €-eoi
&L_h% ereser (transcendental number)eresr oemipLiLir.

. . ~lim 1)
er.&m. 8.24. sawdHHS X — o0 1+X .

3X 1 X 1\ X 1\ X
Sy sHCLimgy (l +§) (l +§) (l+§) (l +§) . @)&O b B
lim N lim 1) X 1) X 1) X
X —> 00 (1+x) T X—> o (1+X) '(1+x) '(1+x)

S A
T X—> o +X "X —> o0 +X "X —> 00 +X =eee=¢e.

6T.&m. 8.25. & B . fim (&3) a
X—>o \Xx—1
Srey
lim (x+3)X+3_ lim (x—1+4)(x_1)+4
X—>0 \x-—1 X —> o x-1
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lim x-1)+4
= (1+

X—
y+4
y—> 1+§) (v y=x—1-> wasx— )

(
<y () (1)

_lim ily lim N4
= Yoo (l+y) "y > 0 (1+y) =e. 1=¢e

: . . lim 3secx
6r.&m. 8.26. @1 9Bs : X —> 71/2 (1 + cox) .

1
Srey COSX_;/ ereorls LNgSuIBCeumid. X — g eraufley Yy —> 00

. : 3y . y
lim 3secx _ M ( ;) _lim [( 1) ]
x - mf2 (1 +00) Ty o 1+y Ty o 1+y

3
[, (] e
_y—>oo +y =€

lim 2% _

er.&m. 8.27. &G X—>0 [T+x-1

Siey
lim  2-1 lim 2-1 (r— )
Xx—>0 «/1+x—1 “ x>0 (1+x 1) 1+x+1

_lim 21 lim
“x—>0 X ‘x—0

=log2.(\1+1) ( Xlino a” - 1 Ioga)

(V1+x+1)

=2log2=log4.
lim 3[1+x—3[l—x
er.&mr. 8.28. w&H b .
AIGS 5y 5 0 sn 1x
Srey
lim 3[1+x—3[1—x_ lim (1+x)—(l—x)( 1 )
x>0 sin 1x x>0 gnl AT+ x+1-x

sn x= Y erarls tg&ui@Caumib. . X=8iNY Guoayib X — 0 erasfled y—0



lim 1+x-+1-x _ lim 2siny lim 1
x—>0 sn 1x Y>>0 Yy y-o0 \T+sny+y1-siny

5 lim (siny) 1
y=>0\ly ) {1+0++/1-0
1
=2x1x35 =1
uuilm& 8.1
SPSBTEILD TOMVHMmars Hewrssl(BHs. (1 — 13)
lim x?+2x+5 lim  x_2
W xo1 24 @ x-2_ oy
3 lim  (x+h)?=x? 4 lim xM-1
®) hso h @) x51 %1
5 lim \2x+1-3 @ M \DE+p?-p
X—4 «[X_z_\/é x—>0 X2+q2—q
- lim mllx—mlza 8 lim 3x—1
) x5a x-a ® xs1 Ax—1
lim \1+x+x*-1 lim  sin? (x/3)
® v0 X 109 y o0 X2
lim sn(@a+x) —-sn(@a-x lim log (1 + ax)
(11 Xx—>0 X (12) x—>0 X
lim "+
@ 5, (149
X — 27
14) f = 3 oD Frring X = 360 QU 1lwphbs  LoHmiD
QUVLABE S eTevenevsener GBS 3g X Qnmwhis (X)H@ erevency
2 GTTHT? 21D LIF V&S HTTETLD Fn M.
lim x"-3"
(25) Xx—>3 x_3 - 108 erar @)mdb@GLoT M L6 WpLp N-gods HiTevsT .
, lim - ™
(16) LD@I_H_??@&B.X_)O _sSnx
a¢+b lim lim
17) f) = 2 1 'X—>0 ) =1 wopoud o 1) =1 eraflsd

f(— 2) =1(2) = 1 erer hlmyays.
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lim X lim X
(18) X—0 — JYI LDQ')@L'DX_)O " JYI Y Hlweupeom LG 1B,

lim X , ) ;
X— 0 JYI L1 Lp) GTGTGST Fnp (LPLY-UJLD?
lim a*-p*
x—0 X
~lim 5*_gX )
QEAwbs o T x & wHIIGs.
(20) log (1 + X)-6tr QBTL_6oFL’s LIwIGTLIHESHTLOGY

lim log(1+x)
X

Xx—0
8.2 #mirfeir GgmLigd] (Continuity of afunction) :

(19) sewTsHGHs . , a,b>0.

=1 erer Blmieys.

fopemgy | = [a, b] eretim eprguwr @avr_Goualuieh euenmw g’ 1
FiTY. Qpett QOBTL_1FRS sHestevioenws ser aueverausny Y = f(X) er 155
gyowps @ ssar, (@ (@) e yereflladmbg (b, (b)) eretrp
yeirefldh@ setr Lmengenw il (b aflevsmiosd BaHThH GlFevayid Quidsd Gl
UTUeVT s eSS (LpL ULD.

@@ Lerafluiled Qgmridgdl (Continuity at a point) :
suegwenp - Fnis Qevr_Glevaf (a,b)ulleh rCaenib ep Lyeirerf C-ulleh Frriiy

f oy
lim f) = . ]
X5 C (x) =f(c) erawr Qups@LomevTad
yeiref] C-ulled f-g0 qap QOBmi_rrd@uimer FmirLy erestCLimLb. @)FFTiLITeT 5
lim
C-ufled X5 C — fx) = f(c) ot QUBdb@LomerTed Q) LHb 5
lim

QGTL_TFGWITGT FITITL] TG GYLD f(X) = f(C) erer yewLoUjLOTGEETITE

X—>C +
UGULE b &I G\ BTL_TEFFWITET FITITL] 6TesTaLb Fn MICeurTLb.

R FITUTRTH @6 LeTafuied QU 18lmbg HMID  euevLEl(Hb S
Qsm_rdGuwrms  @QupbsTed ' GG  gydFeriy  OCgmLrFSuime
FTTLIMTGLD. @)FHEHT LD MIFEHGUULD D GESTEOLOWITEHLD.
wyeay yereflufled Qgmisd (Continuity at an end point) :

eprg s @ewr_Geuerf [a, b] -uled euewywimidbasiii L e Fmiy Qs
wpgeliyeref)  auiey  eweullpps  GsTL1d§  erefled  fgp  a-ufed

|
Q&TL_rrdGuwimer &y eTeTGLITLD. 9STaU S X—>a + f(x) = f(a).
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lim
X—>b -
Q&mL_rrgFuwimet Fai) eTestCLITLD.

21 &ICLimTev f(X) = f(b) eresfled f-20 auev s oLy ayiiyeired b-ufsb
945 @ FiriL - oper s @ Leral) C-ulleh QBmL_TFRwmeTsTs Q) Hd:
Gpdameib  Flupsewersemer  Hleopey  GFuns  CeuaTROILoGTLINS
wpdGwLoTS Bleveralleh Gsreirer CeuessT(BlLb.
(1) f(X) a7 C-ulled cuawuwimydaii_ Cauasst(lLb.

lim
(i) X f(X)-681 Lo@)'1y Srewst 1prg H6b» CauessrBiLb.

:
(i) o o {0 =K(0) erer @ Gavsimi,

eplew @ Qeuafluilsd Qgmisdl (Continuity in[a, b] ) :

25 eprguws @enr_Gavafl [a, b]-ulsd 2.6rer aaiGeurn Lyerefuieib
gy fyerg Osm_réSunersrs @mseomuiar g [a, b]- &
Q&mL_rrFFuwimer FaiL) eTerGLITLD.

Qarisflupm smiyssr (Discontinuous functions) :

Qb FIY  Ser  yrmGled oeter gGseyid e@n  LeTefluiled

Qs TL_rEFWHDSTS QUBLILST Yysemer gyliyerafluisy GHmL_rEFwbHD
FrrL eTesTGLITLD.
Csppid 8.1: f, g eretriiewr C eTewyib Lyarauied QGTL_FFGuwimes FTIrL|SHeT
eresfleb, T + @, T — g wHmub 9 eresiewayd C-uled GHTL_rrdHwimes
griyserm@ib. Gueyib g(C) # 0 erafled fIg-uyd Cufled Qgmri_rrdSuimen
FITTLTGLD.

e1.&m. 8.29. oaiGeur(p ommledld FaiLh b OHTLTFFWTeT FTiL 6Ter

Blers .
Siey . wrpledlsd iy fe f(X) = K YA
6161GLITLD.
f-ir  oi&ed gCseid e y=k k>0
Lyaire ¢ eresfleb f(C) = k.
[ lim .
GLD@Q]LbX_>C f(X):x—>c(k):k’ >

;
5 100 =10).

L 1b 8.3

erarGau f(X) = K gy Q@iri_rrd@uiresr FrirLy @b
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@oluy Yy = f(X) = ket cuewgL_iomeng X-9FHd@ (Q)enewTimest
Qo _Gauafl  agiopn @b CprsGesr® @b @&0wmB
QSTL_TFFWTRT FTTLFHET SLOUPEHL W cuenTLIL _GFH6L (Limenguiled) 6Ths
Qevr_Gevaflewwiyb IO ILIFIVeweY  TedTLIDS — 2ewITe  Blevev
auri§leor st Lflp g G\ HTeTs.
sr.am. 8.30: f(x) =X", X € R Qgmi_iré@uimes Fmiiy.
Sirey . R-6it 7Caeniib e LyeiTarf] Xg 6T6bT45.
lim lim n lim _
L??G%TL/X_)XO f(x) = X %, (X):X—>X0 (X. X ... N sryesiser)
lim lim lim
= X %, (x). X % x ... X— %, (X) ... (N srgenilser)
= XgXg - Xo (n sryesflser) = Xon
N lim N
Guaub  fXg)=Xy - 5 X %0 f(X) = f(xg) =g
= f(x) =x" @B O\BTL_TFGWITeT FriLy
er.ar. 83L k # 0 o Guuuorded e f(x) = k" (k € R)
QSTL_TEFFWITET FIITL) YGLD 6TaT FlemLl.
ey 9(X) = K wopmid h(X) = X srerd QameirGaurib.
er&m. 829%er g  Quib er.sm8.30-cring  hib QasmirdRuimer
Friryser. Qaunmledmb s Capmib 8.1-ar g f(X) = g(x) . h(x) = kx"
O\ STL_TEFGEWITET FITITL] Y SLD.
er.&mr. 832 N Ly Qarer . genGeur s Ly mitiyd Cameneud FaiLb
R(H OSTL_TEFGWITeT FTLy 9&Lb eTewr [blemLi.

Srey . N Ly Qaress Lichay miliyd Cameneud FienLs

f(x) = ax" +a, X" " T+ax" "2+ .. +a, ,x+a,,a,%0erer TS5
G\&meTGaurmeb.
QuLiQurpg ersm. 8.31-6tr g aix', i =0 1, 2, ... n ereveurLd

Qsr_rrgGurer  Fmiryser. 945 Gapmb 81 g QemLrdSuwimer
FTLSMeST  F@BD  QHTL_FRwmer  FiLseT  sevred, f(X)-1b
Q\STL_TFGWITET FITITL] 9 SLb.

er.am. 8.33: p(X), d(X) # 0 eresrier Lichaymyis CHTOMUSOTTS yeLohS
DGsupmiF sy, 1(X) = pX) [ AX) Qsm_rrd@uwimest Fmiy oy@Lb eTer
BlemL.
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Siey. r(X) = p(x¥) / q(®). p(x), AdX) eretrer Ly miis CHTevaseT
Ypevred 61.51.8.35-651 Lig @eweuser QBT TFEWITET FTTLSET yGHLD.
Q@O Hs5, Cosppd  8.l-etr g  @uew®h  Lebey s Cameneud
Frysefless  oNFSupd @b OBTLTFRwTeT  FaiLy  ysevred, [(X)-Lb
QsTL1ds) @b, ysTeug  @alGeurm  NFSLpF  FAALLD
Q\STL_TFGEWITET FITITL] 9 SLb.
HAo wppeyser [ Blesuemriilers ] :
(1) wgs@pld Fmiy b CBTL_rdGumest .

eoltiurs f(X) = €w Qam_iré@umer Fmiy oy@ib.

(2) f(x) =logx, x>0, R'6b Qgmi_iré@uirar sy 9@LD. ()b, R" erevriis
LBlenas Q)od'16\IGEST H6¥lGsT SHeBoTLD.

Q) e’ g gy f(X) = SinX yergy R-6b Qgri_rrdGuimet 5.

(4) Qsmrevger gLy f(X) = COSX yarg R-eb Qpr_rrdGuimet ).

&My : Qubapry ayseflasr BlerLewthisemend smenr SHaJl LSSSSMSL LITTH5a L.
sin2x

er.&m. 8.34: f(X) = { X
1. x=0erepb Gimpsi

Lyereuied GIGTL_TFFWITGT FITITLIM? 2 KIGET 6Ol 5@ HTTERTLD Fn MIkIFHET.

x#0 b G
’ CTID BT S! et iy X = 0 erayyib

Sirey : 1(0) = 1 ereirienss Hauesilss.
lim lim sin2x sin 2X
@LICLITLp Sl X—0 f(x) = X0 X ( x#0, f(X)=T)
lim Z(SmZX)_Z lim (sian)
x—0 2X ) T ox—>0\ 2x
lim sin 2X
2X—0 (2x)‘21‘2

f(X) =2 = 1=1(0) gyzevred X =0-60 f(X) 9per gy G&ri_rrdGuwimes

lim
Xx—0
F1iTL] 9fevev. ysrarg X = 0-60 (X) ep C@mi_rrd@upm FirLy. @damienis
Sin2x x=0 lim
f(x) = X 7 GT&T  GUEHTW ML 196 0 fx) = f (0)
2, x=0 X
GTGTLIHSS  SUTIGSHBLILTTHET.  apY  eUenFwmISHILIL L FITITL
X = 0 yerefliled Q@mi_rdSumer i pHeomed @iig i’ i
LeTeilsewer H5ds55h5 OGTL TEFulleTenol LjeiTenser eTetGLITLD.
er.&m. 835 X = C erayyib Lyeireflufley Gpshsmmemd Frishg OBmL_dfd
BetrenLoenl iie) C)FuiIs.
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{M X # C eTevflad

fx)=7 Xx-c

0 X = C er6ufleh

ey . X=c-uflev f(C) = 0 erawrs’s QipmlmsbHCmirid. @16 Lp L
lim _lim sin(x=c) _lim sinh - x>CereubCLirgy
x—>cf(x)_x—>c x—¢c ~h—0 h h=x-—c—0

=1.
lim
flc) = 0 = 1 = X5 C f(X) gzevred f(X) yewgy X = Cufled
Q&GTL_TFFwHD H.

sin(x-c¢
. Sn(x=¢) X # C 6763160
eoluy . f(x)=9 X-cC
1 X = C erevfleb
GTG LOMHM euewIui S’ L Faimy X = Ce O&mL_rdGuimes Fmiry
TeTLISS  sauallds  @QEOmBELE X = C ersl  hsFS555

Q&mL_rrgFuiestenors  (ppmleyls)  yerefl  eTeTLIGHGULD  FeuesTld &S
QT GIT GIHAISHGEIT.
- X X< 0 eraflsd
5x—4  0<x<1 erailed
42 - 3x 1< X<2 orafled
3X+4 X2 2 erefled
orar  auedTwWIGHLGEng. X = 0, 1, 2 9&w yereflseisy f-cir
Q&rL_r¢FgseTenLoemws LIMNCFTSH 5.

er.&m. 8.36: sy f opemgy f(X) =

Sirey ! !
0 0= 0 (-d=0
li li
30+ T = 0, (Bx-4)=(50-4)=-4

lim lim
=50 — f(X) v 50 + fX)  oysewresd  f(X)gyemay X = 0
yerefluiled GIGTL_TEQubhm FrrLy.

. lim lim
(i)  x51 f=x,1 ((x-4) =5x1-4=1
lim lim ) 5
x>1, f=yx 51, @-39=4x1"-3x1=1
Grogyib f(1) =5x1-4=5-4=1
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lim im
Xx—>1 f) =y 1, fx) = f(1) 94 Qurusmsd f(X)
e gl X = 1-6b QGrL_rrFGwiment Friy.
lim lim 2
(iii) X_,z_f(x)=x_>2_(4x - 3X)
=4x2°-3x2=16-6=10.
lim lim
DI o 4 f(X) T2+ (3x+4)=3x2+4=6+4=10.
Guguh f(2)=3x2+4=10.
lim
f(2) = N f(X) gyzpevred f(X) gpemg X = 2 eretrp yerarfluleh
Q\STL_ITEFGENITET 5 S Lb.
sr.am. 837 : |x] TGl LBLGLIE wpLp 6T FATewLS GPISED S
f(x) = x—|x, x> 0 #mider Qar_réRsserevivemw X = 3 erevrm Lyarafuie
TG,

.. lim _lim _ _
Srey. QUG T X3 — f(x) S 53— x—|x] =3-2=1,
lim lim

s34 0=, oy x—|x] =3-3=0,
Lo miLb f(3) = 0.

lim lim
f(3) = X_>3 + f(x) = X3 — f(X) eretricnsd Hauesluyrhisaer.

sranGau f(X) = x — [ x] YT X =360 QFTL_TFFWDHD FTTLy.
uuilm& 8.2
FLU 19 ST L L1 Berern LeiTafsefed GG FldSesTenLoemi 9y Tiu1s.

X # 2 e165fl60

(1) f(x) =9x% - X = 2-60
3 X = 2 eravfleb
(2) f( = x—|x]| ,x=0 erayib jeirafuiev
2X, 0 <X <1 erayub@uimp s
(3) f(x) =13, x=1 eraubGlimps X = 1-60
4X, 1 <X < 2 erapubQuimp g
2x—1, X< 0 erevflsd
@) 13 = {2X+6,X20@r@zrﬂd) x = 0
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1, X < 3 erevfled
(5) f(x) =qax+b, 3<x<5 erafled
7,X>5 erasfled
er6dTp Fmiry X = 3 opmitb X =5 ettty LyeirenEeneh QGmL_ird@uwimes &
erefleb @, b-ssafier @iy sres.

X2
2> 0<x<1 eravfled
®) 19 = ) 09 051
—3x+§, 1<x<2 eresfled
X =1 erenyid yyeirafluiieh GsmL_rrFGuimes gy TerdHHTL (B
(7 f) = x = 1 + X = 2| eretray euewgwmydsri i gaiy f-er
QsrL_TdFssesrevioemws X = 1 wpmiub X = 2 ereiip arefsaefleh
AeurTHs .

8.3 umaui® - swssrsEsw (Concept of Differentiation) :

Q) Glauen 6Tevemev TGTHD H(hdb s GBld B LTTECaHTd. @ICLITS h
yerafluied  gpu@d  wrpp  FSSmEs  SHHOWLLTEHE  HevTL_pPlw
wpwpSCuimib. wpsedled 2 wireyser (iNcrements) eresrpmed  eredrearGleuest
ey myiCLImLD.

y = f(X) eretrm Frrirevns eT(0d 315 GamerGaurid. @GFeb X a1 sevllds
orPl. @UICLITG X6 oGy Xy eTe&lp OsmL &5 yerailedlmbs X
T  @mi% erainG oTmiuSTHd  OFTeTGeuTid.  @)hIG  X-6b
TOUL (HETET LOTHDSFIGT 9feTey X-65T 2 WiTey 6Tes eUenTL MIGHSLILIBHGED H.
Qpewar AX (Q_cbr_m X) erettm GBI eIpsHd. sTaIG AX =X — X,
9V g X1 = X + AX

X &sMs@Lonarmed AX >0 gblaraflsh X > Xy,

X gepujiorarred AX < 0 gGlarefled X, < Xy

XollaSlpbs Xg = Xg + AX s X ompudGuimg, Y- &y
fxg)aledmpa Xy + AX) s wim&ng. (X Yy e a®s55
Qe _med f(Xo) = Yo @b, erarGar f(Xy + AX) = Yy + AY. Y-6b erpriib
swire) Ay oL Xy Lopmib AX-GT oG IL|EGTE  FITITHSHIGTT .
Xgdmps X5 wrpubCureps Y yFsfssredd Ay  dows
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WS wETH @) mEGLD. Y wHy GophsTd Ay Geop &y
2 L WFTH QBI@GLD. Y-60T oGy ommTgl @BhsTed AY LFFuwiors
BBH@1b)

Ay erait&ln ouwitenas AX 9peh eu@d@GLbCLIT S AX CTGT&ID HHay
GlonL 88l @)1 Xei1 CGTL_&% Gy Xyedmbs X1= Xot AX eresr&lp
Qs w&H D@ wrmbd Cums X-gr QuTnibg V-0 ahu®Ld THD
of gSGletT FmFdl @b, eTenCGa,

Ay _ FOo* A% ~fx)
AX AX
Q)bsL1 Lestavtiomest s Caumiimi’ (B $FHe| 6T6T MILD HEOLPSHLILIBILD.

ev.&r. 838 ouw eaflwder wrsd  Fbuerd 51000/~ oS
93T HCHT D em. 100/- 2aor@lus o wirrey euphis i IGHD S euT s oF B
QUTL_e0& Qjeur oarGliigEHled LITE parmed afl’ () eum_enahuilesr et
2 wirey eTaleUeTey? uT sl 2enFuibensl CLITmidg af () eur_enasuleh
TgpL@LD Lomhp oF SSHGHT FFmF eTesTes?

Sirey

261Gl i%ens X 6TavTeyLb, af L' (B eurL_ewakenwt Y 6168 mitb GlHTeTGeurmLb.
1
Qg y=7 X Gugyb AX=100.

e1a1Gey Ay:% (x+Ax)—% x:A—ZX = % =50.

eTarGou af " (B eurrt_enaufletr yevsr(h) 2 wiray em. S0/~ @b,

) . A 50 1
LompHp oF SSFeT FmFfl _A%( =700 =2 -
1
sr.am. 839 y = f(x) = | erafld, X yarg X @fmps X1 + AXés
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Ay 1 1
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8.3.1 um&s6sup eTayd s@SSrssw (Concept of derivative) :
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Qsr@sSsLI 1L Cprsdled eTebevey Q@)BSGLOTRTTE b%  TELEMEV
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, d
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erart L. (@) T (XO—) T AX—0  —Aax “ Lf’ (XO)
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QD TIIDD
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Qevr_Glauefuieh auenrwsmissiiig et Xy f(X)-eir @)_1'1yp cuewss65wp

lim f(xg — AX) — f(X)
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UGS ISG CISTLTFHSG SeiTemis G lenL Cuwimer CSmLiiL

(Relationship between differentiability and continuity) :
Casmmid 8.2

USUI_S555 aiGauT(h FITLjb O\STL_TFEWITET FITITL] 9 SLb.

1]e L esoTLD
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i lim Ay
GUCLITWS Ay 0 Ax

lim {0+ Ax) —f(0)

“AX—>0 AX

lim 33[Ax—0 lim 1 A,

TAX—>0  AX  Ax—>0 3
N (Ax)?

@)zeir aflewereurs X = 0y = %/;( UDSUIL_FHHHFHMV GTGITLI S
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f{c) :x”—r>nc fxx:];c :X”_TCX)Z(%EZ - X”—r>nC (x+o)=2c.
seoL_ i e o sofa,
f’(O):xin(]H fo:IDO :xing)+x72 :XIinO (9=0
wpoin (=, M O lim o
:Xi”l_(xu):z.
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_ dgxz) +d COX

T odx ax

= 2x2’1+(—sinx)
= 2X—snx

er.&m. 8.50: 1/ %/;( + |095X + 8681 X-g@oLs QT WIS UeHHHONSHLS: FITEHT 5.

Sirey y=x_jj3+logsx+86m'ﬂa;

1
y :% -4 (x_3+I095x+8)

X

X
1
d ( 3 3) d(log:x) d8)
= + +
X dx dx

X

Wl

-1 1 e
+3 1095 +0,

4

343
x 3+3loge

Wl Wik o

6r.&m. 851 x>+ 4X* + 7XC + 6x° + 2-6ir UHEHSHONFH(LS; /TGS 5.
Srey y:x5+4x4+7x3+6x2+8x+2 GTGH &
' :d% (x5+4x4+7x3+6x2+8x+2)
ded) dad)  dd)  dexd)  d(8x)  d@)
=Tax tTax tTax fTdx fTdx Tdx
=5+ Ax BC+Tx I +6x2x+8x1+0
= 5x* + 16X + 212 + 12x + 8 .

er.&m. 852 'y = e™ s UHHHONHLPeOeY  DLg L1LIewL_& GlBTeTenHen
LIGSTLIRSG G HITaosT 5.
Sty : y = e
y+Ay = e7(x+Ax)
Ay e7x ' e7Ax _ e7x
AX AX
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o dimoAy  lim g (€™ -1} 4 lim ; e™_1
Y= Ax>0Ax ~Ax—>0 € =€ Ax>0 TAX

lim (-1
=7 ( T ) (v t=7Ax>0asAx - 0)

t—>0
lim -1
— 77X — 747X .. = "= _
7e” x1 =Te ('t—>0 T =1
d
@gﬂl_'/unas,y:ex@‘r@ﬂeb ax @ =¢€ ... (9
Guoguitd, @G GLimest mi
VI, y = tanx-er euemasQagp y' = sec’ X ... (10)
VII. y = secx-6r suens&Glsep Y = SECx tanx ... (11
VIII. y = cosec X-6tr euem&&:GIHwp Y = — COSEC X COt X ...(12)
IX. y=cotx-er euem&s6lsep Y =— COSEC % ... (13)
&Ly : umss Qswasalar waopulmers arar Siajl LSSESMFL LITTESa)LD.
uuiln& 8.4

1. y:x3—6x2+7x+6 6TGufleH %g HITGOT 5.

2. f(X) =X° - 8x + 10 srasfleb T '(X) sreswa.

@B w51 T'(2) wopmib T'(10) sresers.
3. f(x) = ax + bx + 12 TG T FTITLIHS

f'(2) =11 wpmib T'(4) = 15 erasiled @, b-Ssafletr LoBLiL) SHTetrs.
4. GLpsHTeRILD FITLBGT X-go1't QT mIS B uenFd6\H(Lpd: GHiTe8T 5.

(i) X" + & (ii) log,x +200

(i) 3sinx + 4 cosx — € (iv) €+ 3tanx + logx®

(V) sin5 + log oX + 2secx (vi)x’3/2+8e+7tanx
3 _ —

(vii)(x+%) (viiiy &3 =4) X2X2 4

Coppid 8.4 [eumsLiu®sselear Cumdsased aflgl ] (Product Rule) :
U topmytb V eTetTLIce X-gort G)Lim midh & euensUiL_gbdbs: FTITLSET 6T6vi6h
(OBl R OINGEELS
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Y = U(X) V(X) euenssul_ss &5 FmirLy Lopmib
y = uX) V(X) +v(X) U'(X) .. (19
1) erp L 60oT LD y = u(xX) v(X)
y+ Ay = u(X + AX) V(X + AX)
Ay = U(X+ AX) V(X + AX) — u(x) v(X)

dy lim Ay
dx T Ax— 0 Ax

o lim o u(x+ AX) v(x+ AX) — u(X) V(X)
T AX—>0 AX '

U(X + AX) V(X)-g0 QBr&EHUI al’ 1g aLhlS &I LOTHPNIGHLOS:S:

lim  u(x+ AX) V(X + AX) — u(X + AX) V(X) + u(X + AX) V(X) — u(x) v(X)

y = AX— 0 AX
o lim u(x + AX) [v(x + AX) = V()] + v(X) [u(x + AX) — u(x)]
T AX—>0 AX
_lim A lim  v(x+ Ax)—vgx)+ lim  u(x+ Ax) — u(x)
T AX—>0 u(x X)'Ax -0 AX v(x) AX— 0 AX

QuGuTg U  ausuil_s$s5555160, @&  OsTL_rEFurarGs.
[ORVLEACLET
lim
AX— 0

U o mith V Y SMIST aUewsuill_&5d:e FITITLISET 6T6HTLIGTE

lim  u(x + AX) — u(x)
u/(X) —_

u(x + AX) = u(x)

AX— 0 AX
L lim  v(x+ AxX) — V(X)
oD DILD V) = Ax—0 AX '

erarGay Y = U(X) V'(X) + v(X) U'(X).
2 &Cumev, U, V opmitb W eTeiTLIaT oUFHUI G555 FTTLIHET b
Qb Y = U(X) V(X) W(X) 50> G)aprnis
Y = U V) wx) +u(x) v(x) wx)+u(x) v(x) wx)
&oluy (1) : Cupeemerer GL@mdsed alGlenw GLpdhaTayomm Hlenearaiey

Q\HTSTGTGVITLD.
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Q) Frryseflest GlLi(bhseler euenFdhb)H(Lp
= (wpsev FiiLy) (@Queseri_rib Friifesr auensdGlswp)+

(@uassri_mib Friry) (wpsped Friier aienss6)5Lp).

&L (2) : QLpdaed lFevw SLpd:smeomm FbLris eTLpHeTLb.

(UK . v(x)' = u(X) . V(X) + V(X) . U'(X)
(U . v(¥) U V(X

ux) . v(x) ~ ux + v(X) - - (19
Q)sewar GpssmaminT mi CLim gienolii(bhidSemib
sl _gsHs  gmiyser Uy, Uy ... Uy eTeTLIGTauhpleh
QU ES O F(LPS FHEIT u’, Uy, ..., U, erasfleb
(Ug.uy...u.) Uy U’  Uuq Un'
ﬁ:u—ll +u—22+u—i+...+u—2. ... (16)

or.&mr. 8.53; auena LS gy © € tan X
Siey . y=€. tanx ereirs.
. d d d
ety Y =gy (€ tanx) =€ g (tanx) + tanx g, (€)
= & sec? + tanx . €
= & (sec?X + tanx) .
er.&m. 8.54: y = 3X* €+ 25inx + 7 erallev Y siretorss.

L _dy _ d@X* e+ 2sinx+7)
Siey . Y ="ax = dx
_da*e)  d@snX) | d@?)
- dx T O *7dx

_ . ded e d(sin x)
=3 dx +2 dx +0

= 3[x4%((ex) + ex%((x‘ﬂ + 2 cosX

=3[x*. &+ €. 4% + 2 cosx
= 3C & (x + 4) + 2 CoX..

67.8m. 855 X-go1'1 QuIT S & auews LGS S (X2 +7x + 2) (€ - logx)
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Siey : y= 0@+ 7x+2) (€~ logx) ersirs.
y :d% [0+ 7x+2) (€~ logy)]
= (x2+7x+2)%( (ex—logx)+(ex—logx)%( (@ + 7x+2)
= G+ 7x+2) [d% (eX)—d%(logx)]
+ (€= logx) [%( ) +%((7x) +%(2)]

= (X +7x+2) (ex—)—l() + (e~ logx) (2x + 7 + 0)

= (X +7x+2) (ex—l) + (€~ logx) (2x+7) .

X

er.&m. 8.56: (X2 -1 (X2 + 2)-@ X-g QUITIS S amss0HLpemar GLI(heHM
ANGeow LTRSS HTevsrs. Levey miLiyd Cameneuwins afifleyubsEuyb
am&HS0I51psS  HTETs. QT PGy eflewi_ewwig H@HLD GTGHTLIDS
FALITTSS.

Siey y= (-1 (C+2) ereins.
@IGLIT 5 y'%( [0 1) (6 +2)]

= (x2—1)%( (x2+2)+(x2+2)%( 0@ - 1)

_ (x2—1)[%((x2)+%((2)]"(X2+2)[%((X2)+%<(_1)}
= (- 1) (2x+0) + (6 + 2) (2x + 0)
= 22X (- 1) +2X (C +2)
=2x(C-1+xX2+2) =2x (24 +1).
QupssD i
y= (-1 (E+2)=xt+x2-2

Qe wpeomsepd @Gy alenL_ewwid  FHHHSTHET  GTTLINS
FHEUGH UL BIFHGT.
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er.&m. 8.57: € logx COtx-gp uemasLILIBS 5.

Siey y = €“logx cotx ereirs.
=U; . Uy. Ug (sy)
Qi u; = € u, =10gX, Uy = Cot .

Y = UgUpug’ +uguguy +upuguy
1
= ¥logx (- cosec?x) + € cot x. 3 +logx. cotx . €
1
=& [ cotx . logx + 3 cotx — logx . coseczx}

&Ly . Qb5d: sewdens @l (2)-gor LweTLGSS) Girds.
uuilm & 8.5
GLDSHTEYILD FITITLFHGT X-goL't GMIT IS &I uenHLILIBS Bl %.

(1) € cosx 2 Qﬁ( logy/x , x>0

(3) 6sinxlog,x + e (4) (P -6+ 7+ ax+2) (C-1)
(5) (a—bsinx) (1 -2 cox) (6) cosec x . cotx

(7) sin’ (8) cos’x

(9) (3x% + 1)? (10) (4% 1) (2x + 3)

(11) (3 secx— 4 cosec X) (2 Sin X + 5 cos X)

(12) % € sinx (13)/x €*log x.

Cappid . 8.5 (u@sdsed afgdl) (Quotient rule) [ mMlesuemriilsra )
U op mitb V Y Sies euewsuill_Sgs55d FITITLIFHET 6TesleD

al) Ao
\ Viax ~ Yadx

er.&m. 8.58: : bl .
UHSHLILI(BID Hi 21

><I\J
|
[IEN

u
Srey =\—/,u=x2—1;v=x2+1 TG .

<
I
o
+
[EEY
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2 2 ’ 2 4
, _ d @ - 1)_ 04+ (%=1) = (P-1) (x*+1) (7 1ng)

T Y 0C+1) 2
_ P+ (@0 -0E-1) (29 [0¢+1) - (¢-1)]2x
B (x2+1)2 (x2+1)2
o 2 _ 4x .
E+12 T (C+1)?
X2 + & sinx

er.&m. 8.59: m-m’ﬂ X-g0'1 QI WIS H UeHEHHQ\H(LPS; FHT6HT .

Srey

¥ +elsinx _u 2 _ ‘
y= COSX+|OgX = \_/ , U=X +eXS|nX, V=COSX+|OgX GTGOT .
@GILITp S
4 7
;W —uw

_ (cosx + logx) (4 + € sinx) "= (x* + 'sinx) (cosx + logx)
- (cosx + Iogx)2

_ (cosx + logx) [0+ (€sin) '] - 0@ + & sinx) [ (cos)) "+ (logx) ]
- (cosx + Iogx)2

(cosx + logx) [ 2x + & cosx + sin x &] — (3@ + €'sinx) (— sinx+)—1()

(cosx + Iogx)2

(cosx + logx) [ 2x + &(cosx + sin)| — (6@ + & sin ) G— sinx)

(cosx + Iogx)2

SiNX + Cosx

er.&im. 8.60: Sinx — cos & Xer QLT IS &HI UHHLILIBS .

6y : SINX+ COSX. _ U U=Sinx+ cosx, V=Snx— cosX 3
ey Y= G cox TV ’ oo

’/ 4 . . . .
;WU —uv (sinx— cosxX) (cosX — sinx) — (SinX + cosX) (cosx + sinx)

BRYC (sinx — cosx)2
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= [(si nx — cosx)2 + (sinx + cosx)] 2

- (sinx — cosx)?
= (sinzx + COS?X — 2SINX COSX + SINX + COSX + 2siN X cosx)
- (sinx — cosx)?
-2
T (sinx - cosx)?
uuilm& 8.6

SPSESTELD FTTLSDT UGS efglevwr LweTLB®SI]
UDSLILDS SIS,

5 2x-3 x =47
(1); 2 2x+5 ©) X—-4
cos X + log X Iogx—2x2 logx
4 5 6) 5
) X + & ()Iogx+2x2 ®) sin
1 tanx+1 Sin X + X cOsX Iogx2
(7)ax2+bx+c ®) tanx—1 ® Xsnx—cox 10 S

Friller sritlorg uamssosw (Fmslel aflgl) (Chain Rule) :
Xetr Fririms Ueyib, Uelt Friums Yib @)bLiiest Y e Xedr FriLy

erar . OFmevevrii@id. smeug U = f(X) gsaub y = FU)  yseyb
@wrndssr y = F(f(X)) 2y@ib. @)sener Fmiifesr FriLy erasii.

y = F(U)eb U-go @)ewr 10’ 1 1om) TGS T memLpd:deuITLD.
Cammid 8.6: U = f(X) 6t1 auenassGlsHLp (%) gysad Y = F(W-6ir auenss6)ap
F(u) oFayb @i, emmfesr  Fmirumer  F(f(X)er  euenadGlarp
F(u) f/(X)as'G@a'f FLoLh y@Lb. @b Us@; f(X) ererts L9y Gl CouetwrBiLb.
Blesueserd U = f(X), y = F(u).

@uiGumrg U+ Au=f(x+ AX), y + Ay = F(u + Au)

Au _ fx+Ax)—f(x) Ay _ F(u+ Au) — F(u)
cranGar Ny = AX "AU Au

p du
f(X) =gx # 0 erafleb Au, Ax# 0.
f yera aesuil_dsss Fmiy Yyserew, @& QHTL_FFuimer
FrryLh gt 61arGeu AX—0 erasfleh X + AX—X, f(X+AX)—>f(X).



lim lim
DABTOIS Ay s 0 (X+AX) =X Lopmitb AX —> f(X+AX) = f(x).

e1arGar (u+Au) =u.

m
AX— 0
Au .
AX— 0 yawred AU # 0 9gevTed Kﬁ Xﬁ Ay ST STApBEUITLD.

fopmib F 9y@uw @uesst®id Qi _rrd@uimest FiL|deir 6TeLIGTeD,
AU = 0 ereyb@uimp s AX — 0 op mid AY — 0 erepyid Quimapgs Au— 0.
lim Ay  lim Ay |lim Au
AX—0 AX ~ Au—0 Au "Ax— 0 Ax
=y(u) U =Fu) f =FE) fx .. 18)
Qubsd Fhu&led elFlenw Goeb oi&laswmer FaiLsehsd alflaju®ss
pLg-ujLb.

eTerGou

BT S y = F(u), u =f(t), t = g(X) eresflev
Yo Ew. (.t
QY _dF du dt

NNV dx = du - dtf ‘dx - .. (19)

6r.&m. 8.61: auena LB % : loga/x

Sirey 1 y=log~/x ereiss.
U =X erar 105 215GsmeTGaunGafisy y = log u Qy@LD. Frhu&el)

Loody _dy du
@IBILIG Gy = du * dx

. dy 1 du 1
GrGunsi gy =u ¢ dx 2

1 1 1 1

dy_1 -1 _1
6r.&1m. 8.62; auews IS &% - SN (Iog X)
Srey .y =98N Ueretra. @k U=log X

. . d dy du
FhGle0) NG, & = aﬁ “dx
@G g gﬁ = cosu ;% =%
dy _ 1 _ cos(logx)
dx = COSU. X = X .
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2
67.&1T. 8.63: cuen s ILIBS S5 - €
. sinx? i 2
Srhey:y=¢€ cu=siné t=x
et y=€ u=sint, t=x°
S FhIGE0) NG iig.
dy _dy du dt _
dx = du-dt ‘dx - € . Ccost. 2X
2 2
= 9™ cog(xd) . 2x = 2x 3" cos (xd)

i (X2
= 2x ") cos () .
67.&m. 8.64: Xeor'1 Quum myid g Sin (aX + D)o euewsLILES 5.

Sirey y=sn(ax+b)=snu,u=ax+b
dy _ cdu
du = Cosu; g =a
% = cosu.a=acos(ax+b).
uullm& 8.7
SlPSETEY D FriLsemear XQL ClUTmISS 61enSLILBSS %.
(1) log (sinX) (2) SNX (3) /1 + cotx
box
€ T X
(4) tan(logx) (5) Cos (ax + b) (6) log sec (71 + E)

(7) logsin (€ +4x+5)  (8) sin (xg) @ cos(vx)  (10) ednoxd),
8.4.2 Griwngy srifer susnssGlsep (Derivative of inver se functions)
y = f(X) eretrm Frin@ X = O(Y) ereyid Cupriom my FmrirLy srewriGLb my,

Grogyiib S_;(/ = ’(y)¢0 ereoflet Y=F(X)-6t1 cuenssGlgLp ﬁéﬂ@é FLOLD. DSTG ]

% :® ... (20)
dx _ d(o(y))

Blesuemrd © X = G(Y) L dx = dx

, . d
sisrag 1=00) @ (@l ISing)
d_x .
(dy)
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Criwmgy SMCHrewrflSls smiLseallear auamess6lswy

L1 : dy 1
l.y=sn I -eir UMHS 015 (1P =
TR
mlem Lewortd y = sin x topmitb X =8Ny
L9681 g—; = cosy = \/1—sin2y =\/1—x2
dsinl) dy 1 1

dx T dx dx 2
(d) 1-x

<

d 1
IN.y= cos x-eir &S 615 1p a)y( =- >
1-x

mlepLesord 1Y = cos 1x Lop miLb X = COSY

g—; =—siny=—\/1—coszy = —\/1—x2
d(cos x d 1 -1
_oy _ L
dx dx (d_x) 1-2
dy

_ T
I+ cosix = o GITLIG BLOSGS Q&b

LomHmiLpep : SN~

d . _ d _ d (n
= dx (sn lx)+& (cos 1x) = ox (E)

~1
1 N d(cos x)

) d(cos_lx) _

1

.. (21

.. (22)

2w 0T T g

|||.y=tan_lX-6'6T mmsés@a@% =1+1X2 ... (23)
ﬁ@usomb:y:tan’lx Lop myib X = tany
= x' = %(tany) =secly=1+tan’y=1+x
1 1
y = x 1+%°
IV.y = cot™X-eir auemaas@se y'=—1+X2 . ... (24)

mlepLeword 1Y = cot1x Lopmitb X = COt Y.
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d = - cosec’y = — (1+cot?y) = — (1+X°)

dy
: . dy 1 1
= (20)68r Lig- dX T Ok T T1a2
(dy)

LoTH Ml (LPEOD: tan x + cot 1x :% GTGHTLI G| bLOS @G O\flujLb.
Xeols QUi mid &1 Q)HLDAPLD UenSHSE0)H(LpS: &HITewT,

a(3)
d(tan ) _ d (cotly) “\2
dx dx T odx
1 d (cot™ x)
1+x2 dx
d (cot‘lx) _ 1
. dX - 1 + X2

1 . dy 1
V.y=sec I ar UDEECEW =>(\/2— ... (25)
xc-1

= secx LopmyLb X = Secy

)i Lt 6vor LD y
ax 2
@=secytany=secy sec“y -1

1

d(sec™x) d 1 1
. (20)68r Lig. ax :a¥ = dx - > .
- x =1
dy
_ -1, . . dy 1
VI. y=cosec 6t sums Qs =— ... (26)
@ dx N
1] e L 6woT LD y = cosec X Lo mjtb X = COSEC Y
dy M = — COSeCy cot y
= — COSec y \/ cosec y =—x\¥-1
. dy _ 1
erarrGau (20)atr L - =-
* dx g—y x\/x2—1

67.& . 8.65: cuevsLiLiBS &% | Y = snt (X +2x)
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Sirey y:sjn’1 (x2+ 2X)
u=x2+ 2X erar s Gidh ClHTTCourid. L6t Y = sin_l(u) ]
FTTLeT FTrLy.
cTerCou Frin&ed) NG,
2
,(_Ody du_ 1 d(x"+2x)
Tdu kT2 by (21)

-1 _ o 2x+1)

= 2X+2) = .
'\/1—(x2+2x)2 &2 Vl—xz(x+2)2

_1(1-
e1.&m. 8.66. y = C0S 1 (1 n

@ ﬂ@ﬂd}% FITGOST 5.

—1(1-
gﬁa/:y:cosl(lﬂ().

1-x -
Us=15x o a@dss GamerGourrid. eraarGay Y = COS l(u) R

FTTLesT FTirLy.

FhI&He0 NG ILig

dy _dy du
dx “du "dx -
1-Xx
Sdy 1 d(m)
©dx __»\’1_u2 ' dx
_ 1 [(1+X)( 1) - (1—X)(1)} 1 )
T (1+%)? = )2 (1 +%)°
1+x
= 1 -2 _(1+x 2 _ 1
JA+x2—(1-x? @+%2 7 N @+x? T Ax@Q+x)
1+x

er.&m. 8.67:y= tan* (€") srasflev Y srrasors.
Siay  y=tan 1 (€. u= e eram @S5 y = tan L (U) @i,

dy du 1 d(e e
Fa&e0 NG iLig y = aﬁ ax S 1+ 2 ox = Ty &
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uuflm&l 8.8

GLDGHTEILD FITITLFHEGST cUHBGHO)HLPSHBEIT &HITEHT 5
. 1(1-=X 1, X2
(1) sn 1(1”) (2) cot ™t (&)

(3) tant (log X) (4) y = tan™* (cotx) + cot™* (tanx)

8.4.3 nLsms e umssGsuws srewred (Logarithmic differentiation)
y=u", @)@ U op miLd V 9 GNIGST X-G5T FITITL|SH6IT 6T6sfleh
X-gor1 QT midg Y-8 euenHuil_enevd FHmessrGLimLb.

v
y= uv_g/) y= eIog u¥_ Mogu GTQT GT(LDS (LpLg-LyLD.
QIQUITAp S Y TSI FTTLNGT FITITL] EOLOLIGHLISF FITITHSHSBTGLD.

/= eMogu d(vlog u)

erarGau y

dx
1 /7 4 V4 V4
= gVlogu [v.au +Iogu.v} =u"[\—lju +v Iogu}
=w' " tu'+uw (logu) V. .. (27)
wrPY P

y=u’ B)LDEpLD LoL_G6n% 6T(H:%
logy =logu¥ = logy = vlogu
Xeots Quim mid &1 )HLDEAPLD cuenSHud_
1dy
y dx

% =y(\—du’+v’logu) =u’ Gju’ﬂ/logu)

1
=Vy u +Vvlogu

or.&m. 8.68. y = X%, (00 QLouiQuwicss)es auewnHSCSHLp HTawTS.

Siey . y =x*,y=u" erapiib aug upBe o ciran g
(OIS u=x,v=a
u=1v=0
starGau (27)-6ir Litg., y=oax* 1. 1+x*. (logx) .0
=ox*" 1 (cu=xv=a,v'=0)
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@ouy : erom. 8.74:8mba X e UHHHOHLY = "~ 1 TG ThD
QULow1GWIGH NS@LD CIOUNUITEST &I GTETLIGHS [HIL_LILDTSHS HeuasIGLITLOT .
er.&m. 8.69: Xeors Glimmid % x>t UMEHOVFH(LD HITEVT 5.
Sy 1y =X eretna @i U=x;v=sinx ; u'=1; v'=cosx.

. d _ . .

orenQou (27)abr Lig, Y =& =sinx. x¥™ "1 1+ x3™ (log x) cosx
inx (SINX
= ™ (7 + cosx (log x)) .

g1 x))[x + 2

er.&m. 8.70: cuensL1Libd &%
C(x+3)4x-1

Sitey _gl—xmzx +2
. - 6T60l S
o y (x+3)/x-1

BBLDApLD 1oL 6T(B1%S,
logy = log (1 - x) X2+ 2 —Iog(x+3)\/le
= log (1 - X) +% log (X + 2) — log (x+3)—%|og (x—1).
X-gol'1 Q\Lim mid &1 cuenHuL_

ldy -1 2x 1 1 1
Yy dX T 1-x o oppd+2) X*t3 2 7x-1
_ L1 L L
- x2+2 2 "x-1
. QY X
_y[x+2 2(x 1) x+3}
_(1-x x+2[ X B 1}
T (x+3)x-1 [E+2 2(X—1) x+3
uuilm & 8.9
X@U QUIQISS SPSHSTERILD FMiLEm6T 6UemSHulBHE
1) 2 @ x° (3) XA (4) sinx S™
-1
—1.,logx sin” " fx_"'zum@
(5) (tanx) (6) (log X) ( \/m) (x—7)
8 @+ 2x+ )V (9)%%l (20) x 3™+ (sin X
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8.4.4 ygluii_ed oo apod UMSECSHWS &MTEIS6D
(Method of substitution):

fov  Cprhusefley AFGuiied @wpewp UHHUIL_06V  GTENBTHEGHLD.
GLpSHTERID 6T(HSHISHHTL_(B) @)LDLPeHMENILI X6 G LD.

67.8m. 8.71  GLpsHmeid FITiTLHeN6T UeHSHSQFHLpS: FHT6TT 5.

(i) (ax+h)" (ii) log (ax + b)"
2
mngn4l?; mom§1i;; (v) sin? (ax + b)

Bisy: ()y=(ax+b)"
u=ax+berens Iy HuI@s. 9esr y = u".

QLIGuUTE Y gyer s Ueweurls QuUITmigs Faiy whmib U e X-goLs

QuITmISS Friry. Fh&led Gy,
r — gx @ — n-1 ﬂax—-'-bl
Y =du-ax =™ Tk
=n(@x+b" La=na(ax+b" L

(i) y=log(ax+b)"erers.  ax+b=uerenss LT G

na

19asr (1)6b 2 6rargy Crimev G, y':m .

T ¢
(iii) y=sn 1122

X=tand erewcs (Ny&ufe_, 6 = tan 2x .

. 1 _2tand L1, . 2tan 6
L y=sn 1i2 =sint (sin 26) (-:smzeziz)
1+ tan“d 1+tan“d
=20 (- sint(sin0) = 0)
= 2tan tx.
Ay, d
Sdx T 2.y (tan X)_1+x2'
: 4 1%
(iv) y:cos1 1+))((2 GTGHT & .

X = tand erert’s Ly Gui®Bs.

2 2
1 .. 1-x 1-tan“0

6 =tan “x = = c0s20
LoD DI 1+x%  1+tan’0
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Ly = cos ™t (cos20) = 20 = 2 tan x
dy _, 1 _ 2
N A

(V) y=sin® (ax+b)

ax+b=u wpoub v = SnU erers IySui@ps.

1961 y:\/z,v:sinuLog'ggyLb u=ax+h.
e1arGou FhGe0 NG iLig

dy_dy dv du _
dx=dv ‘du -dx -2V.cosu.a
= 2asnu.cosu =asin2u=asin 2 (ax + b).
er.&m. 8.72.
N 3 i1y el (243 (3=
aemaud®s (i) in (3x—4x°) (i) cos — (4x° — 3x) (iii) tan T a2/
Srey
(i) y = sn L (3x—4X0) ereirs.

X = 8N 0 ererts LGS, 0 = sinx.

@uieurapsy = sin L (3sind — 4 sin’6)
= sin1(sin30) =30 =3sin"x (- sin30 =3sin 0 — 4sin°0)

dy_, 1 __3
dx = 1o2 T Af1-x2
(ii) y = cos (43— 3%) ereiras

X = C0S 0 ettt LNgGui_, 6 = cos 1 x.

y = cost (4 cos®0 — 3 cos 0)
=cost (cos36) (.. cos36 = 4c0s%0 - 3 cos 0)

=30 =3cos x.
Jdy 3
©odx 12
3
(iii) y = tan! G’X_ Szzj ———
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X = tand erirss. eremGoy O = tan X .
3
y=tant (wj = tan* (tan30) = 30 = 3 tan x.
1- 3tan“6
dy __3
T T4
Ll e 8.10

unsSUBHS

(1) cos™ '\/1+COSX (2 sin \/1 %OSZX 3 tan \[1+§osx

(4) tan Y OXHS g1 VEERES! (6) tan L 1+
1_

COSX — Sinx X

(7)tan,13[x+3[a ®) tan,13[1+x—3[1—x
1

—+Jax T+x+41-x
(9)cot™ \/l+sinx+\/l—sin x}
\/1+sinx—\/1—sin X

(QHs Sin?x/2+c0s?X/2=1; SINX=2 Sin X/2 COS X/2 srard; Qarairs.)

8.4.5 gimemrwe &G FmiiLEafler s 6lsup
(Differentiation of parametric functions)
X, Y et@ib @rer(®h) orPlser epsstpmeng omp) t-eir FiLjsenTS
@)pLIGHT, X, Y GTGHTLIGHG SHIHERTIICVGE FITITLIHGT TTLILI(BILD.
x=1(t), y = o(t) eresricer gyewemsrwiev@d FLoGTLITHSET. T Hienewriwicv.
t-6ir 2 wireuTHw AtdG @)evewTims X, Yohseamer o wirevar AX, Ay erestGLimib.
eTarGau X+ AX = f(t + At) and y + Ay = g(t + At)
Lo miLb AX = f(t + At) — f(t), Ay =g(t+ At) — g(t).

(] amom (@

dy lim Ay lim At) | At—>0Ax  \dt

“dX TAX—>0 AX  AX—0 AX) |~ lim  Ax _(d_x) ---(28)
(At) At— 0 At dt

@i S 204650 = fL+A) 5 > At > 0 ereemss
F6GHGBGYLD.

er.&m. 8.73. X=a cos3t, y=a SNt srefled % BTG 5.
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Siey 1 X = acos’, y= asin’t.
QUIGLITLp S d—)t( = —3acostsint and %¥ = 3asin’t cost .
i 2
) dy dt  3asin“tcost _ sint _
ere1Qar (28)-651 Lig dx_%( = T aco@isnt | cost = — tant.
: - Sy
er.&m. 874 x=a (0 +sin),y=a(l-cos) erafled G, srewTs.
. ax d .
Sirey d—e=a(l+cose) ag=a(0+sm6)
Qx) 0 0
dy _(de __asing _Zsmzcosz 9
tdx T dX\ Ta(l+cosh) p Ny
do ZcosL2
uuilm& 8.11

X, YyFlwer gienentuicv&ler oar 15 LenenTSHLil L FLOGTLIT(HFET

d
eT651l6) (SIemewT IV [6SHHTLOGY) aﬁ—%é; STCTT S,

()x=acosb,y=bsinod (2)x=at2, y = 2at
(3)x=asec®, y=btan’0 (4)X=4t,y:%1r

(5)x=2cos6-cos20,y=2sn0—sin 20

_ Q) o 3t 3t
(6)x—a(cose+logtan2 ,y=asno (7)x—1+t3,y_ 140

8.4.6 o Lu® &Frmirys6fleT auemss01% s & menred
(Differentiation of implicit functions):

X, Yy eraruer f(X, y) = 0 erétip  sFoeTuml g6 aug ais G
ewewrdalii’ 19 kg QUbsF  FLOTUTL TaTdl Y-4& eTefleniowimet
peopuiled Sriey Fmewt @uicomoeSl(BLILIGHT Y-g0 X-65T o1 1i(R) FAITL| GTGTLIT.
Y yerg Xetr Fmiuns OGeueflliieoL wirs STliig et Y yersl X6
Qeueflii®) FmirLy oTerd Fapli@ib. Y yeTgl X6 o1 1) FTTLTS
Q)pLleT i 9zer Y-$&d Srel_moCeGuw syl GTL_rreni

d
UenHUIN BB eLpeULD &—g}a’s FTTLIE FTSSUWILDTOTEHTGLD. HLpSHHTeLD
T(BhS SIHTL_HSHeet eLpevid @)sever ailens@GaLb.
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or.&m. 8.75. X + 8xy + y3 = 6 eraybCLim & % FHITGOT 5.
Srey <+ 8xy + y3 =64 pLEGG STLILIL (HETET %),
XeoL's QLT pid S GYBLDUPLD QUHHLILIBSS,
2 dy dy _
3x +8[xdx+y. 1} +3y° 5 =0
3x2+8y+8x%¥ +3y2$ =0
(3% + 8y) + (8x + 3y2)% =0

dy _ cdy (38
Bx+3y)) g = - (3¢+8y) g =- Y

er.&m. 8.76: tan (X +Yy) + tan (X - Y) = 1 erewr @)1 edr % FHITGTST 5.

Sy tan (x +y) +tan (X —Y) = 1 erer Sy 19 (S S
Xeot't Qi mid HI @)BLDAPLD euensud_,

sec?(X +Y) (1+%) +sec? (X - Y) (1—%@ =0
[sec? (x-+y) + sec?(x — y)] + [sec2(x+ ) — e (x— )] & =0
[sec?(x +y) - sec?(x~ )] B = - [sec? (x-+ ) + sec2(x - )]

Cdy _ sec’(x+y) +sec’(x—y) _seci(x+y) +sec’(x—Y)
O T sec?(x+y) —seck(x—y) | sec?(x—y) - sec’(x+Y)

er.&m. 8.77: xy + X6 Y + y&' = X% srarfled % BTG .

Siray  xy+xe Y +ye= X BLOG@ STLILIL 1§ (KSEHD Bl
Xeot's QT mid HI @)BLDAPLD euensudl_,
x%ﬁ +yl+xe Y (—%} +eY . 1+ye+ef % = 2X

(y+e Y +ye +(x—xe_y+ex)% = 2X
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(yex+y+e_y—2x)+(ex—xe_y+x)% =0
(€ -xe Y +X) gx =—(ye'+y+e¥-2x)

gy =_(yex+y+e‘y—2x) =(yex+y+e‘y_zx)
.~dX (eX_Xe_y+X) - (Xe—y_ex_x)

LufH & 8.12

d
SPEHT@YD 2 L LB FTILSEES S a)y( & IT6T0T 5.

M § - =1 (@y=xsny (@)x*+y* =425

(@] ytanx—yzcosx+2x:0 (5)(l+y2)51ecx—ycotx+1:x2

(6) 2y2+#+tan2x+siny=o (N xy=tan(y) (8) X"y = (x+y)™* "

9) +e&=g"Y (10) xy = 100 (X +Y) (11) ¥ =y

(12) @ + by + 200+ 2y + 20y + C = 0 ara, G + o Byt =0

GTGTHSHTL_(hl.

8.4.7 e wireuens euewass6awssear (Higher order derivatives) :

y =1(X) e g Xeor't Qi mis g euevFHu_ggHds FTTLTS Q) HFHFH_(BLb.
@)s6iT auen 550\ LpeuTHIIW

dy lim  f(x+ Ax) — f(x)
AX

dX ~ Ax— 0 @ Y = f(X)eir @wpsed auflens auenssG)HLp

6TG eOLpSHSLILIBILD. Xeod FTThE (Lpsed auflevns auensd; OaHepaumGu %)
UHUIN_G555HTHEUT 9606V L UHUIL_SBHTSHTHECUT  (Q)(IhIHBEUITLD.

/ . Cddyy lim fx+Ax) -
f(X) eaewsui_ 55456856060 dx (dx) = Ax— 0 A oy
y = Xt Xeots Quimmuss @uess_mib  euflens  euenssGlHLp  eTerr

d
QLS HLILIRFD S (3) S d_)z(g 6TaT &GDIGHLILINGD H.
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Yo , d?

Q7 GPI@seTTGL Y, Y, Y  Sebevg Dzy D)k, D? = d_X2
GTGHTLIGHTGY LD @)gedsi_mib aufens UHEHSHO)FH(LPSHHEGT G
LweTLRSSLILGFSTDET. ) HCLmevCar Y = f(X)sr epsirmmib cuflens auenss;

dy _d (o) _ lim fx+ax) - 1X)
a3 A (g " Ax—>0 AX

Q&Lpeme

6TGT GUGH[TUI M| FHFHEVITLD.
Q)i f”(X) UDSUIL_GHSSHBTUN BB CeuesT(HLD 6T6HTLI &I euGFNLILD.

CoGevs  Glemerarg Gume  Ya, yW, Y ebevgy D3y Cuimesrp
SBOEIau) eLPGSTDITLD curflena U HEHO)FH(LpeHaUT; G eIV
LIIGT LIRS SLILIHS)GST D GT.

er.&m. 8.78. y = X2 srasfleb V3 HITCOTS.

d d
Siey Y1 = dx ~dx (X2)=2X

d g(d_zy

d
dxzj ~ dx @=0.
er.&m. 8.79:

y = A coAx + B sin 4x, A wpmib B erestes wmpfledser, eresfley
Yo + 16y = 0 e1e574 &L (.

Sirey
dy in %)’ -
Y1 = gx = (AcosAx+Bsindx) =-4A sindx + 4B cos 4x
_dy _g(gy)
Y2—dX2 ~ dx \dx
=%((—4Asin4x+4Bcos4x)

= - 16 A cos4x—16 B sin 4x
= — 16 (A cosAx + B sin 4x) = — 16y
S Yo+16y =0
e7.5m.8.80: log (logx) eretrm Fririfesr @uessii_mib cuflens euensdGlapenald;
FH68T (HILIILg & SHeYLD.
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Sy 1 y=log (logx) ereirs.
' _ dy__1 d(ogx __1 1
Fh&led) NG ing. gy = logx = dx T logx * X

1 _
= Xlogx =(xlogx) L
dy gy _dedoan (o2 dlxiony
B _dxldx) T dx =— (xlogx) ax
1 [ 1 J 1 + logx
=5 | X.g+I A =- :
(x log X)? XoxTiogx (x logx)?

er.&m. 8.81: y =log (COSX) eraafled Yo Sater(hLilig SsayLd.
y = log (CosX) sy g m$Em G.

Sirey
d[log (cosx)] 1 d(cosx) . .
1= dx “cox | dx  SEIed Bl
__1 A=
= Cosx . (- sinx) = — tanx
dy;  d(=tanx) 5
Yo="gx = dx = —SeCcX
_d0n)  desec™ ) d (secx
Y3=7dx T dx =T ESECX. T
= — 2'seCX . SecX . tanx = — 2 sec?X tanx.
2
er.&m. 8.82: y=e™sinbx m@ﬁﬁ@bg_xg —Za.% +(a2+b2)y=067m Bl miays.

Sy 1 y=e™snbx syl g wmsGn .

% = e bcosbx +ae®™sinbx

= e® (b cosbx + a sin bx)

3—ng =%( {eax(bcosbx+asin bx)}

= eax{—bzsin bx+abcosbx}+(bcosbx+asin bx)a e

= — b sinbx) + a be™ cosbx + a.e™(b cos bx + a sin bx)
=-by+a (%—aeaxsjnbx) +ag¥
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d d
= p? y+a(a§—a.y) +aa§

d
= 2a a¥ - (a2+b2)y

d d
e16rGay, d_)z(g —2aa¥+ (a2+ b2)y:O.
er.&m. 8.83: y=sin (ax+ b) m@zrﬂsby3=a33in(ax+b+3—2n) e16o1 16 MIGy .
Sirey y = sin (ax + b) erar Gsrers.

y, = acos (ax + b) :asin(ax+b+g)

y. :azcos(ax+b+g) :azsin(ax+b+g+g) :azsin(ax+b+2.%)

Y3 = a3cos(ax+ b+2 %): a’sin (ax+ b+ 2.%%) =a’sin (ax+ b+ 3%)
er.&m. 8.84: y=cos(m sin‘lx) erafled (1- x2)y3—3xy2 + (m2 = 1)y,= 0 erar flmyoys.
Siey :y=cos(m sin’lx) BLOG@ STLILIL 1§ (BSED B).

_ . ) m
yl——Sln(msm X)\/TXZ

yl2 = Sil"l2 (mSin_1X) (lr_nzxz)

QGO mHH (- x2)y12 = mPsin? (msin~ 1x) =P [1 — cos? (m snt x)]
aigraig, (LX) yy? =P (1-y)),
dy d
18&8sT(HLb auewasui_, (1 — x2)2y1 d_Xl + y12 (-2x) = e (— 2y &)
(1- X2) 2y,Y, — 2Xy12 = - 2m2yy1

1)y, xy; = -y
LBGBT(HILD G(HULPEOM UHHUINL_,

dy. dy
(1—x2)d—X2 +y2(—2x)—[x.d—xl+yl_1} = _mZ%
(l—x2)y3—2xy2_xy2_y1: —mzyl
(1_X2)y3_3XYQ+(m2—1)y1= 0.
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D

)
©)

(4)

©®)

(6)
()

®)
9)

(10)

uuilm&l 8.13
dy
ax?

&y

o3 ify= X2 + COtX srraiors.

if y:x3+ tan X sresrs.

@)resri_mib euflensF eSS0\ HAPSEHET HTCHTS.

(i) X%+ 6x + 5 (i) x sinx (iii) cot 2x .
eLPGSTDITLD Gurflem s mm&é@a@&k&eﬁ SHITGIOT S,
(i) €™+ x3 (ii) X Cos X .

y =500 e’ + 6006 ™ eralst 3—3 = 49 erard 1L B,
=
y= e X raed a+ X2) Yo + (2X = 1)y, = O erar 5 myays.
L +
x+a)® (x-a)°

y=log (x2—a2) 676?57C761')y3=2|: } 6T Bl &Y.

x=gint; y=sn pt eresfled (1—x2)3—)2(% —xg¥+ pzyZOGTGZiTéfE STl (HS.
x=a(cosO + 0 sn o) srasfleb y=a(sin 6 — 6 cos 0),

dy
ao =

o2 sec®0 srews ST _(H.

y= (X3— 1) eresfleb x2y3—2xy2 + 2y, = 0 erar Bl mieys.
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10.
11.
12.
13.
14.
15.

16.

17.

18.

Y

UMS S 05 &S afleir LiL lpuied

&Ly

k; (k wmailes)
kf(x)

uztv

Up+Uy+ ...+ Uy
u.v

up.us...u,

x"(neR)

logx

logex
sinx
COS X
tanx
cotx
SECX

COSeC X

sin"x
COS "X

tan X

UM 61 (1P

(k)'=0

(Kf(x))” = kf (x)

(uiv)'= u'+v’

(Ut Uy + .Uy =u v uy+ o +u

(uv)’= uv’+wu’

/7 4 7’

!UW u \'
- +—
uv u \%

4 4 /
(UpUy . Uy) =Ug UoUg. Uy +UU, . U
/

+ ...+ uu,...u n

n—lu
’ ’ ’/

(Upu,..ul) up U, up,
172 n 2 2

Up.U, ..Uy, up U,
x")’=nx""1

e

x 7_ loga

(log,") =%

1

’
(logg) =3,

(snx) ’= cosx
(cosx) = —sin x
(tanx)’= sec?x
(cotx) = — cosecx
(secx) "= sec x . tan x
(cosec x) = — cosec X . cot X

(sin~x) =
1-x2

’ -1
(cos'lx) =T
\1-x

(tan"1x) "=

1+x2
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FTiLy Um0 (1P

’ 1
19. cotXx cot )= —
( ) 1+ x2

1

20. seC X (secix) =—F—
x\/ x2—1

’ 1

21.  cosec x (cosec‘lx) =
x\/ x2 -1

u W) vu'—uy
- (@) -
23. & (&) "= €
24. u’ W) =w¥~L u’+u" (loguyv’
25. a* (@)= a*(log a)
5 y=f)| dy _ 1
® x=¢(y) (fer @piromgy)] dx = dx -
dy
d d du
27, y=f(u),u=o (X S q o a
y =f(u)
_ dy _dy du dt
8. U= g(t)} dx ~du X dt X dx -
t=h(x)
dy
2 Y790) dy _dt_y'(
) x =f(t) dx ~dx ~ X’(t)
dt
d f1 (xy)
30. f(x,y) =k & = 00y 200 =0
GOl . Cuwle 2_drer 1 gpged 25euengwmer eumiiLimrBSafled
(.)'= ﬂdx_)- sTTLenG GC&SMBg G mers.
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9. Gl memasuilL 6
(Integral Calculus)
9.1 yflupsib .
IS HelBLoTT S (LpHFWTS  eurg euwedled erp&letrm  LedTeu(HLD
@)resT(h) L7 &FenaTaHenern 9y TUISeTH S,
(i) cuewereuewguilstr QBTHCHTL 19681 FTUINewerTd: HTEIBD. ()
QUGCH P [ GBST 56551155 &6V GTGUEHEV SHITGHT 6V aurullevrrs
T TUILILIBFIGSTD S
(il) euemerasmruicsr LIFLILIGT®) FITGYIH6V. [ QFTewS
BT S ISSE0  HODTE  eTebeney  HTewTed  eumuilevTds
T TUILILIBFIGSTD S
Qr@®hisTVwLTS GCgTens meTsadigwrers QBCain FeovFserfed
Qyrmuii’ B eueriFA GQupm eubssl. @hLmib @)Geviisstsiv (Leibnitz)
wHmIb ULt uLhl  eubseuTaet  OBTens  miesTHenlsdGlene,
UFHUIL_GOGST  GTGITLOGOD — (LPe®D — HSLOTHS: — HHFTT.  LomILDLD
9Ty s, WGL_mSHeveiv oPpmib LevT GFTenS HieSTHlSSFmeT 1k
Qar@ssi’ 1 Qevr_Gluefluied en FTTL G aenerauenruleTSLp
2 6T LIFLILIGTEneY LOGIILIBILD (LpeODUITHS: H(HGIGHTIT.
ioub mropresrig et @) miSulls Cogyerer @)hauedsd &b SIHEHLD
FLOLDITGOT S| GTGS HGHSTL_DlbHGUTIT, YBHToULH QUHGTAIHTUNGT LITLIIaTeDaId
F@TL_ Pl 26rer  QUITHUTET  (peopuLd, euensHuill_cdlesr  eT&ITLoenn
wpewmuib eTCmGlwest Blemisamiii’ 1 ).
OgTensuiL_enev  cuenHUIL 06l  GTGHITLOGOD  (LPEODWTH  (LPSH6L
UGG eILD, eueneTalenTuie LITLIIGTEaIS: HTSYID (LPGODILITS @)TeiTL _TLD

LIGEuI eI HressTCLITLD.

+ ) 5 x ), (( ", Q/—) Gumetip  er@iroevp  GlFwisbLpedD
Ceorig sewerts Ly mesr@ oymlbgieTGormid. QCHCLImed euensuil_syiLb,
Qsrensui_aub  Jal_  @eTmSGETETY  er&iTeyp  GFwWeHEpeHD
Caomriquim@gtb. @iigGuied auensuil_adlssr eTGTiveomd GlFwedEpenneniL
U TLILI(BG HICaITLD.
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UDTWEDM

f(X) eradrigy | eretr@m @evr_Gavefluiled euewywimidamiii’ 1 Gpeib
@b FmiL eres. -6 26rer @aiGeuren X-de  F (X)) = f(X) eresfled
F(X)24e.81 T(X)-607 61 HiT060m euenasuf® erevriii(BLp.

i.e. X-go1 Qurmig g F(X)-6r auewaui® f(X) erasflsd F(X) ppema X-gois
QL mig 5 T(X)-6ir QsTensHwTa@Lb.

ie S 109 dx = F(¥)
T(hD HIHHTL L TS,
dgx (sinX) = cosx eresr yWIGaurib

@)aieurmmuilesr, f cosxdx = SINX. @Lb.

d
Grogyb, ax (X5) = 5x* TGS TLIGGO T b &l f5X4 dx = x°
SUM ereitm aurrirdengullelt (Lpged eT(pdHl S yers Gogyid SpLoms
beser(h) ‘f’ 66T g auLd Gumh my CGTensufL B GBlwmuipmi.
gy f(X)-0 Gsrewasd &Fmiy (Integrand) ereweyib dX-60 2 6irer X-g

Qs ren&wmm (Integrator) ereweyib  smmyeui. GlsTensd  HTeEyILD
auflpempuienet CISTHUIL D cTar 9eoLpdGFGSTCHTLD.

Clsrenss smemredler wmafles! (Constant of integration) :
GipdaTemb @)TesT(R) TR HISHTL_(HHeHaTds HITevT .
er.&m. 9.1
%( (2x+5) =2
d
ax () =2
q e = [2dx = 2x+? = 2x+C
w@x-4 =2
d
awd>x-7)=2

‘C yara 5,0, -4 9evevg — N7 Gureim et @B LT IeSIT &6y LD
@)wdsevrid. (b 9.1(a)).
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er.&m. 9.2:
d%(xz"'l) =2X
d%(xz) =2x = [ 2xdx =x2+2=x2+C
d%(x2—4) = 2x

‘C gergy 1,0, — 4. Guretip 616 p(h LOTPleOMITSaYLD (3)(hSHGVITLD.
(b 9.1(b))

'\(ks

) >
] Y YAt
2 A K

yaYyYl
2 4 7
© o J2dx - [ 2xdx

[OLTE ff(X) dx eretip Osmens ey GPILLIL L GgTensHenuw

' Qb GOGHTOD  @n  @PIIL L cuewsulsyeTer  GBmensseretr
QargLiiomerd @BlsGns. F(X)-g Cupsar . Gsr@lilsyerer e

FATLITS 6T(HS 5% OVFHTEHTL_T6H
f f(X) dx = F(X) + C eraw erpgevrmib.
@iig ‘C gyerg Gsrens Frewredsr ompled) eTe 9eoLpdsLIIBED .

Guoguitd ‘C' erattig cph GO 1L ompledwims @evevrioed gCHenitd ek
wrpledlenwd  GPILILIST6D, ff(x) dx-@ eerugseLurmrg (indefinite

integral) @& mens eredTLIT.
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&SSrmis6r

n+1
Jx" dx = 71 *¢ (n=-1)
Jindx =——— -, tc(n=z1]
X (h-1)x"~1

1
f;dx =logx +c

f cosec?X dx =—cotx +c
fseczx dx =tanx +c
[secxtanx dx - =secx +c

f COSeCX cotx dx =— cosecx +cC

J
J

dx =tan"x +c

1+ x2

1 .
> =snt
1-X

X +C

Jetdx =€ +c
X
X —
fa dx = loga +cC
fsinxdx = —COSX +C
fcosx dx =sinx+c
er.&m. 9.3-9.7:
GLpSa et LiaTauNEnD X-g0 Gt IS &1 ClBTenS: &HT6HsT %,
_ 1
@ @x* O
ol 6+1 7
+
X X
(3)fx6dx = 6+1 —7*tc
2+1
. X 1
(4)fx2dx = 551 T x*C¢
1 - 10
(5)J@dx = ['x Wgx
_x Lo+ .
“Z10+1 7 °
1
g dx =—-—3g +¢C
10 %
(@5 Gipssrepid &sETHGmen

CryigwrEeb LGTLIHSHEUTLD)

1
—dx
5

1
—m@/ﬁ/@ n=1]
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1
(6)/x (7)\/;(
6) [\xdx = S x¥2 gx
32
= g2 te
S dx = %Xy2+c
1 1
(7)J\f(dx = fxzdx
X—ZIJ2+1
= T12+1° ¢
(12
= ¥z *¢
f@ dx = 2\x +c



er.&r. 9.8—-9.10: CgTensd HT6wTs .

SinX cotx 1
8 %) o 10) ——
® cos?x Osinx (19 sin®x

rr

ey :
SinX sinx 1
® fcoszxdx - fcosx-cosxdx

ftanxsecxdx = secx+cC

(9) ;%;( dx = Jcosecx cotxdx =-— COSECX +C
(10) j;lzx dx = f cosec?X dx = — Cotx + ¢
uuilm& 9.1
G e LIeTUDeD X-g0 OlLITmId Fi OBTEDHT; BTV 5.
5
(1) ()% W2 N WA e
@ 0% ixt Gy - 0
T
. 1 .., tanx ..., COSX . 1 1
@G Dooseex 1) cosx (|||)m (iv) o (V)§<

9.2 X-6r @ULIp&F FriiLSaflesT FTILUTS MBS CSTeDSHEF
Fritlenears ClFrensuilLe . i.e. ff(ax +b) dx

uensUIL_aVS@Ld O\FTensHuil_es@Hb 2 eirem Q&L T IesTLiLg

10
%( [K%Qm} =(x-a)° = [(x-a%x = ﬁ%)—
3 [sin (x+ K] = cos(x + K = [ cos(x+K) dx = sin(x+K)
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Gugyeirar TS SHI5aTL_HHeflad(Bbg AP  X-21 6T 6Ths &
Lo pledlenutds gt 1g T eILD FHLPlbBTeVID GlFTenguill B eumiiLimL’ 1§60 6Th%
LTHDELPLD THUBe S @)svenev 6TerT MIHCmTLD.

<9 GOTITGV
d i 1
g |:T(elx+m)J = dx+m = [ Mgy -1 o(x+m)
a7 _ _1
dx asm(ax+ b) | = cos (ax + b) :>fcos(ax+ b)dx = a sin(ax + b)

Qb5 TBSSHISHTL_HHafler epevrd BT yBfleugy wrGgefled Lomp)
X2 ot gGseyb ep APled GhsEE eumd eTesfled, g LiienL_
Qamensuil B  eumdiuml el ySSUIIl L rpledwmed  euEd S
Caewaiurest FriLs@u Glgmengsenwls QLIDGUITLD GTGTLIGSTEHLD.

€ [ 1(x) dx = g(X)+C erafieb, [ f(ax+b) dx :;—}1 g(ax +b)+ ¢ @b,

NfleyuPSSLILLL QlpLiLienL. eumiiLm®&er

J(ax + b)"dx = %l [ﬁaXT"Lf);—ﬂ]m (n=—-1)
jax:h-bdx = % log(ax +b) +c

S > *+P gy = %ea’(+b+c

Jsin(ax + b)dx = —%cos(ax+b)+c

J cos (ax + b) dx = ellsin(ax+b)+c

Jsec(ax + b)dx = %ltan (ax+b) +c
fcosecz(ax+b)dx = %cot(ax+b)+c
fcosec(ax+b)cot(ax+b)dx = - a%1cosec(ax+b)+c
fm dx = %tan'l(ax)+c

J ﬁ dx = i sinY(ax) + ¢
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Cuogyeirer  eumdiuimi’ g ewer  LIFGuil_ev  epevptb 2 (KEUTSHHETLD
GTGTLIGGOGT LG GTIT HTBTGLITLD.
er.&m. 9.11 —9.17: GipsaressLicTeunsest Q\STensHd; &Tes 5.
VY 1 1
(11) (3—-4x) (12) 355 (13) (Ix+m)"
(15) sin (Ix+ m) (16) sec? (p-ax (17) cosec (4x + 3) cot (4x + 3)
Srey

a1 J(3-4x)dx

(14) 8~

1y (3-4x°
3 g ¢

(3 - 4x)dx - 2 (3-4x%+c
32
(12) fﬁ( dx = Zlog(3+59+c
1 _ 1 )
[ = 0 [(n— 1) (x+ m)”—l} "e
1 _ 1 1
j(lx+m)”dx - _(l(n—l)) (x+m"~1 e
14 J& Hdx = (%J e ™ic
JEEE _ _% B4y

N——

(15)  fsin(Ix + m) dx (l—l [~ cos(Ix+m)] +c

=

= -7 cos(Ix+m)+c

as) Selp-max = (g M-+

a7 fcosec (4x+3) cot (Ax+3)dx = —%1 cosec (4x+3) + ¢
uuflm& 9.2
O\BTOHS BTG .
@ @)% () (x+3)° (i) Bx+H® (v)(4-3%07 (v) (x+m)?

1 o1 1 : 1 1
@ 0% (“)(x+5)4 (m)(2x+3)5 (IV)(4—5x)7 (V)(aX+b)8

110



L1 1 L1 . 1 1
(3) (I)X+2 (”) 3x+ 2 (”I)ﬂ( (IV) p+qX (V) (S—tX)
(4) (i)sin(x+3) (i) sin (2x + 4) (iii) sin (3—4x)
(iv) cos (4x + 5) (v) cos (5 - 2X)
(5) (i) sec®(2 - X) (ii) cosec®(5 + 2x) (iii) sec? (3 + 4X)
(iv) cose02(7—11x) (V) secz(p - 0x)
(6) ()sec(3+x)tan (3+X) (i) sec (3x + 4) tan (3x + 4)
(iii) sec (4—x) tan (4 — x) (iv) sec (4 — 3x) tan (4 — 3x)
(V) sec (ax + b) tan (ax + b)
(7) (i) cosec (2 - x) cot (2 —X) (i) cosec (4x + 2) cot (4x + 2)
(iii) cosec (3-2x) cot (3 - 2x) (iv) cosec (Ix + m) cot (Ix + m)
(v) cot (s-tx) cosec (s-tx)
®) (i)e> () etd  (i)eXt?2 (v e (v) XD
. 1 . -8 ,: -1 _x
O O oZ e W ars —mo @ @+D® ) E-29" We
.\ tan (3—4x) L1 1
(10) () cos (3= 2) (D) p+ax (1)) fanx+3) sn(@x+3)
1
@iv) (Ix + m)? (v)\[(4 - 5x)
LIGOOTL S5 61T .

Dk eretrugy TCsgu> @@ wrpled erafld [Ki(x) dx =k [f(x) dx
(2) f(X) gD g(X) eTeTLIENEY X-66T &FmiTLyS6iT 6T6vi6D

ST + g00]dx = [f(x) dx + [g(x) dx

er.&m. 9.18 —9.21: GipdaresstLieTeunmest Q)BTensd; &iTess 5.

(18) 10x3—% +\/ﬁ (19)kse(:2(ax+a)—3(4x+5)2 +2sin (7x - 2)

X
>+3
(20) a* + x2 + 10 — cosec 2x cot2x (21)% cos()—5(+7) +—(Ix§ m 2"

Srrey

3 4 2 _ 3. (X (1 __
(18) J(lOX —X5+\/3X—_'_5)dx —10fX dx 4J‘X5+2 _\/3X—+de
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%

W

I\)lO‘I

1 x+5
(o R
W4
*3

\/ 3X+5+c¢C

4>|'—‘

(19) f [k sec? (ax + b) — \3/ (4x + 5)% + 2sin (7x — 2)] dx

2
k J'sec?(ax + b) dx - f(4x+5)3dx + 2fsin(7x - 2) dx

2 +
B

tan (ax + b)
a

1
= K i1

3

K 3 22
3 tan (ax + b)—% (4x + 5) -7 cos(7x—-2)+c
(20) J (a¥+ x®+ 10 - cosec 2x cot2x)dx

= [ adx +fxadx+10fdx — [ cosec 2x cot 2x dx

_a +xa+1 + 10x + SO5EX
“loga " a+1 X 2

1 X Z+3
(21) gcos(5+7) m+e2 dx
feis
fcos( +7)dx +3f|x+mdx + ) e dx

.ﬁsin%&?) +3()Iog(|x+m)+(1/2) 2 7+¢c

gl gl

I
28

X 3 §+ 3
nig+7 +Tlog(lx+m)+2e +cC
uuilm& 9.3
X-a0 QT M1 51 BLpSHFHTET LIGToUDDIGT O)BTen%Hd: &bIT6VT .

m 5
I+ 1 -2(5-2%)

(1) 55 +3(2x+3)* - 6(4-3x)° ) )—:f +
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() 4- +3cos 2x (4) 3e’ - 4sec (4x + 3) tan(4x + 3) + %

X+2
(5) p cosec? (px — q) — 6(1 — x)* + 463~

(6) ﬁ + (10x + 3)° — 3cosec (2x + 3) cot (2x + 3)

. I 2 S
(7) Gsm5x_(px+q)m (8) asec (bx+c)+e|_mx

9) @ —% cos(x—%) +3(§+4)6

NIw

(10) 7sin 5 —83ecz(4—§) +1o(2§x—4) (11) 2C + 36" + €
(12) (ag*-a*+Dp*

9.3 Gl rensui(® HTEID (LPpEDMHSET

OFTEOHUIN_6V FTEOTLIG| 6TTLIG cuenHUiL_enevls CLITET M 9eIeu6Tey
ereflgebon. qp  Frillever  euensuil  GeuatwROoeflsd  9y5mGlsetr mi
NG apeopser  euemHuIL_elled Gt eul’ 1 1omsHeyd  LOHS6)\BeMeuTHeyLD
2 GITETGYT.

Lt f(x+ AX) - f(x)

AX— 0 AX
LweLi®s$S 1(X)-o euewsui_cvmib. TGS SHISHTL 1o |00Xe euemsuli_
CeuetrHGlasfled Croguieirar wpewmullenat LiweTBhSSE) euensui_ @)uieyiLb.
gperred 10gX-g0 Ogrevsui_ @uiig i’ NFpednIGT FewL T ).
eTLILILg Qs TenHui_g OF 1 /B GTGTLI G| Fnl
USHT W MHHLILIL_aI6VEm6V.

eIl  QUEDTWI MISHLILIL L Lpenpullenet

Guogyith FrrLseflest i’ 1 _6v, &LpldHe, OULI(hEH), a&GSHe LoHMmILD
Frries g Fmiry CUITETD FTTL ST 9eOLOLIL|FT auensHulill . Hestldaet
U HUIL_6H LPEODHGIT NI SHHLOT & 2 GITGITGIT. OFTenFHuTL 19 6V
Qg Lt 1 G apevmser Ggafleaurs @eveney. GgTensuili_adlsd cH&Fev
NGuperpser  QUphsCUTH D  eupPlevesr  LweTLI(BSS LI6v
SL_HILILIT(HSHGT 2 GITETET.

Osrensuii_alleb oeter @)FFev NG LpernSFeT LO% (LpSFIIG SBIaILD
UTIbFeaUTEGD.  @eiclFlipempsear Hb%  QI_miseflsy  FApLiiTs
HWTaT 9F% LIHF Caever. OHTensd sTewTeyd@iu LOs oG
BIGTE (LPEOMHET GLDaUIHLOT M)
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(1) eLred g sPssrs 915065 Csransui e

(2 diggluiied epeop

) usdls CsroEui e wemmn

(4) Y@sGsmar upliupwTsS FHSS] CSTOSH ST (LPEOD
Guoguisirer (wpgeb eLpatt mi (Lpewmulienast Lo’ (Hib @)k FHGLITLD.

931 &LL6d YdG SYPlSSeD sriysarrs LKMg0lswsl CFramss
& ITETTED

Q&TRSSLILIGD OFTensd FmiemL Feov Corhisefsy GlHTensuil_cd
eumilium g evet  Crriguwrsls LweTU®RSS OBTens FTewT @UIVT ).
YT @BeaT il 60 gl HlGs0 FTiLysenTs LIMNSCH1pS
QaTenHui_a)%h@& TaIuTS  TDPWwsS S5 — OGTensd  HTERTeVTLD.
T(hS HISHHTL L _TH
¥obx+1l .5 €+1
T , SINTX, eX
Friyasener  GBrguims eumiinim g6t epeotb  OQETensuii_  @UIeVT .
@pever Gopapleut ni LI9INGOEwpG) C\FTens: FHTewTevTLD.

S . 2
1+ x2) , Sin 5x cos2x, , (tanx + cotx)” Guimesrp

67.&m. 9.22 - Osrend FHTessws
3
(22) f (1+x%) dx = [ (1+3+3x*+x8)dx

_ L 3¢ X
= X+t Fg+C

;
3 X
X+X3+§ X5+7 + C

23 sin5x cos 2x dx 1 sin (5x + 2x) + sin (5x — 2x)| dx
2

[- 2sin A cosB =sin (A+B) + sin(A — B)]

| [sin7x + sin3] dx

NI NI

— COS/X  COS3X
—7 ~ 3 |*¢C
1 [cos/x cos3X

2177 *tT3|*¢

f Sin5x cos 2x dx
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(24)

(25) f cos’x dx

(26) J% dx

x2—5x+1d
—X X

(27) f (tanx + cotx) Zdx

@8 |

1 + cosx

J -2 Y= [ (x-5+Dax

X

I
<, ;x
ol
<
|
ol
—
o
<
+
—
|
o
<

—5x+logx+c

~ [3cosx + cos 3x] dx

;
[3fcosx dx+fcosSx dx]
PREE I

( 1) dx—fldx+fe dx

>< H e e | ,\,|

= f (tanzx + 2tanx cotx + cotzx) dx
= f [(%czx - 1) + 2 + (cosec® — 1)] dx

= f (seczx + coseczx) dx

= tanx+ (- cotx) + ¢
= tanx-—cotx+c

(1 - cox)

(

1+ cosx) (1 — cosx)

1 — cosx 1 — cosx
—= dx dx
J 1- 0052 X f Si n2x

1 COsX

J[m - szx} dx = f [cosec X — COSECX cotx] dx
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@PLY : LoTDp) PO

f cosec?x dx — f COSECX Cotx dx

— cotx — (— cosec X) + ¢
COSEC X — COtX + C

X
tan5
1 _ 1 _1 ox 172 X
f1+cosxdx‘ de—2 sec 2dx—2 1 ftc=tanstc
2 cos5 5
2 2
25n’5
1-cos
(29) 1+—(m)((dx = < dX = j tanzi dx
200325
X
- [(w3-1)d 2
—fsec 5~ X = 1 -X+cC
2
= 2tan)—2(—x+c 0]
LTHmI LpedD !
1—cosxd (1—cosx) (1—cos><)d
1+ cosx (1+ cosx) (1 — cosx) X

(- cos>Q2 1 — 2c0sx + CoS>X
dx = > dx
1 — cos

sin“x
1 2 cosX 0O
o - .o Tt o |
Sin“X  sin“X  Sin“X

f (coseczx — 2cosecx cot X + cotzx) dx

f [coseczx — 2c0secx cotx + (cosec?x — 1)] dx

f [2 COSec?X — 2 COSEC X COtX — 1] dx
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2 Jeosec? dx— 2 fcosec x cotx dx — | dx

—2cotx—2(-cosecx) —x+c

1 - cosx

1+cosx X = 2cosecx—2cotx—Xx+cC ... (i)

&y (i), (i) Qb 2 tan% — X+ C1b 2 COSEC X — 2 COtX — X + C-1b

SMCsrewrfG NGSLILIG FLOLD 6TGI S FHTGSTGUITLD.

(30) J/1T+sin2xdx

f \/(COSZX +5n’X) + (2 sinx cosx) dx

f \/ (cosx + sinx) 2 dx =f(cosx+sinx) dx

[sinx—cosx] + ¢
3 3 3
X +2 X’—1+43 x-1 3
(31) Jx_ldx = J 1 dx = j(x—ler—ljdX
C (Tx=1 064 +x+1) _3 J
B f[ x—1 R

f(x2+x+1+i)dx
Xx-1

3
% +§ +x+3log(x—1)+c

.2
(32) f COS2X cos?X — sin’x "

sin®x coszx sin®x cos?x

( cos?x ~ sin® jdx
sin?x cos?  sin®x cosx

[ (s o)

f (coseczx - seczx) dx

— cotx —tanx + ¢
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@ [T e = [F e [ e
182 oS-z

_ -2 )
~ log2 -2.7,
2

£ o X —— X
_I0933 _Iogzz +e

+C

34) [ 192 Kax = [ do9? @ = [2eox

2¢)*
f(2e)xdx = IX(E)ZE +c

(35) dx B \X+3+x—4 dx
j\/m—\/ -4 {x+3-~x-4} {|x+3+/x-4}
_ fﬂx+3+ﬂx & _J)[X+3+3ZX— q
= ) x+3)-(x-2) 7 X
= ? f[(x+3)ﬂ2 + (X—4):U2] dx
. dx _ 172 32,2 3
fvm-m = 7 [Fec 9™+ S 9% e

(36) S(x-DVx+1ldx = [{(x+1)-2}(x+1) dx
=[x+ 1¥2- 20+ 1)V dx
= %(x+1)5/2—2.%(x+1)3/2+c
Joe-nDFl o = 2 x+D¥2 -5 x+1)32 4
@7 J(x+a)\Bx+T7dx =  [{(3x+7)—3}\[3x+ 7 dx

= [(Bx+7)\Bx+7-33x+7) dx
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9
(373 f D x+22 &

OSTeOHS SHTCTST S

= S(ex+7¥2-33x+ 7)) dx

_ 1 Ex+7n*?
- 3 5/2

3.3 T g2 *¢

2 2
= 1 x+7%2-5 x+ 7+

A B

T 12 (a2

d LGS LSletresthisern s
X 90g 10p B

:f[xil_xiz_(xfz)z} ax

=log (x—1) —log (x+2)+(XT32) +cC

uuflm & 9.4

(1) (2x-5)(36+4%) (2) (1 + x3)2

4 2
X —X"+2
@ x+1

(7) s N%3x + 4cos 4x
1
1 - cosx

1
(13 sin®x cos’x
(16) cos3x cosx
1 + cos2x
sin2x
X+ 1 3X -1
6X

o ()

(10)

(19)

(22)

2
O

(8 C0S>2X — Sinéx

(11) /1 - sin2x

sin®
1 + cosx

(14)
(17) cos2x sindx

(20) (&* - 1)%e

(23) &1093gx

X+ M3+ 2

@3

e+ g X4 2

3

1
(9)1+sinx

(12) /1 + cos2x

(15) sin7x cosbx

(18) sin10x sin2x
1 - sinx
1+ snx

(21)
x+1_bx71

@4

(26) sinmx cosnx (m>n) (27) cos px cosgx (p > Q)
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(28) cos?5xsnl0x  (29) \/ﬁ (30) NERY: f Jacre
(Bl) (x+D~x+3) (32) (x—4)\x+7 (33) (2x+ 1)\[2x + 3

X+ 1 X +1
G) x+xry (X—2) (x+2) (0 +9)

9.3.2 KlgFluil_ed yvvg LFlSILed perpuiled ClFTensds &mewre

oo Fowmiselley QsT@RSSLILL BHeter Qsmevad #miy 1(X), Csrams
FTaTUSHCFHNL  gewiowimiosd @pdserid. 9Cs CrrsbFley Gprensd
gy 1(X)-2 &8s GGl eped OsmewsulBeusHCHnL
orHpliuenod & C\BTensd: HTewT ()i gviLb.

Fu) = f f(u) du, erewr TS HySG S TGTTL 6D
dF(u)
Lip& au = fU) e

u=¢ (X) ereiras.  L9asr % =¢'(X)

Guoguih =
= () ¢'(x)
e B - e
= F(u) = fT16 (9] ¢'(x) dx
Sfwdu = [T[60] ¢'(x) dx

S 16 (919" (9 dx = [T(u) du

Cuopaessr . wpevpevw FpLiims  ewawrer CouarHOIoelled  H@hs
g@ui_emevd  CapOISHLILGOSTET  26Terg.  IFGuied  Hev
Cryhusaflsy X = O(U) eremrayd yevevg U = g(X) erewrayd Caiiey G&Fuised
Couessrig ufl(md@LD.
er.&m. 9.38 —9.41: Qzrewsd ST,

38) [ 5 (39) f%( dx (40)j 1_ = ox (41 j 1

1 1+X2
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(38), (39) & psed Qup sewrs@GHaHemer U = ¢(X) erarayb (40), (41)
& Qn FewmdGamear X = OU) eremayd NTHuI B OCBTenss

FHTerGLIMTLD..

5
(39) | = [ 54X orains.
x° = U erat &, ()
5x* dx = du .. (ii)

Qsrensomy) X-gpers U945 ySui Ci’ ® wropliu’ | germed
Q@rensd FIrL) Lppausitb U epeviors orhplientogged Gouetsr(hLb.

f ( eXS) (5X4 dX) GTGHTLIGHGHGT

f e du erew > QUimSCmih.
(1), (i1)-g2 LweirLIBSHS)

= e'+c
5
= & +c (Qsr@S gieirarLig G X-6b 6T(Lps
U= Xsramt’ L7 Buf_eyLb)
COSX
(39) I T+ sinx dx eretras
(1 +sinx) = Uererts g&ui_, ()]
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(79) wpsev (82) auewy odrar T(SgZGSTL BFafed, $55 LITHui e
epevth  QETRSSLILL L GgTensd Frilewear UGE  Olsmensui_ch
GsGTEoe  LweTL@SSTY  wrpp)  Seowss  Opmes
SHITESTLILIL (BT ).

2
(79) J 3 dx
2
Let | = f xe< dx

X2 =t erevrs.

so2xdx = dt

dt

dx = %
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_lfxzt 1 t u=t dv=edt
=3 [Xdd =5 foEwm du=dt v=é

LGEHS Osmensulil_edlet HHSFTSmBL1 LeTLI(HSS
(tet - f e dt)

(te—e+c) = :_2L ( NN c)

R NI NI

- e dx = > (xzex2 - exz) +c
(80) f e\/;( dx

I = f e\/;( dx erebrs.

\/;( =t ereorls y&ul_,
x =t2 = dx=2tdt

| = f & 2tt
- t
=2/ ust dv=eadt
LSS Qpresul_s GsErsmsls LusTL@SS  du=dt v =€
I = Z(tet—fetdt)
= 2(tet—et) +cC
X X
fe\/;(dx = 2( xe\/—— \f) +cC
(- t=4%)

. 1
@) j xsinx

\/1—x2

xsin Ix
| = —de GTGOT .
1-X
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SN X = t ereue Ar@uf_ = X =sint

1
1—x2

dx = dt

dx =\/1-x° dt
_ t 12
I_JX\/TXZ.( 1 th)

= [xtat

= [(sint) (t) ot

I = f(t) (sintdt) dv = sintdt
u=t V = — cost

UGBS Clgrensuill_efer @&SF TSI LILIGHTLI(HdS du = dt

= t (- cost) - f(— cost) dt
= —tcost + fcost dt

= —tcost+sint+c

| = —(sin_lx) (\ll—xz) + X +C

1 wt=sin X = sint=x

. J—X%T;dxzx—\/rxz sinx+c cost:\/l—sinzt:\/l—x2

1

82) tan_l(l fxxz) dx

X = tano erercs LgyGui_ = dx= sec?0 do

| = ftan_l (ﬁj sec20 do

= [tan ! (tan26) sec?6 do
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= f20 sec® do

=2 J(0) (sec’0 d ) u=0 dv=sec?0 do
. e .. du=do v=tand
LGES Osmensulil_edlest HHSTSemHL1 LeTLI(hSS
©1=2[6tan0 - ftand do]

= 20tanb — 2log secH + ¢

| =2 (tan X) (x) —2log"\/1 + tan0 +c
f ( ) dx = 2xtan x-2 log \/1+x +C

(83), (84) eT@FHsaHTL HoHafleh X651 9BHHG QUETH YBeVTEL
BYpapedn LGHS CgTensuill_6O wpewm LILGTLIRGSLILIL (HETET S,

83) [x%e> dx = (@) (> dx)

LUGSS Ogmensull_cdles u=x2 dv = e¥dx
GSHTHSLI LGHTLIBSS 3
2 o3 du=2xdx v=75
f 26X dx = =3 2xdx
2 3x
=X 2 (0 (™ u=x  dv=eXdx
LBG8sT (HILD 1_/@@5 OgTenHUlL_cOl6T FHSFTHeOBL du = dx V= e_3x
LwiesTLI(hg S 3
23X 3X 3x
23x 4, _X€ 2. €~
fxe dx =73 —3{x.3—J3dx}
23X 3X
:Xg —2X9e +% estX
e 2™ 2 o
=73 79 *a7¢ *¢
23X 3X
2 3X X e 2X 2e
ke 9 to7*C
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(84) f x2cos2X dx = f (x2) (cos2x dx)

LGES g mensuil_cOlesr U=x2 dv= CO§2X dx
bGT S BL 5 ; sin2x
SHBTI@SL LGS du=2xdx V=T,
- o
JxPcos2x dx = xz%( - f%( o dx
sin2x i
=X o - f (X) (sin2x dx)
1Ber (L LIGES CHmeauil_edeT U=x dv = sin2x dx
bGIT HevSHL 5 j _ — COS2X
@SBTS@ LI LILSTLESS du=dx v=—7

f X2co2x dx = X2 S r;Zx - {X(_ C; SZX)—J(_C%SZX dx)}

x2 sin2x  xcos2x 1
= > +—> -7 f cos2x dx

x25in2x xcos2x 1
|=—>2— +—72 — — 7 sn2x+c

1 1 1
. J¥Pcos2x dx =5 xzsin2x+72 X COS2X —Z Sin2x+ ¢

Gipdaeisi_ 6T(hd HiSaHTL_HHafled 26rer GHmenasdFmiL wpg-alledevrs
FLPDO BTG FITITLIFHEGT O)HTEUTL_ ).
er.&m. 9.85—9.87: GipdaressLicvausamar LGB

85) [ e cosxdx (86) J e*sinbxdx (87) J'sec®x dx

Sirey . (85) f e cosxdx = f (€ (cosx dx)

Q)b @)HFTTLHEBD OBTEnSS: HTEwT QUIsYILD FITTLFETTHeVT6D U-go
Carrey GlFdiou s HLo L SHLILILD.

LGES Clgmansui_adler u=e€ dv=cosxdx
&HSBTS®SLI LWGSTLIBSS du=edx V=sin
J & cosxdx = esinx— J sinx e dx
= &sinx— J (@) (sinxdx) ... (1) U= dv= S

du=€‘dx Vv =-cosx
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LBGST(HLD LIGG S OlsTengHuil_eesr
@GS LT LIGSS
f e cosxdx = € sinx —[e?‘ (- cosx) — f( - cosx) (€ dx)}

= & sinx + ecosx — f & cosx dx

ie J & cosxdx = & sinx+ &cosx— e cosxdx ... (2)

fex COSX OX @)pymLpLd Q)BLILIGTED LOTHY) DJeLDG:5
2fexcosxdx = (€ sin x + € cosx)

.'.fexcosxdx =% [€Xsinx + € cosx] + ¢
fe?‘cosxdx :%X (cosx + Sinx) + ¢

86) J ™ sinbxdx = J(sinbx) (6¥dx)
@ FrirLFEHD CFmend Grewt @uisyib iy U= sSinbx
eTarGau U-go b efpliLiiig ey Gedusortp  du = Db cos bx dx
X[ dv=e®dx v=e¥a
Je™sinbxdx = (sinbx) 5~ | (b coshx) dx
1 . b
=3 e™sinbx-3 Jcosbx.. e dx
1Besr (b 11&GGS GCFTewauil_edeT u=cos bx dv=e® dx
GSHTSOSLI LILGTLIRSS du=—b sin bx dx

ax 1 4. b ) (e .
fe sinbxdx =3 €”sinbx-7 | (cosbxX) (|- | 7 (- bsinbxdX)
b

a
2
1 . b .
=5 e™ cosbx—— J €™ sinbxdx
a

2

. 1 . b b .

J € sinbx dx =3 €™ sinbx-— €™ cosbx-=5 S sinbx dx
a a

Lol oL

2
. . 1 .
J & sin bx dx L2 Je*sinbxdx == & sin bx— 3 6™ cos bx
a’ a a’
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ie. [1+%} J € sin bx dx 3

2
(a ;rzb? J ™ sin bx dx

a’ ™
feaxsinbxdx -(mj xZ (asin bx — b cos bx)

F eXdin bx—%eax cosbx}

2

e (a sinbx — b cos bx)
a

ax
- [ e™®snbxdx = || (asinbx—bcosbx)+c
a“+b

€™ cos bx oevevg € Sin bx-g Qorensd FriLTs QsT@HHLILL_ ()
QBBSTVILD, LGHS CFTevsui_me QIBLpemn LweTL®RSGE), L6t
FLOGTUTL oL Hi1d s Hiey sTemisHe Ceuess(BILb.
SH6U6TLD

LGS QsTeansui o &HsHETSSenar LwGTLIRSHIdCLITE U, AV 616D
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Ceavesrpid. OBTL_dss&Hed U, dv Ceomigufenesr ThOSHS FITLFHEHSESHS
Carey QeuiCsmCGm, 9Cs wpewpulilever BSH uBLD LGHS
Qgrevsuiasad Caiay OFdiged Ceusor(id. wrpy) Csiey GlFuiged

Tl T
fexsin XX -2 eT(RS&HI& ©l&mevorL imed Car_&s58 Csia)
Je'sinxdx = - cosx+ J cosx e dx u=e* dv=sinxdx

BT (BHLD LIGHS O TensHui_elesT FHsHSTHens du=e‘dx v=-cosx

R.H.S-6b wompilweniog s LiwsstLi(hss

Je&sinxdx = — &cosx+ fcosx e —fe (-sinx) dx U= COSX dv=€* dx

du=-sinxdx v=€*
S sinxdx = — ecosx + cosx €+ [ sinx dx
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Quueuisd L.HSH oarerenss GumewGes RH.Se &enr dals
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87) f secxdx = f (secx) (seczx dx)

UGBS Csrensuii_aler @&sHGTHmBLI LIWLGTLI(HSS

S sec®dx = secxtan — [(tanx) (sec x tanx dx)  U=SEX s
du=saxtaxdx vAanx

secxtanx—ftanzxsecxdx
=secxtanx—f(sec2x—1)secxdx
=secxtanx—f(secsx—secx)dx
= secxtanx - J secdx + ['secx dx

fsec3xdx =secxtanx—fsec3xdx + log (secx + tan X)

LomHpf) eWLDSS,

2fsec3xdx = sec X tanx + log (secx + tanx)

fsec3x dx =% [secx tanx + log (secx + tanx)] + ¢

uuilm & 9.6
QS TeOHS HITCHS S
(1) xe* (2) x cosx 3) x cosec?X (4) x secx tanx
5) tan~1x (6) x tan’x (7) x cos’X (8) xcos bx cos2x
3x 2:2x 2 1 e X
9 2 10 11 S3 12) (sn”

(9 xe™ (10)x (11) x* cos3x ()(Smx)\/:2
13) 8 (14)tan? G’X__S’;j 15 xsin1d)  (16) cosecx
(17) e™cosbx  (18) € sin 3x (19) € cos 2x (20) e* sin 2x
(21) sec®2x (22) €™ cos 5x sin2x (23) e cos’x
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Srey
dx 1
(®9) jaZ_x2 = Jamare®™
1l (28
T 22 @@+
_ L (a=x+@+x) o
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= 2_a a+x a— x:|dX
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dx
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- [on o a® "z | e aire

1 1 1 q
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%‘ [log (x— a) - log(x + a)]

151



(90) |
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6T60Th.
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dx = asec’0do

s a sec’0do aseczede 1 fdo
) 2+a2tan?0 ) asec? A

0+c

VI, DI
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a%+ X2 a
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91 I = T eIl &.
(91) j\/m

X = as'nemm:_'u_ﬂg@:ﬁ?:_:e:sin_l(x/a)
dx = acoshdo

Sl = J acosh do Jacosede
a

—a%sin9 \ll—sinze

= f@cosede = [de

I = 06+c
X snlX 4 e
N a

1
(92) | = f\/ﬁ dX eretrs
X —a
u = x+\/x2—a2 ereorls Ly &ull_,

_ (2x) _ 3Zx2—a2+xj
du = (1+2\/m) dx = ( \/raz dx

g o e ﬂ i
X+ \[XZ—Zil2

152
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o= f\/raz . u du
fﬁ du
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(x = a e eratrp y&uIL 6 epevptd OBTEWSHS HTETETLD TG
OELVETREY 5D

(93) |

& .
Jgez
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du = (1+Ljdx = (@} dx
Ldx o= X+’ du = @du
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R 1 ( X2+azdu)
e e

= fﬁ du
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J% = Iog(x+\/xZTaz) +cC
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(x = atan 0 erewsy LIgHuI_ev epevaprd CGTEOEHS HTGRTGUTLD 6T6T
OELE R ED)
Gyluyer .

eTafSBTHS; Q& TewHS &HITGEOT LIWIGSTLIL_&dnlg LI GLp&FHTemILD

LT &HuiL_emev BlenaTalley G)&HTaiTas.

QFTRSSHLIIL 1L 5 g Hu_ed
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OB TeOHS HITCETS
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SR )" g2 (%02
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(98) ——5— (99) ————  (100) ———
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(97)
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(99)

(100)

(101)

1 1
Jl—4x dxzfl 202 &
=210 (155) <2
__Iog(1+2x) ‘e
dx _ dx
(x+2°-4" ) (x+2)%-2?
ks @3@
=7 1og(3) +c

1
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e

1
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1 1
102 dx = d
(102 j1-16x2 " jl—(4x)2 )
= [sin™* (ax)] %1

:%1 snt (4) +c

1 1
= log (x +1/x2-9) +c

1 (1

(104) J Ny dx J mdx
:Iog[2x+\l(2x)2—52] ><%+c
:% Iog[2x+'\l4x2—25] +C

1 (1
:Iog[3x+\l(3x)2+42] x% +cC
:% Iog[3x+'\19x2+16] +C

dx dx
2: , >
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Qaieug el eyerer G\Brenssmen FHerhEL_ (LpHedleh (ax2 +bX+C)-2 @
T SahiFeNeT Fm@BTs GLpdhsmmeior n LINS0HpS euensl-er erCoenib
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o2 2]

9/6vev g GBI LgITs SLpHTEILD UTILIITL 19 e068T LG LIRS SBEVITLD.

1
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f\/ﬁ—x—xz 5

111 wpzev 113 aueny 2 6rer 6T(HS &HISHTL (HFH6rmev

aC + bx +c = 4_1a [(2ax+b)2+ (4ac—b2)] erestp Gmrig eurdiliLim(®
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—\/—2 sin 13
L =Lt (229 .
f\/l8—5x—2x2 \2 13

159



IX+I . .
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d . . .
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QI LILIGHEIFNIGTET X-65T &I FHBIHENTULD LOTDIGOHEnETULLD
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1
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Srey
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=3[ 2]=3[2J=3x7
R = 48 say oev@sser ... (iii)
(@0), (i) op mued (iii)-0pp g R-6r L&l 1emis
b

Lt 6T6LEN6V LDGILIGHLI DfeOL_[HHT6V
R= n—>o N Zf(a +rAX) = f f(x) dx FALIMTSSGUTLD
a

er.&m. 9.132 —9.134:
&G Q&TRSSL I 1 QUTW DI G TensHulenet
I’ (HFOSTOHUNGT 6TIHUUITHS HITGHT .

2
(132) [ (x+5)dx (133) f Cdx (134) J (3¢ +4) ox
1 1 2

2
(132) [ (2x+5) dx

1
f(x) = 2x+5 wpmyib [a, b] =[1, 2] e76575.
b-a 2-1 1
AX = "p ="n =n
1
LAX = R/
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f(x) 2x+5

1 r
s fa+r Ax) f(1+r ﬁ) :2(l+ﬁ)+5
wpgw Qe _Gleauafl [1, 2]@ n erauenildamauileh Fo b6t
@enr_Oeueflsermars t9ALGLITLD.

&SGTSGGHTLIG
b Lt n
S dx = ox 0 Ax X fl@a+ray
a r=1
2
Lt n
Foces = @) § (e
1 r=1
Lt 1 N 2
“"nNoowon > (7+ﬁr)
r=1
Lt 1 n 2 N
= S| 2 7+E zr}
n n
n=® L=1 =1
Lt 1[ 2 n(n+1)}
“*hnoswon|M+tn.— 2
Lt [ n+1}
_n—>oo 7+ n
5o 7+ (045)]
“how|/t1+np
=(7+1) n— oo 6raled 1/n— 0 2HGLb.
2

- J(@2x+5) = 8agr segsr
1

2
FAurigge - f (2x+5)dx = [2 (XEZ) + SX}JZ.
1
= (22-1%)+52-1)=(4-1)+(5x1)
2

f (2x+5) dx = B &gy ovGH6T
1
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3
133) Jx®dx
1
f(x) =x%, [a b] =[1, 3] ereir.
epig-w @evr_Glewarf [1, 3)& N-&Lo micsr @levr OlouallsarTals Lifss.

3-1 2 y = x2
A=~ =n |

2
AX=Tp

4 4, x=1 x=3
fla+rAx) = 1+ﬁl’+;2l’
Fig. 9.11
GG SGbLILg
b Lt n
ST ox = ox 50 Ax X fl@a+ray
a r=1
3
Lt 2 0N 4 4
2 . _ 4 .4 02
fX X =nson ; (1+nr+n2r)
1 r=1
_ Lt 2 4 4 -
_ Lt 2 4 nn+1l) 4N+ (2n+1)
“noowon|"nT 2 +n2 6

Lt 2[1 2(n+1) g(n + 1) (2n+ 1)}
n— o T *30n ) n

Lt 1 2 1 1
10218302+

2 Lt 1
:2[l+2+§(1)(2)J B 50 n -0
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ofs+]]

3
2 26 .
fx dx =3 ST WGSeT
1
5
134) J (3¢ +4) dx
2

f(x) = 3% + 4 wpmyib [a, b] = [2, 5] ereirs.
apiguws  @evr_Gouafl  [2, 5Sleg N s ysed  Qsmeri
1T OeueSeT TSl LM G

AX = % y= 3x2+ 4
3 Y
.‘.Ax=ﬁ
f(x) = 3 +4
.'.f(a+rAx):f(2+r.%)
X
3r\2 x=2 x=5
=32+p{) +4
&SGTSGGTLILY L th 9.1
b Lt n
S dx = aox_ 0 Ax X fat+ray
a r=1
5
Lt n 2
feerga= 5 3 5 (s(2+F) +4)
2 r=1
_ Lt 3 n 12 .9
" hsown r§1(3(4+nr+n2rJ+4)
- M3 0 (10, ey,
“noon r§1 n' r]2r
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5

Lt
n— oo

Lt
N— oo

Lt
n— oo

Lt
N— oo
Lt
N— oo

n

P [16+—<r>+ 2 )]

Slw

3
n

3
il [216+ mor +—zZr }
161

36 (n) (n + l) 27 n(n + 1) (2n+ 1)}

3[16+ 18(n;1)+§(n;1) (2an 1)}

1601800 2) 4 20+ D) (20 )

9
3 [16 +(18x 1) +5 (1) (2)} = 3[43]

f (3X2 +4) dx = 129 s g7 G SET

2
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10. BlsPps 56y
(PROBABILITY)
“Thetheory of probability is nothing morethan good sense confirmed by
calculation”
— PierreLaplace

10.1 ypilgpsd

BapsHe), Ty, 2a&lEsed CLITHTNENa OHETeU(HHEGLD [bH65TG
oBlepaorer  GQEFrpasenT@d. e  Gruhseflsy  BID  GBLpbSHTEYILD
UTHGWBIFweTSF GlFTeLe () GlFTS: Coi’ 19 (5EFCEHTLD.

“‘Qibeperm @BHw  HAECE gewl  oewad  Camlieiieniw
QeucbaugsH@L LT HTFOTET UMIILIL 2 GiTer 5"

“aump&lesty GLim Hi% Cairalled BLOLIGTE LoTesToU LOTEssTaILITHGT LOThlev
garafled  9Fs LGt  Gupmis CsTe&d Oup  FmSHSlwmisser
2 Girer &)

“ YCr& WIS ()T mi LoewLp Giiwieurib.”

Cuogyerer  aurd&Suwmksefled  Fmplial 1 ‘eurdiliy, ‘' FTSGUIBIGET
whmib ' oCrsions’  Cumerp  CEmHODTLTa6T,  oybblHpIFsehe
BlFEFwIODDS  HeTenLouNenasT 2 ewTITH HIFGSTDET. DYGHTDTL_ UTLPEN BTLD
GT(HIH@HLD LIGV (LpLY &Y&HGIT BIFFWILODD HETeOHLOUNGTTE LGS ILIHS) 65T DeuT.

QbBRFFwOHDSG SeTenoulenar G NN FewflssEls) 2 6Tem G
L9MGeu * Ml&spGHeiled o@Lb. HloLp sseflever Ly 1k g G%TeiTenLpesr
QauppPled LweTL@RSSLILIBL  Fev  wps&lwdE  GEFmhaener  ymlb s
@ &reirGeurLb.

Cergemer (Experiment) : o OeFwebim® euewgwmssril L
ApLy-6Y FHenard; GlHTeusTLy (HH&HGLowTesTTe, QFOFweOLITL 1g eoer CFTHemes
ol 9ewLpSHCDITLD.

Blierugsuul L. Csrgemer (Deterministic experiment) : Gy
r@fwmet Giphlenavseflsy, uh Comsenaruies (Lpgamener (Lpestdnt 1g Gus
2 IGWITSHS FH65511 G5 pLg-uomusles, 9/ 5/ Bliressrul g e
CF i gemarrm@Lb.

Fwauriitiy Gsrgener (Random experiment) : @ Cosrgeneruied
GlewL_&F&amIg W 6TOVTNS FTSFNISGIn MIFEGT ((LPLY-QYHEST) Wb HILD,
Crrgenetd@ waTGL wpLy alleneid BITLomeildhs LHLG-UITHT M| UTLILIL|SCT
2 eirar CoFmgewerGur FLocumiiliLyd CFim e e ulT@LD.
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q@sGsETL® . () Fomewr prewvwsowss Sy aIBsed (i)
LIseoL_eouwl 2 (L tg (hibe

Gugysrar  Quaw®  Corrgearseflsh  erevevrTalls  BloHLpayser
(pLg-eyFH@htd)  WlbHiLh, eTedTarr  (HlHUpLD  eTeiTLIGNSG  (LpeiTanl g Cuw
G o't 1078 Fp Quievrs). eTarGou @Q)FCHFTHTHET FLoaumiiliLd
CFT ST HGTT@LD.

@@ Frsmyeer (g ol ) Bleapsd] (Simple event) : qp
Fweumiiiyd CFrsearuiled FlewL_dsdhdniq i g LI BlHLDEFHHET
(wpryaysener) Goguib L9Mss @uicvr g cTesfleh &I (h FITHTTET {660 S/
9JIG-LIIGDL_ BISBLDFFUITSHLD.

&p/Geuafl (Sample space):  sweurdi’iy Csrgeweruler  eTebeT
BlFLpaysenemiD O\ HTEETL_ HeSSTLOTET &) Fn )l Gleuef] cTevrLiLi(bILD.

Blapsdl (Event) | s pQevefluiesr Qeupmhm eaiGeum ks 2.1 gewrepLb
RH BSPFPWTGLD. FomiGevef] S g o miGuimer (evevgl) BlFFwLb
Bapdamiguw (sure event) Flapdd erertiu@d. Sev  26rer  Geunmid
sewrLomer s @uer Blespdd (impossible event) ererii@ib.

THSSHISSHTL L_TH, &Q(h QUPHIFTGT LIS GOl QIHULPEDD 2 (HL 19
Bensuileh GlewL _doHddnlq wi FanmiGleuertiiLimeT &)

S={1,23456}

{1}, {2}, {3}, {4}, {5}, {6} erevruemer FrHTIeT VUG DLg LILIGHL_
BlSBLDF G FET TG LD.

{1}.{2,3},{1,3,5},{2 4,5, 6} eretriencu Fev FlFHLpdFeenm@Lb.

T Qurary alosG Blespddsar (Mutually exclusive events) :

@ Fwauriiliy GCorgemeruiss @Qew(®  9ebevg  (@)TETig DG
Cupu' L Flaspdfaeiles GuTgeuTear gl BlspFFH6eT o Hib
QevewaGuwistlsh, dsemsw Hlapsfsemar eteapOWITeTY  @flevdEHLD
BIBLDFFFET GTGHTLIT.

TRSSSSHTL® . (5 Ligsewl_eouw 2 L Hid Cumgy {1,2,3} whmib {4,5,6}
Y& Q)5 BlHLpFFHEHLD cetTenmGwiTe m) alev@GLb BlbLpFFFHETTSGLD.
wreywerreflw BlapsAser [y reor Blaspsdsear ] (Exhaustive events) :

@ Corgevaruiley Blawpd 6Thbs e HlHLFFUD, Q\FHT(HSHLILIL (H6Terr
BapFRsaflsst  QBTGLILSGHST ) hGGLWwTeTTed  9bblapdFlametles
QBTGLIY wieywer el FHpFFHET 6TesILI(HILD.

T(NSSSSTLD .

{1, 2, 3}, {2, 3, 5}, {5, 6} wihmud {4, 5} eretim HHpFFFeT RH
LISEL_eoW 2 (L (ReUseTTe) HenL @b BlapFAasHend:@ ‘wireoerTeaiis
S FRFETTGHLD'
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sweumiiuy slspdHser (Equally likely events) :

Rh  HHPIFF  sewsGleveear HlapFFaeT  @ettevmd  &HTL 19 eVILD
wH@preTm  Hlaptd  eumiiliy  SHVeTIOE),  FLOGUTUILIL|SHET
QupB L1 NeST @)BBIFLFF ST FLoUTUILIL] BHLPFFFHET 6TeTLILIGBID.
TRSSSSTL® . @06 FIreT BTRTUSOSS FHMQ@TTeL GFlewl 5@
FLoaumiiliyent_w BepFAser { sevev (H)} wopmb {1y (T)}.
7RG L/ FSTL (5

FOMULILF Wplpsysefer
pups Cargmer Qurgs &g Qlevefl
Tamafisme
Q) | Syrer 2=2 {HT}
BIETLSMS
Sar(HS6
@ | &yrar 2 #=4 {HH, HT, TH, TT}
51T 60T LI Bl 5 6meT
Sar(HS6
(3) | Syrear 3 2=8 {HHH, HHT, HTH, THH, HTT, THT, TTH, TTT}
[BITENTILIBI S DTS
Sar(HS6
@ | @ &rar 6=6 {1,2,3,4,5,6}
LSMLMW
2 BLBs
®) | §a &yrar 67236 |{(LD,(L2)(L3) (14, (L5), (L), (2) (22, (23). (24), (25), (26),
LSDLEMET (31), (32, (33), (34),(39), (36), (42),(42), (4.3), (44),(45),(46),
2 @LBgs (5.0, 6.2). (53), (5:4), 59). (5.6). (6.1). (62). (6.3), (64, (6.5). (6.6)}
(6) | 52 & (Pamers spl-g)  |Heat YA2345678910JQK deuy dpw
Qarair. gL Diamond ¢A2345678910JQK ey A
SL(s sLpe5rg Spade AA2345678910JQK sy Mo
LV ERLED) Club «A2345678910J)QK a@ly fpid
Gi® s :

A wpmib B gGaenib @) hlapdFser eresiley

(i) A UBerarg A 9evevgy B oebevg Qe ®CGio Blaipaisnastest
BlaHLpFFlenwd &Hmld@Lb.

(i) AN B eretrig Aayb Buyib Gr Crrd&led Blapaiengd @&biflda@Lb.

(i) A yebevg A’ gevevg AS ereirig Aeflsir  Baipreniemuis
&D&@LD.
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(iv) (A N B) eresriigy A o Bib Blapauens GDld@GL FlHLHFE).
TRHSBIGHTLL_TH, @b Frmem Lsen_eow o (5L GUbCLITS  9Heir
s miGeuafl S={1,2,3, 4,5, 6}
A={1,2},B={2,3},C={3,4},D={5,6}, E={2, 4, 6} ereiricr S-eir
Flov FlFHLpF G H6IT 6T6HT 5.
1) A, B, C whmyib D flapsd&fset Foaumditiieer hleLpdGaernTe@Lb.
(perred E 9j6bev).
(2 A, C wpmpnub D gereopQuimerp alevd@d BlHLpFFHemTE@LD.
g 0evresfled
AnC=CnD=AnD=6.
(3) Buywp Cuip epasrenpOuimestm olevdar HlaHpdFaer. crblearefsy
BN C={3}#¢.
4 A, C wpoib D eretrp Blapd@eeier Gsr@LiLy wiToermeueney.
agGeeslsv AU CuD=S
(5) A, B wpmip C flapsfseies Qsm@Liy wiroermeienw  9jevev.
gGewefley {5, 6} eretrp BlapsH A, B wpmiub Cullesr Cariciys
FenrdElsh @evenev. (.e. AUBUC=YS).
10.2 Mlspssailar euengwenm (Classical definition of probability) :

R0p  Corgeeruiey  wrayerTeil, eeTedpOumeTn  afevd&L,
FLoamUILIeTear  (plgeysker N eTedwenfldensuileyd — gjeuppPle M
cTeenfldensueier  upgayser A olh@  FTSSLTSHeD  (@)pLILeT

m
AdiigyievL_w Blapsse) | 4GLb.

m

2sraig P(A) ="

Q)semanGus L965TeuBLOT MILD FnHEVITLD.

@b FoaumitiL) Cargeveruiesr g miGeuafl S erareyb o6t aTCobenib
@5 BFEpFs A eremeyd Gamers. S wpmib A-gyerer o myrisees
sragrenilsens LpevpGuw N(S) opmitb N (A) eresiled A-6ir HlsLpBHe
n(A) _  Adpeg srssioner Hlevsvuseflsr oretmenflhbams
nS) ~ S&v oerer wreyoarTei BHlenevsafleh 6Te8seudbend

P(A) =
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BlapsEailer YyplumLd Cararmasear (AXioms of probability) :

S eretLIg @hFLoumiiliLF CFrgeneTulles (wpgeyndm  dnmiGeuet. A
er6s1s &) Setr wiTGsenib cph Blapd ). P(A) eresiii g Aallssr Blaipsse) eTesleh
GLpGaerL_ 9y LiLienL_ G&TeTengssemar Hlevney GlFuwiuyb.

1) O0<PA)<1

QPO =1

(3) A wopidp B egaropursgy elvosdlu Blespsdlsar  erefled
P(A U B) = P(A) + P(B)

Gl

A Ao ... An ereitier geiteopOuITeT M aflevd@d ‘N BlHLpd FlaeiT

eTeufleh

PA1U AU ... UAp) =P(A7) + P(Ag) + P(Ag) + ... + P(Ap)
er.sm. 10.1:

A, B b C eretrn eaitenpGuumest my eflevd& eLpest my BloipdFlaenern
w1 HGw Oaraw@herer qun GCorsemeruier HlapsFaaier BlaLpsseser
Lereupomm  CaT@RSsLLC BHeTarer. ([@enas FTSSWILDTRTEHUIT 616w
QTS

i) PA)=3, PE) =3, PC) =3

(i) PAY=7, PB)=S,  PO=7%

(iii)) P(A)=0.5, P(B)=0.6, P(C)=-0.1

(iv) P(A)=023, P(B)=0.67, P(C) =01

(v) P(A)=051, P(B)=0.29, P(C)=01

Srey
(i) P(A), P(B) wpmib P(C)-eir w@iiyser wreub [0, 1]  eretip eprg w

@)evr_Glaueildgeir DJOLO[b &I GIT GITGHT. Crogyyib, Q)eupmletr
Il (HHOH TS

P(A) + P(B) + P(C) =3 +3 +3 =1

QETBdHLILL_R6iTern Blapsaeyser FidbGuiomeareneGuw
(i) O < P(A), P(B), P(C) < 1 erawr Qam@ésLii (Dererns). 4emed
@oupplatr s’ HSGHTDS
1 3 1 5
P(A)+P(B)+P(C)=7 +7 +3 =2 >1
erarGau GHTRSHLILIL_RGTET BlbLDSSHeFHET FITHFUILDTETENE D]606V.

(iii) P(C) == 0.1 (p @ewm erevorasst mulBLILISTE) (@) FITdGUILDITET H606.
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(V) #rgGwiomergy. erGaweslsy 0 < P(A), P(B), P(C) < 1 Gogyib @)eumafletr
& BHs$0smems P(A) + P(B) + P(C) =0.23+0.67+0.1=1
(v) 0<P(A), P(B), P(C) <1 @)mhsravid, @aunmlesr sal” BH50)5mens
P(A) + P(B) + P(C) =051+ 0.29+0.1=09 = 1.
erarGar ()& FIdhGuInevev.
®fly .

Cupwplu TR SH155TL_(Haeflsd aiGleuTn Csmseneardab Frilwimer
epeiT ) BlFHLpFFFGT o GG 2 6Tener. eTerGey  DyEneuiLITeLOGT T
BloBLpFRFTTSGLD. 9BTeUL Sevaiserles Gy o piGeuef] HewrLom@Lb.
TerGaugrest @ewausetler Blapssasemler i’ (HibbsTens 14@ Fowms
B)wSs6e» Gavetr(hLb.
ea.&r. 102 Queaw®h prewwmsear @Gy  FOwWHFHH  UHLHEOD
GO L 11D GST ) GHT.

(i) shwurs e s (i) GwDHSH RBSWITa F)
(i) @IPFLL_FLOTSH (1 HeOeV HKGOL_LILISDHTET BFlHLD S50 FHHGN;
&ITGOOT 5.
Siey

g miQeiefl S={HH, HT, TH, TT}, n(S) =4

A eretrug Fiflwrs @msemevenwils GUDSFIgw BlaHpdFF eTetres. B
CTGTLI G GEODBS S R(BHeVTa S GLinddnlg i Blapdd ereirss. C er6d1LI S
PFHUL_FLOTSH hHEGVILI QUID&GTnly Ul FlHLDFF) 6T6H 5.

LA = {HT, TH}, n(A) = 2
B = {HT,TH, HH}, n(B) = 3
C = {HT,TH,TT}, n(C) = 3
() PA=NG =5 =3 ()PB)=na =5 (i) PO =g =5

ns) -~
e.&r. 10.3. o Grmgls use_samer o @l ig afGCLIT S g){@J‘Q’)Qﬂ@T
ENMIOEOF Tt (VI (i) 7 oevevgy 11 (iii) 11 oebevgy 12
FlewL_LILIGDFHTET FlHLDBHaBEHGT I TV 5.
Sirey

g mQavef S={(1,1), (1.2) ... (6,6)}

Blaipsanig s QLomds g LiLienL_ BlHpsFFeHer = 62=36= n(S)

A, B, wrpm C yerg wpeopGu omi’ HGsmens 7, 11 wpmib 12
GleoL_L11SDHTENT hlbLpFFHGT 6T 607 5.
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A = {(16),(25), (34), (4.3), (52).(6,1)}, n(A) =6.
B = {(56), (65}, n(B) =2
c = {(66)}, nC)=1

(i) Pl @s0sTamsl) = P(A) = %(%))' :3_66 :%
(i)P (7 =yébev gy 11)=P(A or B) = P(A U B)
= P(A) + P(B)
(- Awrb Buyib epesrenpOuumest my eflevdGluw BlapdFser 1.6 ANB=¢)
6 2 8 _2
=36 736736 "9
P(7 or11) = %

(iii) P (11 or 12)

P(BorC) = PBuC)
P(B) + P(C)
(- B, C qetrenmGuirredr my elevd:&lis 5aLpd&seir)
_ 2. 1 _3 _ 1
=36 736736 12

1
P(11 oj6vev 5 12)= 12

e.am. 104 eapsirmy  OeuarGeoumy  BUTHGRSG — CLPGT M HLY BhIsH6T
eTLpSLiLIL (b eLPGIT M) 2 opH6IfleH <OIGUIT F5(6TH 5T GOT aflevTFpLb
STLPSLILIL (HGITETGHT. wpsHeurflenwt’s L &smoGev FLY BBl FHEOGIT
2 eopulelGbCuirag (1) erébevr Ly ShISEHLD SeuDBID@&GAW  Frilwmer
2 eopuiedl_ (ii) erebevr &Ly HHhISEECL SauPTH 2 DU BHHLDSFH6H6IT
&IT 60T 5.
Srrey

A, B wpmib C eretiiene 2 eopaevard; @plé@h eresrss. 1, 2 wopmib 3
a1l pevpGu A, B opmitb Coamet s19 shisenerd @pld@Lb 6T6s.

FLY HHEIFEGT 2 DFND  QRUSHFTT GTGOGIT FTHG IS T DHG@HLD
LGS TeUBLDT M) -

FITSHGNIGIn )] SH6T
CL | C | C|C|C5| Cs
A 1 1 2 2 3 3
2 GODHEIT B 2 3 1 3 1 2
C 3 2 3 1 2 1
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X eretiLig eTeUeVT  eLpeT M HLY FHEIFHGHLD  euPpBIDG i  Frilwimer
2 eopuiledBeuGDHTT FlHLpFF 6165 5.

Y eretrig epetmy  HgFHISEHEGL  HUDTH 2 enuled)(BeuBnH T 6T
BFLpFF) 616815,

S={cy, c2, €3, €4, C5, Cg}, N(S) = 6

X={c}, nX)=1 Y ={c4,c5}, n(Y)=2

- P(X)

oI Ol

P(Y)

_1
-3

e.&r. 105 @ @M56s FhissGsd Grssd 15 o milnleriser
2 ereresti. aursefey 5 Gt o’ HCLW L& afHid YLD LIGHL_GSaUTHET.
Qeursener  11GLr  Gamem . @@ Gupalsdy  Gopbss 3 LbS
of FFmeniserTe s @)L DG\ MIGUBDHTET BlHLDSHHE &HIT6ET .
Srey

A, B wpmpib C er6ip  FlapFFaseT  ojeoUSDHTRT  cuLbldh6ir
LeTeUBLDT M) -

11 2_pyiuferigeaflsr Ceirey yewwaiFDHSTeT Cairey Gl
Hepédlser Csriy aflsafiar carmiidms | clgraaiar Gurés
5 uBg o 5 ung wpp 10 e one
oggrarigdar 10 Qui | oS&smarisEr Cui
A 3 8 5C3 10cg 5¢3x 10cg
B 4 7 5Cy 10c; Bcg x 107
C 5 6 505 10cs 5¢5 x 10cg

WITeYLOGT T ﬁ&ébé@&ﬂﬂs&r}
OUDITS S 6T 680768815695
n(S) = 15C14
P (@oopbsar 3 ubg ofdsmarisarmaig) = P[A oebevg B ocbevgy C]
=P[Au B U C]
=P(A) + P(B) + P(C)
(= Bapsfaar A, B, C qeirenpOuirest my eaflevd&lis BloLps Fleir)
5C3x 10Cg 5C4x 10C7; 5Cgx 10Cq
= 15C11 + 15Cq11 + 15Cq11

{15 o i 106t a6 e mb S
11 efewerwim’_® afgrigsenesr Cariey
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_5C2x 10C; 5Cy x 10C3 5Co x 10C4 Cre nC
=T 15c, t  15¢, * 1sc, (:nCr=nCnon)
_450 600 210 _1260
=1365 * 1365 T 1365 ~ 1365
12

P(@mpbssl 3 g ofdsnanisenmos) =13

D

)

©)

(4)

®)

uuflm& 10.1
@areopOuwmeTy  ofewds&w A, B, C whmib D ereip mrers
BapFRFewar ol HGw Gwmer._ ouh CFraemeruiles BlaLpdGaener
BlELpSSHe L6TeuHLOT M)
(i) P(A)=0.37,P(B)=0.17, P(C) = 0.14, P(D) = 0.32
(if) P(A) =0.30, P(B) = 0.28, P(C) = 0.26, P(D) = 0.18
(iii) P(A) = 0.32, P(B) = 0.28, P(C) = - 0.06, P(D) = 0.46
(iv) P(A)=1/2, P(B) = /4, P(C)=1/8, P(D) = 1/16
(v) P(A) =13, P(B) =1/6, P(C) =2/9, P(D) =5/18
Cupamplucuppled 2 6Tar FHLDSHe BT FTSGUILDTRTEOUUIT TeTd
SIrLomesfldSHaLb.
Qe LFeL_d  FTUIS®T  QHLpeED 2 KLy NGLCLIT g
uppPlest s BHSGsTews (i) Sé@b  Goopairs (i) 10s@
Cupu grs (i) 9 oevevgy 11 Gewr _Liignamet BloHLpss5e FHeT
SHITGOOT 5.
OPGST W] BTGRTIWAIGEST  QRLpedn FevwrL it _Gerper. (1) shwrs
Quan®  sooser (i) Gopbss Quaw®  somesdr  (ili)
UGS Fioms @QTeT(R) SVFET FenL_LILISDNHTET BlHLDSHHFHET
SHITGOOT .
52 & pésemer Garew  eun S OBhH @b FL®
2 (hULILBGFD . FFL_(B
(i) smevr e afgesr (jack) (i) 5 ebevs ySHGLD GewpauTeT
6T 6uoT
(iii) <yr& (Queen) yevev s 7 FevL_LIiGHHTeS BlHLDSHHFHGT HITE5T .
@ eoLuflsd 5 OeuerenarBlmLs Lifh Hia@hid, T HbLiLy BDLT Lk HIHEHLD
o ararar.  oUWSBES 3 UbSHFET  FLOGUTUILIL  (LpenDUey
eTdsLl L med (i) epeit piGro GeveirenerBlmrs Lipgismer (i) cpedrmy
OeuaiTenarts L, QIeT®) SEBLIYBIDL b HISET Henl L1 ighaTeT
BFHLDS S0 HEHGT I IhITGVIT 5.

193



6) o Guiiguisy 10 Wer eferd@ser 2 drarer. euDmIET (3)76wT®H
CorgLoenL_pgiereret. Fweumdili) wpeopulled S et  alerd @ e
T(HSSHLILIL TGV, (6D MIGIT o7 H1aGLo CrspLoemL_uwim )
@YLiLghFTET FlHLpSHH@| 6T6T6H?

(7) o Ouiiguisd 4 womibriphisenib, 3 NG LILPHEIHEHLD 2 GITGTET.
FLoauTiIliL] peopuilsd Qe (® Liphiser eT®Fs’ 1 med () s
wrbLipeptd @b pnder Lipeptdb (i) @uesr®d @Gy euensemwid
FATHESSTHALD FlewL_LILIGDHTET BlHLDSEHaHEOGT S &HITCHIT 5.

8) e wsraluiey Wss&ppbs 10 wrewien wremalseflsy 6 Guir
rewredser, 4 Guir wresreurser. Foeurditiy weopuiley 4 Gurr
Qaresr  @up  @ermy  opleyts  Cumlig daras  Gaiey
QFIIGED S Gl GHODESH 2 LoTeTeNSETTIS @) LD
QU DIUSDHTET FloHLDSHFHNHEITS: &hIT6E5T 5.

) () o6 srsmrer a@rgfd (i) @ &0 w@rgdd 53
@HTUIND MISFPEDLDHST QUIHIBDHTET [BlHLDSBFH6FHGT 5TV .

(10) wpsev 50 hens wppdamanedmpb g b 6Tt CobiibO\BHGSLILIGHD Si.
Q&I P(B LSBT 6T 9jevevg 4-@)eiT Lol HIFTSH ()5S BFLPBF0)
wirg?

10.3 A& s sailear fle L g Csmmmsser

Bapssalucdesy o6rer  etebeurs  Coppaserd  CwrigwmsGeur
OOV G LOODLOFHLOTHSeUT, BloHLpsHelesT g LiienL g GHTeTensEFHeETL
LwGTLIRSHCW HHeNSHLILIBGGGT D6,

Blapssaier Fev &g Cahmhisenar @b HmessGLmLb.

Cspm 10.1: pr_sselwevr HlapdGuies Flaspssey LiFFLD.

oz [P@) =0

1) e L 6woTLD
BL_dgsaflwer BEHpFF O, Seretrm gnmiGlevafluish o6iTer oTHS SR
o WILIYLD @)HSHT S,
L Sup=S
P(SuU ¢) = P(S)
RS + P(¢) = P(S)
(- Swyib Puyrb epasTenLOWITET M) aN6VHESGLD FlHLpFFSH6iT)
. P¢)=0
Cspmid 10.2:

A eretrii gy Audsst Bl uwimermed [P(A) =1-P(A)]
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e L 6sorid

S ettt g miGleuer] 6TebT . Y S

AUA =S

PAUA) =P(S)
PA)+PA) =1

(- Aayb A R6TeDOLITGT M) Fig. 10.1
evs@w  Blapeyser.  Cogyb
RS =1)

L P(A) =1-P(A)

Casmmw 10.3. A, Bersitar gGseyid @) HHLpFFser. B ereirii g Betr
Bl 9Guwiesleh

P(A N B) = P(A) - P(A N B)

18] et L 65oTLD

Acrasrigr (A N B ) wpmid (A N B)
Y& gereopGwTeTy  aflevs &
@) BlapFFaefsr Cardenaim@Lb.

(ur_ib 10.2e0 srcserss)

ie A=(AnB)U(ANB) A B
<. P(A) = P[(AnB) U (ANB) Fig.10.2

(-(A "NB) wpmib (A N B) Q& TSt ) aevHGEILI BlFHLp S FlohaiT)

P(A) = P(ANB)+PANB)
LOTHILIEH DS PANB) = PA)-PANB)
@)Cs Guimeb P(A nB) = P(B)-PA NB) erar flmaemrib

Cspmid 10.4: mlespsseailer s 6 CsHmLd
(Addition theorem on Probability) :
A, B eretriier erGaeniib @)1 hlaLpsdFlaeir ereufley,

[P(A UB) = P(A) + P(B) — P(A N B)|
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e L 6sorid

AUB=(ANB)UB

(11010.3eg LimiTd5)

P(A UB) = P[(A " B) UB]

(- Am B b Buytb gpesremmGlimeit my .
VEHuI [lHLpdF 5 567T) w1 10. 3

= P(A " B) +P(B)
= [P(A) - P(A n B)] + P(B) (Cahmib a1 Lig)

.. P(Au B) = P(A) + P(B) - P(A n B)
Gl

Guogyeirer Blapssey Fnl' L CEDDSSGT eLpetT M1 FloHLDSF G 6rhd:5iTewr
alfeurgasid. A, B opmitb C arCsepiib eLpast mi FloLpIFFHerfleh eTesfleh

P(AUBUC) = { P(A)+P(B)+P(C)} —{P(A N B)+P(B N C)+P(C n A)}

+ P(AnBNC)

er.sm. 10.6:

P(A) = 035 PB) = 073 wpmb PA n B) = 014 eresfled

LstraumeueTeuD MG oG IL|HEHOTH; FHiT68oT 5.

()YP(AUB) (i) P(A NB) (iii) P(ANB) (iv) P(A UB) (v) P(AUB)

Srey
0] P(A U B) = P(A) + P(B) — P(A N B)
=0.35+0.73-0.14=0.94
P(A UB) = 0.94
(i) P(A N B) = P(B) — P(A N B)

=0.73-0.14=0.59
P(A N B) = 0.59

(iii) P(A N B) = P(A) - P(A N B)
=0.35-0.14=0.21

P(ANB) =021
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(iv) PA UB)=PAANB)=1-P(AnB)=1-0.14
P(A UB) =0.86
(v) PAUB)=1-PAUB)=1-094=0.06 (by (1)

P(AUB) = 0.06
er.&m. 10.7: peirg sewmadsliuil L 52 &1 Hdsemend Glamer_ q@h FL (b
S 19 BpsE Rb FUB o BuliLGEDS. FFL L mearg (1) oy
g o (1) oraear g svGu (iil) yraer 6o HapLILE
G B G L1FDHTET BlBLDDFH6FHEOGT S FITCHT .
Siey
g MGl eyieiTer LjeiTefseme cTesenildhens = 52
i.e.n(S) =52
A-oprseverd CaiibOSHLILIGDSTET FloHpd&);
B-oyrFlenwid CaipOas@LiusnaTet hlapF&
C-svGu’ &1" oo CaipOIsHLILISDHTET BloHLDFF
D-smliyblnd G evi_g CaipOs@LIsDHTeT BloHLpdF 6165 5.
- N(A) =4, n(B) =4, n(C) =13, n(D) = 26
Guayb N(ANC) =1, nAnD)=2
(i) Ploygaer oyebeva o] = PIA oevev s B] = P(A U B)
= P(A)+ P(B)
(.. A, B géreomOuumest my eflevd&li BlspsPser i.e. A N B = ¢)

_N(A)  n(B)
=S *nE

4,4 _2
~52 "52 T 13
(iNP[yraesr oevevgy sivGui ] = P(A g6vevgr C) = P(A L C)
= P(A)+P(C)-P(ANC)
(- Auyb Cuyib epastewmOuimest )y fevdsT BloLpd&)
4 13 1 16
52 "5 52752
4
- 13
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(i1)PLoyrssir ojsvowss st yfips 91 5] = PA sjsbag D) = PA U D)
= P(A) + P(D) - P(A n D)
(" Awjb Duyib spetrenm@uiredt my 60 [6labLpd Glameir)
4 26 2 28

=Bt "52 7R
,

- 13

er.&r. 10.8. o wrewalde 1 Ted @b Hevr_Liignamet Hlapssay 0.16,
YT&H S EIaus sveurfulley @ b Kevr Lighamer Hlapssa 0.24,
Q@resig eitb @_1b Hewr_Liignarer Blapssa 0.11 erafley eumss (i)
Queriged  Gopbss  @fL_dFowrag @ b Hewr riwignasmer (i)
Q)revirigeb gpetirmled Lo’ G @) _tb HewL_LiignaTet

BFHLDSFHeHEOGT 5 BTGV 5.
Siey
| erestugy ITed @1 &Hewr _Liighamer HlHpds) eretras. M eretri gy
9T % LO(hd Blauds FHevapriufled @) _1b FlewL _LIigHaHTeT FlHLpFF 6T6bTS.
- P(I) =0.16, P(M) = 0.24 op miep P(I n M) =0.11
() P(soomibs g eil_sGevraig Q) b Hevi_535)
= P(l or M) =P(l U M)
= P() + P(M) - P(I " M)
=016+0.24-011
=029
(ii) P(apssrailed tor” BCio @) 1b Hevi_s5) = Pl 9svev gy M].

= PlInM)u( nM)] 1 M

= PIAM)+P( nM)
= {P()-P(I~M)} +{ P(M)-P(InM)}
= {0.16-0.11} +{0.24—0.11}

= 0.05+013 r ]
= 018 ””I.".' I Un-i:\ b3

15 10. 4
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uuflm& 10.2
(1) o Fweurin'iyg Cemgemaruisy P(A) = 0.36, P(A 9sbevg B) = 0.90
whmib PAeyb Buyp) = 0.25 erafled (i) P(B), (i) P(ANB)
Y SNWIIHEON FITEHT 5.

(2) P(A) = 028, P(B) = 0.44 wpmid Qauailp Blapd&aer Augrb Buyib
atirepOWITasT M1 oGl (Bl Lpd Flamer eTevfleh

() P(A) (i) PAUB) (iii)(AnB) iv)PA NB) yfweperps

SHITGCEIT .

(3) P(A) =05, P(B) = 0.6 woimyib P(A N B) =0.24. sresfled
(i) P(A U B) (i) PA ~ B) (i) (A N B)

(iv) P(A UB) (V) P(A N B) fweipilevens srairs.

4) a0 usewL_ Qmupedn 2 hL L L Fngl. “psed wpevp of FeuFlsd 4
flupeugs” Hlapd& A erereyd, “@ueiTi_meug weop ofFauBled 4
aflparg” B erawayb Gamessr_meb P(A U B)a siretiss.

(5) A eretip BlapdPulesr BHlapssey 0.5. B ereirp hlapdSulsr Hlapssay
0.3. Awb Bupib getrenpOuumeit my eflevd&i BlapdRa6lerestisy Aayib
9ebeurioed Buyh 9jebevrioed @)hdadatq it BlampFFulest BlaLpssay
wir %/?

(6) 52 &L @weir 26rer b FL(BD HL 19 OB S FLoUTLILIL LPeHDUIED
@6 LB 2 BuliL@EDg. bss FUG (1) @& opbevg HerL
(il) & oyebevgy FH@LILF FLUB L _LILISDHTET HHLDSHHqHEHGHT S
BT 6O0T .

(7) yBPsrs @b LI S L LU’ H6Ter ). 955LILIA6T Lot IHHTS
ysHG Aps  Heor LiugpaTar  Bapssey 0.25, GwidGuwmer
pemmudled eLpevlIOITBL_Bewarls LT LIBGSFNISDHTS DBDE (55
Heo_Liugparear Bapssea 0.35, Cupsem . @) ol ssemeruyLb
QU pieugpaTet Blapssey 0.15 eresfleh
() eowbs2 20 ABsTeIs HoL LiLspe
(i1) Cr e g o' BILd FevL_LILishHE& BlHLp $HaHET WTeHa?

10.4 griyslemev Blasy ssey (Conditional probability) :
griybleney  Hapsaeiett  ahdBThSSGmeT  oplb sk Gsmerer
LpBeeL (b 6T HIHHTL 19 e06esTds FHTeTGLITLD.
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QR Fomer  useL 2L LGsTHs  OFmerCGaurib.  9jBetT
s miGeiafl S={1,2,3,4,5,6}.

QLIGuT g BTLd @)1 flesTTdhHeeT 67 (LpLIGauTLb.

Q 1 usewrulsd 4-go & Geopaurer QL 6oL Liieol_  cTelT
Flewl_LILIGDHTET BlSHLDSEH@ WIT F?

Q2 : wser_uled @i ewr Liiewr _OGuwietr aNupbFlpLiier 15 e
L& GHODAUTRTSTSH FevL_&&% BFlHLDESHa WITF)?
Blewey 1.

4o a3 @eopaurer QUL el LD GTETHET Sl _LIIGHFHTET
Pops® (2} ayetv

by o—n(2)

n{1, 2 3,4,5,6})

1
6

Blee 2.

@)1 LpHedled FnmiGleuerd] Sgp @ enr_Liiewl_ eTedrsemen Lol (HGLo
Q&BTESsTL (1 2 LIGeTSED@& OIS HHCnTD. osTaig{2, 4, 6}
GTGHT) 2 LISETSHDG FHL_BHLBSSHCDTLD. n@ 4e & GHewmeuTes
Qe Litent . erevsy  HewL_LiLgnanet  Klapdd {2} E@  Hlapsse
STt &G CDTLD.

o -2 _1

- P2=0((2,4,6)) =3

Cuomaer_ @ue®h Blenevseflaib BlHipdhdatq i BHHIFFHET ceTDTS
Q)mBBTVID,  eupplest  wrayvarTal  aflenerallenaraer GlauaiGanas
Q) mdHGFletTmert.

Blenev  @reiriged, e miGevaflenw en @GP L FlLbseaTdE,
21 LRSEH  Iwag  Blepssieard s pl&HGnab. Q)G
BlFBLDSHUTET &) FITITL| (Blen6v BlHLpSHH6 GTGTLILIGID.
wemgweny [ Friyleme Bspssey ] . (Conditional probability) :

Blapdd A apserGeu Hlaipbsierer Hlevevuled Actt  FlLipsenerulleh
Bulletr #riryplenev Blapsaey P (BIA) erend @plssiiig e,

P(B/A) = ﬂﬁl P(A) 0

©@)Cs Guired

P(A/B) = ﬂ%)' P(B) # 0 eresr auewywimidseumed.

er.&mr. 10.9: P(A) =04 P(B)=05 P(ANB)=0.25 orafle
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(i) P(A/B) (i) P(B/A) (i) P(A/B)
(iv) P(B/A) (V) P(A/B)  (vi) P(BIA) &4 sirassrs.
Srey
(i) P(A/B)= P(Q(Q)B) 22 o5

(i) P(BIA) = P(/;,(Q)B) =g:ig = 0.625

PANB) PB)-P(AnB) 05-025 _

(i) P(A/B) = PE) - PE) =~05 =05

_ - _PBNA) PB)-PANB) _05-025

(iv) P(BIA) = = = = 04167
P(A) 1-P(A) 1-04

- PAnB) PA)-PANnB) 04-0.25

(v) P(A/B) = = = =03
PE) 1- P(B) 1-05

(vi) PBIA) = P(/FA)(rAw)B) _PA) - PFS NB) _ 0'46. 2.25 - 0375

Capmid 10.6 : Bl&EpsEailer ClL@msEe CHHMLD
(Multiplication theorem on probability) :
21 eflsipayserts @b A, B eretagib @) BlapdFaehetr Blampsaey
P(A nB) =P(A) . P (B/A)
<evevg P(A N B)=P(B).P(A/B)

@iy ;. Faryblee Blapsseflevet ompp) oTps Hlapssaie GILI(HI%EHD
CahpLb Fewi_SF 5.

gridleor Mlapsdlsear (Independent events) :

BapdRsafley aCaseib @b FHHPFH  penL_OLIMIGISGID 96D6V S
B OUpTs Hiomest Blape) wHm HapdFRsefsr penr_GLimib 96bev s
BeL_OLUDTLLS:SGTeT BlHLpBslenet LTS GHTH Tefled @)bBlasLpdFlamenern
Frrevr BlbLpFFSHET GTGT Jn MIGUIT.
svemgwen : |P(A N B) = P(A) . P(B)| erasfist A, B erairm @)1 Hlasipd@Pan@nib

FIrL6eVm Bl&HLFFFHETTSLD.
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Q)b eueHTwIeHD
P(A/B) =P(A), P(B/A) =P(B)

eoluy  PA1 N A N Az ... Apn) = P(A1). P(A2) ... (Ap) erefled
A1, Ar...... An eretTLIeney 66T MIs0\%TetT M FTTLNeVT Fl&HLpFFFHENT @D
Slewerg Csppd 1: A wpmib B sairifevr BlapdGlaeir ereirmmed
A 1opmib B Y &lweneuu)b FTirlevr FlepdFFCermuim@Lb.
e L6vorid

A wpmib B srilier flapdAaerntsevred

PANB) = P(A).(PB) .. ()

A ujib B 1b i Qeor BFLpFRFET cTet [l micu,

P(A N B)
BITLD DBBSLILY

P(A) . P(B st hlmiau Qauasor(Bib.

PANB) = PA)-PANB)
= P(A)-P(A).P(B) (by (1))
= P(A)[1-P(B)]

P(A N B) P(A) . P(B)

oAb B b e fevrr Bl SLpFFFHET TG LD.
@)CsCuLimed Lsstound HlenenCapmbenguyib HlemLldhseuTLd.
Slwerg Capmid 2. Apmib B sriiier Blaps@aer eresfley

A Lo mILb B Y &lwenaiuib FTevr BlHpFFFETTSLD.
eolay A, Ao... Ap ySlwenes etT misGFTeTm FTilevr [BlHLpsFlaer
6TGoll6y, /&1, :&2, '&n YyFlweneuub @t mSOFETST Y Frrfeor
BlSBLDF G FET TG LD.
er.&m. 10.10: 52 &1 (paeir Glamehr . e FLUGbs 19 BB s Q)76
Gl et geTpeT s aeTnTs o (hauliBGED L. @)TETBHGL OTFRTTSS
Flewi_L1LGDSHTET FlaHLpSHNenert LNGSTaUIBLD BILIBSenETHGIGSTLIL) FT 6T 5.

(i) wpsaieh 2 @malw FL B LBesT(BLd waudbsL LIRS DS

(i) wpsadleh 2 (raw G B s 19 60 LBETHILD MeUSSHLILIL_Ieenev.
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Srey

A earetg wpsevepedn  TBSSLILIGLD  CUTE  OTFTTS
GlowL_GasL16LIILD FFHLPFG) 6T6HTS.

B ererugy @ueswimib  @pevm  TRSSLLIGLCUTS T FRTTS
Glowl_GasL10G0LImILD FFHLPFG) 6T6HTS.
Blenev i: FL° B LBET(BLb aISSLILIBED S

n(A) = 4 (<op7 3b)
n(B) = 4 (<op7 3b)
wphmib N(S) = 52 (@Lorg sib)

Blapdd Awrnerg Bullsr Blapsselenar LTHsHms. 9spevmed Aayb

Beyid #rririlevr flsipdFsmernm@Lb.
P(A nB) = P(A) . P(B)
_4 4
=52 52
1
P(ANB) = 769

Blewe ii: & (B L5 THILD aussHLILIL_aevenev

LpSOLpeD THSHGHLLCLIT G Glomdgid 52 &1 Hsenid 91Hev 4 ojysFest
G BHF@bD @Q)HSGLD. pSHH FLewl_ IB@THLD MUSHTLOG) @)TeSsTL_TLD
wep e1(RS@Gd Cumg Qurgsb 51 &L Rseflsy 3 pger &L (Haer
B)SG L. TenGou 1pBedled BL_h%p HlHLpFF Acurrer g, L965T BL_S@Lb BloHLpFE
Bullstr flaspssaienars LrgsEng. gyseomesd AB Hlepd&fser sarfeor
BFLIFFFHET 9j6D6ev. W6 G6iT MGG HTGST MY FITiThS BlabLpd FlHenT@Lb.

~P(ANB) = PA).PBIA)

@bs  PA) =5 i PBA) =
P(A~B) = P(A).P(BIA) :% %
PANB) = 5o

er.&mr. 10.11: Q@B BT @Y pupedn STyl Liu@G&ng. E =
Wpsevpedn FeETHLOCLIT S Fevev oflipsed, F = @)rehr_mib wpeom FHedT(hiLb
Curg s  afllpsed  oTal  euenFTWMIGHLILIL L Te»  LeTeu(hLD
BlFLD S5 HGT: T 60T 5.

(i) ENF) (Y PEUF) (i) P(EF)

203



(iv) P(E/F) (V) E wpmuid F sriieor Hlapdfasenm?
Srey © g miGeue
S={(H.H), (H.T), (T.H), (T.T)}
wppid E = {(H, H), HT)}
F={(H.H). (T.H}

" EnF={(H H)
0 pE nF =50 =5
(if) P(EUF) = P(E) + P(F) - PE ~ F)
_2_ 2 1 _3
=4%4-2 71
3
PEVUF) =7
(iii) per = LEQR E(E) :g—j :%
(iv) PEF) = P(F_F;(Q) A _ PR ‘Pf’é)E”‘F)
_24-1u4 1
=" <2
P(E/F) :%
v) PE=2=3,PA=2=1
P(EmF):%1

. PEPF=3.3 =3

P(ENF) = PE) . P(F) -9ysevred
E whmib F sririfevr flapdF@sment@Ld,

Cuomaeir_ eTRSs1dHm 1960 E opmib F getrenmGlimet my eflevd&lis
BELIFFFETOD. aTTe) jened FITLIGVT 6lHLpFFHETTGLD.
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WSSl ol

Frrifleor getenin HlHLpSFNHT LIGHTL|Hew6nd OCIBTERTL_ %I LTI
QererpQuimeTn  vEGi  HHPIFFET  HewTEISNGT  LIGTLjBmTd
O&TesT_ Bl yenHwmed FarLievr BHlFpFFaseer ojaunpleT FleipsaeHemetr
eLPGU(LPLD, aeTemDOUITGEHT M) aflevd &l B FHLpF G Fewern 9jaunmlest
ST hISHATTHT O\HTEHT(HILD HEHSTL_IIIGUITLD.
Cammw 10.7: A wopmib B eretrm @) Blapdfasenmearenas P(A) # 0, P(B) # 0
eTeur ()L NetT

(i) A wpmib B eesrenpOuimestpy afevd&iu BlapdFlamer eTesilch ojeveu
Friev BlSPFFFTTS Q)(hS5FH QUIGVT F.

(i) A wpmib B #riifevor Blapd@aer cTafleh ojeneu geiTennGwimesT my
aflevd&li  FepFFeerTs  @Qnss  Quieorg.  (BlemiewTid
Cxemaruisvenav)

er.&mr. 10.12: P(A) = 0.5, P(A U B) = 0.8 wpmub A, B #milfevr flaspd S seir
erasiicy P(B)ang smesors.

Sirey
P(A UB) = P(A) +P(B) - P(A N B)
P(A U B) = p(A)+P(B)-P(A).P(B)
(= A wpmyib B grrriQevr HlapdFser)
i.e 0.8 = 0.5+ P(B) - (0.5) P(B)
08-05 = (1-0.5) P(B)
0.3

-~ PB) =5 =06

P(B) = 0.6
er.&m. 10.13: X, Y whmib Z eretip epett i Lomessteurisefll b qh HewTd@
Gy smenrd QHTHIGHLILGFDSHI. DeuUTHT Dje0d BTLILISHHTET BlHLDBH
11 2 L . o .

pevpCuw 5,3 LDHoIbd eTafla), b HTEFHGT BITSHBLILIBGISHHSBTCT
BFBLDSEH@ WITFI?
Srey

X, Y womib Z  eTeIp  LOTeSTeUTHGT  sesiTh&let  Firelenerd
HTTLSDHTT FloHpdFFasener wpeopCu A, B opmib C ereirs.

" P(A) = % ; P(A):l—P(A):l—% :%
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PB)= 3 ;PB)=1-PB)=1-3 =%

w

 RC)=1-AO)=1-% =

g Wl

P(C) =

Pleewid@ Grdsiiu’ 1 g = Plgonbsss @uarmas searsdaat Sia
HITGETLI 5]

PAuUBUC) =1-PAuUBUC)

1-P(A "B N C) (wewomissr eGiiig)

1-PA).PB).PC)

(~A,B,C #ririievr plspeyssar. ererGou A B , C sriifeor Bl SLpFFFHTTSLD)
1 2 3

= 1-5.3.5 =1-

gl

4
Plaenrdg Sidalii gl =5
er.&r. 1014 : X eretricur 95% flemevseney o atrenoCus Cugueut. Y
ereiricur 90% Blewevsafley 2 awenoGu Cuaiieur erafled @CT H(Hdbens
@)pau@pd  Fmpiesuilsd  PHAUIBSOIST(BUT — UPTTLIL L FH(HSEleveT
QSN ILISHHTET Flewevsemest FHafHLb Wi H?
Sirey A ereirigy X eawenwenw Guadb Flaps&) eretrs. B ereirigy Y
2 ctrentp GLigib BlHLpFG) 6T6H .

C ettt gl @meuhFOHT(HeuT LpTedsTLIL | H(hbGmaT Fomitb FlHLHFE)

P(A) =095 .. PA)=1-PA)=0.05

P(B) =090 .. P(B)=1-P(B)=0.10

2. C=(A aagweww Cue wpmib B 2 ewenio A B

Cuen&Smliug evevs B oewewn Cus
Lopmitb A 2 esstenrs CLFTSIBLILIS))

C= [(AnB)U(ANB)

. P(O)= P[(AnB)U (AN B)] L5 10.5
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)

)

©)

(4)

®)

(6)
()

(8)

=P(ANB)+PA NnB)
(~A "B wpmib ANB 68T I FO\FHTEST M1 VSN (Bl LD FlFeiT.)
= P(A).PB)+PA).PB) (. A,B smideor HopsiPaser.

Guoayib A , B grrifeorr Bl SBLpF F 56T
(0.95) x (0.10) + (0.05) (0.90)
= 0.095 + 0.045
0.1400
P(C) =14%

uuflp& 10.3
Frieor  wHmib  @eredp@ureTn  aflewd&iw  FlapdFlasenern
UTUWI MIGS. @IST(H) BlHpFFser @Cr FlowbGled seTenmliTeT mi
evdGliw  BHlspFGaenTsaib Famieor FBlaspIFRFaTTSaID @)(HSS
@uwigiior?

A wppib B Frmfevr HlapdFaer eTevfleh A Lo mILb B smifeor
BHLpFFRHGT eTewt [BlemLldish.

P(A) = 0.4, P(B) = 0.7 opmipb P(B /1 A) = 0.5 eresfiev P(A | B) o myib
P(A U B) gy@weunevmd; Fmesrss.

P(A) = 2/5, P(B) =3/4 wopmib A U B = (s miGeuef) sresfiisb, P(A / B)an

SHITGCEIT .

P(A U B) =0.6, P(A) = 0.2 wpmib A, B sriiQeor BlatpsdFlaer eresfleh
P(B)-2é sresis.

P(AUB)=56 PANB)=1U3whmp PB)=12 erafd A

whmitb B #ririfevr flapF@ser ererd S (hs.

P(A) = 0.25, P(B) = 0.48 op myib A, B #milfevr flaipd&aeir eresiled

find (i) P(A N B) (i) P(B/A) (iii) P(A N B) srasws.
P(A) = 050, P(B) = 040 Guaub P(A N B) = 020 erafled

GLD /TGO LIGHGUFHENGTF FIFILITIT G,
(i) P(A/B)=PA), (ii)PA/ B ) =P(A)

(i) P(B/A)=P(B) (iv)P(B/A)=P(B)

207



9)

(10)

(11)

(12)

(13)

(14)

(15)

P(A) = 0.3, P(B) = 0.6 Gogyip P(A N B) = 0.25

(i) P(AUB) (ii) P(A/B) (iii) P(B/ A) (iv) P(A /B) (v) P(A / B)as
ST 5.

P(A) = 045 whmib P(A U B) = 0.75 erefled Grpdsetsr_oupmling
P(B)-éir @i nlevesrs smevss. (1) A whmib B eerenmGuimast my
evd&lw  Hlapsfger (i) A wpmnb B sFmilewr Blapd@ser
(i) P(A/B)=05 (iv)P(B/A)=05

52 & paer Gamer G (hd 19 O phs @QTeT®h FL (e
QeTpeTLier et 2 (hulIIGFDG.  LsTaumd  blenevserfisd,
Qe FBHHenGLo FTemL Ll SJITSerTS (jacks)
FevL_L1ILFDHTeST BlaHpsamaser srews. (1) Qe _mb F1° B 2 (heyLb
wpeirarGy  wpgev FLU(h ew@p &g Caluw  eweudsLiLIhFD S,
(i) @psed GG #Lig6d eusHLILIL T Qe mib  FI®
2 UGG Sl

52 &1 a6t Qametr_ qb HL1g OBH S b FL(B 2 (BuULlILIGIFD .
GLDSHFHTEOTLIGTOUDDINE BlHLDSHFHaFHGT T 68T 5.

() Doy sypserms @Quorag (i) Feudiy eorsiv (ACE)9y5Caur
9DV &) FH(HLIL TTeTECouT @) (HLILI S,

Q@b evilsd 5 OeuerenarBmLs LibSHiFEnd 3 H@BLiL BIDLI LibSHIHEHLD
2 girerer. LoPHODT(H ewulled 4 GeueTenarts Lipgis@bd 6 SHpLiyBDL
LbSs@hd  26rerer.  @aiGleuTn  ewLuledlBhHID  QUh LB
T®Fas_Fng ereflsd () @uew@d GleuerenarBmls  LibHIF6T
(il) @uewr®d s@wLyBlnls ubgser (i) g GeusTener LopHmitb &b
FHLIL LIb &I Henl_LIISDHTET [6lFHLDSFH6FHET HITCHT .

P05 Fewral(bd evareiyd @Cr LgesGHT @reT®h FHredlwimet
Q)_rhis@ndGs Carray Q& Crirupss Carrafine
Owpsali@Fsspert.  sewreur  Garey  GlFunuliL@eusnasTeT
Blapsasa 16, weveral Csiey QeFumuliL@Geusnarer BHlapssa 15
6Tavfleb

() @QwaumCw Csiey Geimriu@asnag (1) Queuflsd  euheurt
" ®Cw  Cgiey OQFimwtiu@easne (i) @oau@pCGn  Csia
QFNULILIL_THBDHTET [BlHLDHFHaHEOGT I dbITGH8T 5.

senflgallcdled e(h lTTeUTRTS eLpeT M LoTeRTeuTHGfL D GiTey
FSTETLUSHSTHS — QEHTHSSLILIGEDS. — auisHeT  FeshgHesiCu
Giciugnamer Blapssey U2, U3 whmpud U4 (1) opbs alerr Giey
Qamassiig (pLiLisDETest  Blap  ssey wirg? (1) FMwres  epeurt
" G oybs errellhehd Siey HTETUSDHTET HHLD SH6 WITH?
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(16) & eumdi'iy pewmuled cpp auHL_Lb CHIHOSHSHILGHD L. 2|5l
(i) 53 @mulmiseverd QHTesTL_HTeh QUBLILIGET BHLD HHe WITSH?
(i) 53  @rimismerd  Q&meL  @@p @O @U(BL_LOTS
HleoL_L1LGDHTeT BlbLSSHe, WITHI?

(17) @w wreweamsg ITQ6 @i b Hevi _LiisnaTer Blapssea 60%,
OB DVTGRIT LIDHMeVS: HLpHSGle0 @)1 FlenL _LiighaTet
Blarp sae; T5% erefley (i) @retrig 6 Filwmss earmley o’ Hib @) —Lb
&ev1_LiigHETeT (i) GODhHS S Q&Tilevral s @)_tb
FlewL_LIIFDFHTET BlHLDSHHCFEHGT I &HITGHT 5.

(18) o Qevdens @plmisg s FBGLITSH S6v 4 wpewm Aeyib, 4eb 3epeom
B-uyb, 3ab 2 apewm Cub silwns Qlevdenssd &RFSTDTT. b
Qevdens Fhlwrs @) meurr ol BHIGLy HEGUSDHTET FlHLDSHHa WIT 5?

(19) @ w@Lisy 2/3 ki@ LTesTauTHEHL, LSSHLD LOTERTEMNUITHGHLD
o ereret. qn Lmessted pHed uGLidley Caid&l Gup HlHpsasey
0.75, wrewreurr psed eu@gliied Caird&ls Oump Blapssey 0.70.
Foeumiiliy wpevpuied epaur CarbGIGBIGHLIIL L _T6L 9T (LpBHeL
GLILeY CaTdE QLIDDUBSHTET BlHLDSHHe WIT H)?

(20) 80% @Awevsaiss A oawemwemw CuaSprr. 15% Hoeseis B
o awenoenw  CuaGprr  erafled, @Gy smbwS  Fmievsuied,
RUEHUHSOVHT(HEUT LPTEOTLIL L HIHSDS Fo MIQISDHTET FlHLOSHG WIT H)?

105 @ Mlaspsfullear s Elaspssea)
(Total probability of an event):

A1, Ao ... Ap eretTLIe GeiTenm 6atT M)
Merd Gl wreyoermeii  HlFHLDIFFHeT
whmitb B eretriigy g miGeuaiuileh 2 eirer
TgGaanib e BHLpIFE eTavfled
P(B) = P(A1) . P(B/A1)

+P(A2) . P(B/A2) ... +P(Ap) P(B/Anp)

P(B) ereviig [Hlapdd Ber sl ® Li_1b 10.7
B&LD $56| GLD.
er.&r. 10.15. @ gmguisy 10 Geusrewer whmib S Hpliny Lk sIFHeT
o ararar. LopODTE @mguisy 3 Geuerener Lopmidb T SUpLIL L SHISGT
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o ererer.  Fweumdiiy  wpeopuilsd @ @my  CarpGGHSSLILIL_ (B
BB s QU  LbSISHET  TRSHSLILBGSTDT. Q)KL HIHGEHLD
OleueiTenar FIMLI Lih HFeTTS Q) HLIIGDFTET BIBLDEH| FHT685T 5.

S /B

Sirey

A1 erettigy  @mig-lg Csipols(mdELD A Q
BFpFG)  eretrm:.  Ap etttz @omig-llgn

CaipOs®%GLd HHpFSH eretis. B eretrigy A
@)7esr(h) GlaueTenarL Lifh 5| ST &

CairbOBHSGLD FlFHLLFF 61655,
Q)b BlHpFF B-6tr gl ) HlHLpsselenenn s uetb 108
smewr  Geuetor(pib. 1.6 P(B). A1 wpmub Ap eresiuer  gerenpGwimest my
NevdGlw, wireyoermediw HlapdFlaer ereri s Glgafeurs GaMEn %).
P(B) = P(A1) . P(B/Ay)

Gavsener | &m0y

+ P(A2) . P(B/AY) ... (1) Total
1 10C, gl 10 5 (15)
P(A1) =3 ;PB/A)=T5G,
gy 11 3 7 (10)
1 2
P(A2) =35 ; P(BIA2) =15¢, T
(1)eb 7 Fud, P(B) = P(A1) . PBIAD) + P(A) . P(BIA?)

1) (10C) (1) (3C2) 13 1
(5) (FCZJ ¥ (5) (WCZJ -2 [7+EJ
26

P(B) = 105
e.&m. 10.16:  ow Garifibsreeuisy | whmpud |l ereip Qumeuens
Qb G ke 2 GITGTGIT. QT flHFTenevudiesr 2 HLIGGuileh 30%
Quubs@rio-lesr  epevptd 70% QuubGgib-ller  epeoepd 2 HLiG)
QeFini®&ng. Goed Qub&lyib-ler eped 2 pHLGE Gl
Qurmp_saflss 3% GevpuTBeTersTaeyb, @QuibTib-ller epevd 2 nHLGE)
Ot Qurmpl seflsd 4%  GepuTBeTaTsTHLD  Q)HSEHID SI.
2 s e’ CQumrl sefledlhb g, Foeumuiliy wpenpuied
QLT (meIT CaribOSBHISSLILIBF D Hi. DL IQLIT (BT GEODLITHL_GST
QYBLILGDEHTET BlSHLDSH@ WIT 517
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Srey
Aq eretriigy @Quub@rib-lesr o Hrg® Gimmersefler Blapd& eretras. Ap
eretri gl QuubGlrib-ller 2 Hugs) Gummerseflesr blspdd) eretrs. B eretriigy
@opuT@6Ter sa@h Gumhevers CaibolBHILILISDHTET HlbLpsF&) 6T6bTs.
30 3 S
- P(A1) = 700 + P(B/AD =70 A
1

70 4
P(A2) = o0  P(B/A2) =7qg

Q@)hig B-étt i’ (B BlapssaienanGus

Aferrours CHL sl (HeTer %).

A1 wpmiub Ap eretTier  getTenm As

a6t ) eflevs &, GLogytb wimeyLoerT e
B SLPFFFHETTGHLD. 9 HeVTeD
P(B) = P(A1) P(B/A1) + P(A2) P(B/A2)

() () ()

90 + 280

~ 10000

P(B) = 0.0370
Csppip 10.8: Cuulev-er Csppid (Bayes Theorem) :

15 10.10

A1, Az ... An eeip
QeTEnDOUITET M) YA,
Lop mILD wrLoeTTeu
16 LpFF)HGNT TS LD Grogyitb

PA)) >0 (i =1, 2... n) eresfled
P(B) > 0 Qmd@tibLig B ereirm
SThS QR BlHpd GG

Fig. 10.11

P(Ai) P(B/Aj)
P(A1) P(B/A1) +P(A2) P(B/A2)+...+ P(An) P(B/An)
(Bemricwrid Caevaruisvenev)

@5 @sHrwrarg PAiIB)s@w PBl Aj)d@ 26rer Qgm_iilsver
OEOEIE]

P(Ai/B) =
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er.&m. 10.17: o5 Ggrpinereneouisd | wopmib |l sresrm @)im @uuibSybiser
2 arenar. yewauser wpeopCuw 30% whmid 70% Gum@pL _Fewer 2 HLisE
OeiiGliper.  Qaunmier  @QuibFTib-l 2 hLss  GFisZsd  3%upLb,
Quis@gi-ll 2 huss GFuisglsd A%upd GeDUTRETTSTS Q) HSHDII.
2 huss QFunuliil o QumpeTseNO(Bh &,  Foeumdiliyy  Lpemuled
CarpGla®ssiii’ L qum  Ourmmer  GonuThETersTs  (@)hLiier,
yliGummer  Quipg |l 2 puss  OFuisshaTeT  HlapsFe)  wWTH?
(Cuayerar  ear@SEHGHT B 101660 OQer@®SsLi’ 1 arTa 6T
QUILIL_BIL1 LIMTITS:&HaLD).
Srey

A1 wpmib Ag wpeomGu Quus&ymser-l whmib |l epevib 2 HLids

Qi 1 QummeTsHeflest HlHLpFF) 6TetT 5.

B ereig  @ewpur®erer g S
QLT memerr CaihOISBLILISH ST
L . Al
BFHLDFG) 6T65TS. \B
30 3
~P(A1) =750  P(B/A1) =750
70 4
P(A2) =700  PBIA2 =700 A
QUG b Frriybleney BlaLp )
ssa P(Ad B) Wewer sesr_gilged tith 1012
Gouai @b,

A1 whmpib Ay o4& @Qm BHpFFseT eetenpOuwiTeT m eflevdh&li
Guoguith wireyoermefw KlsLpdGaermsevrey, Guuisv-eir (Bayes) Capmiiig
P(A2) . P(B/ A2)

P(A2/ B) = A1) P(BIA1) + P(A) . P(BI A)

(i)~ (10)
~ 100/ * 100 ~0.0280 28
- (&) (i) (ﬁ) (i) ~0.0370 37
100/ (100, * \100/ \100
28
P(A2/B) =55

er.&m. 10.18. o yaauevag@led X, Y wopmib Z y&Cuiri 9 aiauevsd et
FSOVLOWGFHTAWTSH QT miICUHLISHSTET eumiiliyser wpeopCu 4:2:3
eTetTpy NGIBSFD  DGOLOMD HIGTETET. QUTHGT HOVGOLD B HTHHeTTH
QuimmtiIGLpH L6t Guimesiv S 1L_Sevs (bonus scheme)
9IRS HauspamTer  Bapsaayser wpepGuw 0.3, 0.5 wpmpb 0.4.
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IvssFHe  Cumarsv G b ylupsliuBSSrL 19 (priflesr  Z
seneDWEHBTHwmS:  Blwwerd  QFnulin_eusnaHret  HlHLpBHNew e
TGOS 5.

B
Sirey S /-

A1, Az wpmib Az ereTLIGme Az A,
wpeopGur X, Y whmib Z y&Cuirrr ?‘«,f“% wc&
SHEOEHLOWIGIHTIWITS [BluiLoeerLb
QU pIeusD&HTeT FlHpFFSHT oretrn. B pC A
GTGHTLI ] Guimrerreiv 1 _Gevs 2
2Y(LpOLIBIS BIIBDFHTET BIHLDFTF) 6T6H . we b 10.13

- P(A7) :g - P(B/ Aq) = 0.3
P(A2) :% - P(B/ A =05

P(AD) =g ; P(BIAY) =04
BT FrirLBlevev Blap samea P(A3l B) uisver amewr Geuetr(pib.
A1, A wpmub Az Flapdfacr  getenpOwmeTm  eflevd&luwl,
wirayoarreii BlaLpdFsermaevmed Guullsiv-air CHhmdSletriirg
P(A3) . P(B/ A3)
PAYB) =BAa1) . PBTAD + P(A2) . P(BI A2) + P(A3) . P(B] A3)

) )02 T
) @ (0.3) + @ (0.5) + @ 04
P(AYB) =17

er.amr. 10190 X, Y wpmub Z  eTeip  epeTmy QUL _GOBEBITIT
B oieuers G _18mb s, yGeurFenar H@HLd @ BlMIIRTID  HTITHEDGT
UTL_a0&s5@ auThigG&ng. 200 smisenerXud_8mb b, 30% Yuil_ib
Q)mpgid 50% Zud_tb @)BBSID uTL_e0&HS5E YLOTSHFDS. @)aud mieT
90%, 80% wwpmib 95% smiser wpewpCGuw X, Y wphmib Z @) 1b medev
Blevevulleh Quikigid Frigert@ib, eresfled (1) oyCevraFever b micuerid cm
Bebev [Hlenevudled @QUIBIGLD @b HTEOT QUTL_WHsHE O mIUSHHTET BHloHLp
$ga wirgy? (i) UTL_enadd@ QDTS 1 HTIT Bebev Hlenevuileh @uiki@Lb
ST 668ty oybg S Y ull_1oliwh s QUDLILIL | SHEHTET FSHLpSHaY WITSH?
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Sirey . " -
X, Y whmib Z eretip bl mieuestibigsefl b

QwbE  pednGUL  QUTL_FHG FHTTHEGT As » a8 A

OIS gb Hapsfsemer A, B wppib C B w

GTGHI%.  QUITL_60&&HE QLOTSSLILIL [ HITIT o0

[H6VGV Hlewevuiled Q) mLILIBmHFHTET A,

FLpFFulenet G eTetT s,
Baip L tb 10.14

- P(A1) =0.20 ; P(G/A7) = 0.90
P(A2) = 0.30 ; P(G/A,) =0.80
P(A3) = 0.50 ; P(G/A3) =0.95
(i) pr @pseded Gulilssr gl B Hlopssaienar srenr Ceustr(BiLb.
i.e. P(G)
A1, Ao wpminb Az getenpQuimetm  elevdGl, wiTeoerTTed
BlFBLDF G FET T HEVT6H
P(G) = P(A1).P(G/A7) +P(Aj) . P(GIA2) + P(A3) . P(G/A3)
= (0.2) (0.90) + (0.3) (0.80) + (0.5) (0.95)
= 0.180 + 0.240 + 0.475
P(G) = 0.895
(i) @i B P(AIG)a srewr Goustsr(BlLb.
Cuulflsiv-6s1 FHSGTLiLig,
P(A2) . P(G/A2)
PIA2/C) = BAD) . P(GIAD + P(A2) . PGIA2) + P(A3) . P(GIA3)
= K_)—(_)‘O(%Sggo (P(G) =0.895)

0.240
0.895

0.268 (Csmymuioms)

P(A2IG)

uuflip& 10.4
(1) A eretremyb eoifed 5 Qeverener, 6 &Ly LibgSend, B eretrapyih
eoLuied 4 Geuerewer opmitb S H@BLIL  LIBSHIFE@HLD 2 GITETeT.
FLoaumiiiiy popuid o oumw Coibos®hibs SO BLE Qb
ub gl TRSSLILGFD S s OeusTevar BDLIIBSTS @)BLILISDHHTET
B FLDS S FHEaT; TGO 5.
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)

)

(4)

©®)

20 Oamifpbsreevuiess  @Quip&gi-l  wppd |l eretp @)k
Quin&lrhiser o ererear. Oarphsrevevulisst Glomds 2 HLGHUlD
25% @uupGgib-lb wpmib 75% QuibGrib-llib o hLss CFu1GnF).
Guaub  @QuibGrid-l  2husd GuuigGed 33%upd  @uibGlrib-11
2 pugs GG  4%uph  GepUTRTOTSTS @) BSFID L.
Fweumiiiy  weopullsd  CarpGsBHGHIIL L @  QuTHeT
@ODUTRGTETHTH QYHLILISDHTET BlbLDSSHE| 6Te5Te0?
@Cr  wrEHfwrsg  Casrhmiefls@md  Qm Ol ig seflsh,  wpsped
Quiiguied S  Qeuerewer whHmid 3 FReulyls L HSHEHLD,
@)resr_meaug G iguisy 4 GleusTenar opmith 6 Faul'iy Lifh H1%@HLD
o eirener. Foaumili peopullsd en Gl igenwd CairbOsHS ),
GO BBS @b b T®SSILGIDS. () 25 CousTenerBpl
LuBSTEH QbLiLSDaHTeT BHp ssey wrey? (i) er@SHCLC L LB
Qeusirewar  Blpors  @Quplnler, & wpped O 1 uleSmb s
FlewL_LIISDHTET BlHLD SHa UIT HI?
R OsTflbFTeme 2 huss) QFunyd Gwrss Gumm. seflsy 45%
QuipGrib-lib 55% Quup@rib-llb 2 Hiigs CFii&p 5. Quib&rib-|
2 pugs GFinyn Gumrmerseflsy 10%epd Quis@ri-ll 2 HLgGE
Q&b Gummersefsy SYupd GeopUTHETTSTS Q) HEFD S P(h
prever 2 puSGuleSl b s FweuTdiiy wpevpuled eh  GULITheT
CaihOSBHSSLILIBFD S,
() <151 @eopuT® 26rer QUITEHETTS HenL _LILIGHHTRT BlHLOEHH)
wrg? () oyg  @opur® oerer  QumT@merTs  (@)mLeb,
QuibGrid-ll 2 HSE) CFiicughaTet BlHp HHe) wiTH?
epetT ) @y sefled  Feuliy  wpmib  Oeuerener  afleheneudseir
BLDSHFETL_GUIT M) 2 GG 5.
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